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This research aimed to develop a metaheuristic approach for solving U-shaped
Assembly Balancing Problem (UALBP) Type 1 (given ¢, min m). The proposed algorithm
was developed by applying basic differential evolution algorithm and improvement of
differential evolution algorithm. The development of algorithms had been evaluated
and would be compared to other metaheuristics from literature review.

For UALBP, the Differential Evolution Algorithm (DE) methods were tested with
2 data sets, 1) in medium scale problem (21-45 tasks, 25 instances, data set of Nuchsara
et.al MMAS (no local search) method, Nuchsara K. (2007)) whose experimental results
showed that the basic differential evolution algorithm and improved differential
evolution algorithm were able to identify better solutions than other metaheuristic; the
results indicated that optimal was 25 from 25 instances (average cal.time of each
method were between 0.09 — 1.56 sec./instance) whereas MMAS (no local search)
method reached optimal only 23 out of 23 instances and 2) in large scale problem
(21-45 tasks, 62 instances) where the MMAS (no local search) method was compared
with priority rule metaheuristic; the result showed that the basic differential evolution
algorithm and improved differential evolution algorithm indicated good solution. The
DE/best/2 and Exponential Crossover 1 algorithm gave the optimal solution and shorter
time than other methods and was able to identify better solutions. The results revealed
optimal solutions were 36 from 62 instances (average cal.time of each method was
between 4.88 - 5.65 sec./instance) whereas MMAS (no local search) method reached
optimal only for 35 from 62 instances.

The results showed that the proposed DE performed more effectively than other
metaheuristics in UALBP.
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1.1 anudunwazarudrdyveslgm
Tuanndagiiuaniizvesgsivgaamnssuvialan Snshudifiuuniufinaluled
thafednifaussuunssdnuagnisuimsianiailefiasliuidnvesmuiesegsenuas
wdaunsadlowSeudiouiuguianedu q sliismvsmuesiesiiviudiilensuaus s
FosnsvesgnAnfisnedsieioaznanvats tudsvivuiinmsneuaussiegnalafuas
soidlsfazaseglduuuardunannatuy drunmsuimsianisiiatadienuddyseuidn
UEAslATnsfaunUiuUssHandusiegseiilos Ingnisandunuuaziiugan musadudn
lnganzlussuunsndaidagmnisinaunaaienisnde (Assembly line Balancing ) Inefin1g
WasuwasguuunsTaaneniswan (Lay out) Wugdiuusay (U-shaped production lines or
U-lines) $2ude ilefaglinsinaunaaenisuszneviivszavsnmdadesouiiisufy
ANUNITHARLUULAL ABLUULEURTS (Straight lines) wuiregideruannialudomenis
faaunaaenisndn n1sUiulgsluFomeinsuoniiunsinnuemiing uagnsinde
doansaziilefindn Sruauanieuiidosnin Smudangugs Tseumaiumalunisyhaud
dunn uazieienmsuuaietan Wudu dmfumAdenifedestunisisaugamenisszney
wUUduRTsTiTinansifuidien (Single model) uagnan fasiuutnay (Mixed model) tulé
fnnsffusiafausniiled a.a. 1955 lurngfewitenisdaaunaaisnisusznauuuudag
Wisaziinisfinunduegneneds daued e 1994 Wuduun Fafu euifenadiuiddbsn
vanguiiaulaluns@nuiidesieluluswanldl (Chen, 2003)
PnmsnurnumAteiiferies fullgmaenisussney Sedadutiawme Combinatorial
Optimization WUy NP-hard (McMullen and Frazier, 1998) fifiaaugssndudoulunis
witlan ediliiSvnendinanansuuy Exact methods ilevAneuiivinzandign (Optimal
solution) Fasldinanmuinreudiann wasdudesrldine Tnaamsamuunlngid
Fudsuazdosiiauintu fuiisnissainrane 9 33 Al madnsiia (Good solution)
et (Suresh uar Sahu, 1994) Faduszezinan 10 YikuusnsEsafnfinmundy
fi3eninunBaiadin (Metaheuristic methods) Afaduisinidelvianuaulaiieluly
GLumimwaé’Wﬁ‘ﬁ”'Qﬂzym‘lumﬁmmamanwaﬂazmamwuﬂ"ﬂﬂ (General Assembly Line
Balancing Problem: GALBP) kaziuudne (Simple Assembly Line Balancing Problem: SALBP)
(Scholl and Becker, 2006)
mﬂm'imumumu"?{]’s;lﬁLﬁmﬁ’uﬂigmmﬁﬂamlaawmwizﬂau Fadaindudam
Aanadadidiinidelfnualaiifensiuinndunaiu fedud aa. 1955 Wuduan
Tnetndeliinswanisnsieisnsmenginaans (Exact methods) FagasaRnuuusing 9
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Feidu Tunsviineninusi andumsfinwinisdaaunaaenisUsznouiuusg Aiinns
nAnduduiadies insmuAseunisudn (Cycle time: o) wiueu Tnefilmanademsiuau
amilnuditesiign (m) fitesiign Sstgiludnvariiduliymnisinaunaaisnisdszney
LLUU(?thizmwﬁl 1 U-line Assembly Balancing Problem Type I: (UALBP-1) fifinnswaun
WnswadsaRnadelnd AonisAumAineumeisnisitauinisiaglduanis (Differential

Evolution Algorithm: DE) tivelwildiFnauiia (Good solutions) vi3e Amaufivianzauiign

1.2 IngUesaeAvaInsiaY

\WewauIsnswmdssadin Ineld3sn1s¥amnnisiagldnasing (Differential Evolution
Algorithm: DE) dwsumsuidlamuaymdneuiipiigalunsinaunaasmsusenou uuusng
U-line Assembly Balancing Problem Type I: (UALBP-1)

1.3 #UUAFIUVIINITIVY

131 aenisnandinansansnduaienisudauuuseiiies dudiindndududvin
Wenfufiivanedun

132 50ULIa1M15HAR (Cycle time) Al nefignsinisuasetueiy axdasiaiu
FOULIAINIINER

1.3.3  181n15M9UENIIVANIAWULDY

134 lWifidestnveanisieu venandeulvvesdiununounds

1.3.5 Liforsuinisdnaariauwuuaunuiu (Parallel station)

1.4 YBULIAYDINITIVY

ﬂz:ymﬁﬁﬂmwLﬂuﬂQWﬁﬂwsﬁmam@aaﬁsm'mJisﬂaUmefhg fidutlymuszanii 1
fie n3dinsuAToUNAINIIHER (©) uagidvneliledumduiuandonuiidesiige
TneWauInannIslua1813adn As 35n193TmuIn13lagltuasnng (Differential Evolution
Algorithm: DE) iiletaememauiiafian niedneufilndifssandurnnmaiouifisusaro
iAdeay 9 Ak nedfeldfnufugailymauianats (25-45 $uan) uazendam
qunlng) (75-297 Fuaw) Tngvimsiannlsunsuitenumnzadlunisudymnnsdn

aunaanenisUsznouwuuimglaglditiinmunnisiegldnasiismelusunsuniw Java
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T slagld (Differential Evolution Algorithm: DE) #ivinisnaaesiienaAnisifmes
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1.5.5 ajulaziauoiie

1.5.6 Faviguianine1inug waziiaueauisy

1.6 Usglevilfiandnazldfuannnisise

1.6.1 Jun1suszendldisnisidauinisiagld (Differential Evolution Algorithm: DE)
dwsunisundminisdnaunaaen1susEnauLuuAIg Tulgmiifiouanans wardgmid
VURLnQY

1.6.2 {Wumsysannsiswnnditanin fie 38n1353Tmunisiagld (Differential Evolution
Algorithm: DE) Tunsiaunimaineuwuulmsl
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2.1 LLu'sﬁﬂ‘ﬁugﬁu
2.1.1 SUUVBINTHEAR (Production system) @u1sautsnnudnuazaoin1suan oy
2 Useam Ae (Yuasn 1n3eansng), 2550)
2.1.1.1 nswdsuuuliisiewles (intermittent production) #38n1skanLUUEY
(Job shop) nunefenszurunisnanduanluganie Huasasnnaludeniswdn edudnd
nanenaiivaneiln A uunsrasiliviniusarliviveu Tnetumeunsiauveusay
nanfgiazuanAsiuesnly
2.1.1.2 msuanuuusewias (Continuous production) lunskAnduMfiTisuIY
1nn finszuuniswaniinewdosuarAoudrsuiueu wn3sdnsilddnunnasiuniodnsuun
Tnguievdafiay Wlondnudnsusiianizedns nswdnazizuannistouingiudiluly
FUNITHER UALAUNUIVBINITHNIUAY 9 %Qﬂﬁmummmﬁwé’u%umamﬂumammﬁm
fudaduganisvhaundevatsqanidoidostunuddy sudundnsusidnsasu luns
wmasuedudiudnldareniudidos niesu 4 danisnanuuuseiiied Swaunsauds
ASTUIUMIKBRRUTEATETTUUNINAR wavmusaurinvesdudn T
1) NS UINTZUIUNITHANMUYTATVDITEUUNIINER 3 2 WUU A9
1.1) aenisudnakuudaniy (Transfer Line)
g0 dunITieuYeaAIodnlusia Lﬁaﬁﬂdwi’a@uax%umu
wsauauilddnlngazifunsauaunisiianuveaaissdng ldiununisudnaziing
WasuuUasegnals anenswantarldfinisdasundas mdnisnanasasiinasnandniuiy
Fluen1s7eurenaiesdng fMegaen1sKanLuUl Wy msnamdonszany n1snan
thdnan mndutu e
1.2) @18n1sNankuuulsznau (Assembly Line)
anensuankuuuUsEneu dulngagldussnunudundnlu
nsUsznoutudiuing q Wseiu Tasesldaudilsysinuaaniinuding q wiendosdinsi
faudeveluniaidsuudadidneauans fansudanuuiasinndouuasaenisude
Tuannilnusing 9 iloaonadosiuusunstdn wu Tssmulseneudidu nsviem edosldlnin
18



2) WUINSZUIUNSNARAINTIUIUSEAVDIFUAT
2.1) @unsuanuuuduatinge (Single Model Line)
wduaenisuan fazsdndudvislavianidasienzgUad
voduiwiniseslinnneiesltaensanannsananaudsinienldnasanan
2.2) @ensuanuuuduavaesia (Multi-Model Line)
Wuaneniswaninandudsaus 2 viatull Tnodudusazsin
wiinszviunsnanilndidssiy azvinisudndudiiazein dudazunduyn uazsises
Wasusuwan e1azdesiinisuiuaeniandslysl
2.3) @gnNSHARLUUANAINEN (Mixed-Model Line)
JeNAnAUARILG 2 ¥iatuly WuReIRUEENISNARLUURUAN
Vvl uizAiunsed aensHanLuuNalaTRAnAuAwianden 4 fuluanenisuds
Tngsgrinansuanag ldin1susuaneniswan
sUnMLARIANEN1SUSENOUTILL SN SEUIUNSNARRLTinue sAUAN SEUY
anensusznoulmsrimiiidunuvaudediadeaniedudmaneeda wavssuuaiensuszneu
sopusLULALARaN Felunmil 2.1, 2.2 way 2.3 auddu

&&&&&&&&&&&&&&&é

a. single-model line

—_—

OAODOOADOODOOODOAOAS

b, mixed-model line

—_—

AAAE>O000 @ DOOOS

¢, multi-model line

A9 2.1 @18n15U52NaufnUansTuIUNISHANMIUITUIUYDIBUAVDIFUAN
#ix: Scholl and Becker (2006)



2N 2.2 sTuvaNenNSUsENaURIaIUsuaNAduLuuAua1stinmevsodudviateviia
917 Prasit, K. (2015: Website)

.ﬂ’]‘W‘ﬁ 2.3 i%U‘Uﬁ’]Elﬂ’]iﬂixﬂanﬂﬁluﬁLLUUauﬁ”lLWUNﬁll
un: Suneeya, U. (2014: Website)



2.2 winmsuaznquiieades
2.2.1 M3dnauaaen1susEnauy
mi%’mau@amamiﬂisﬂau (Assembly Line Balancing) #1881 Msneeuiiay
Soannianusing q Wlsnsnsvhey wienandildlunsanudasiusii o fu dennnaiily
Tunsnanlavifuuds snsnisnandudniu 9 QNAIMUALALLIAINTYINUYDIAANT]
sildnannniign Ssnadlfluaoinuidussimunsnsnisnanvesdudiil Boni
8UNANNIHER Feanee nansEriiEudESIsenuAar Y Faeriunaivesaani
auitihiian avdu asfuinianssensstuluaniiowilénartiosnd silAnmsgyde
SasNSHAR MiSeNSIINUinTY wiedvesdnUsinasnnsefiaziuaandnuiidiu Fasn
wdomeguiliAstuliosiian (uvas n3esnsng, 2550)
Tunsdnaunaasnisuszneu lnevhluazBudumenisimunseunainisaan
pudFuiuIIueig 4 LLasmawmmgmmmmsv‘hmuLwiazsijzumau%qmuﬁ?u q nHuae
neromsmtunudidetuliduaniieg nedalifnarisimuadesiian Tunsdi
Srnudendauiiinnvdetiesly Aenadalmllngliiseunamdnunniy viedesa
22.1.1 sruvaensUszneu fldwusznousie o feil
1) @wnisUsenevasiivansaniiow k=1, .., m
2) nansEweTiEuAES IR nIUAaLTY WBENT SOURANNNSHAR
(cycle time: ©)
3) aglunquaule 9 avdseneumevangaugey 9 (V = {1, ..., n})
8) narildluusazauges asdendunanudesnienaituay

(Task time: tj)

5) naiildlussaraonileu fie nataanflen (Workstation time)
2212 wWunwEdUTUReUIY (Precedence diagram)
LR UTURELNY T UdRTURE DI BRI 9 Immﬂ%ﬁ;méﬁam
(Node) WWudnydnuallunisifenseszninedinvesnu uasiignandudidmuniianianis
fuduau lngnnsendusuaziznansuinegaueadsiunszuiunisUszneuiig q au
Lﬂuwﬁmﬁmsﬁﬁagmaé’mmwﬁa Felunnd 2.6 azuansununndfutunouunile
fiuszneuse 10 Nudes Milnavesnugos wEpIATLIY Kaud 2.9



2NN 2.4 A2DEIHUNINAINUTUADUIY

2.2.1.3 UsgavBnmwesanen1sngn v3e Ussdvisnmuasninuauns (Line-Efficiency
or Efficiency of Balance: E)

a

UszanSnmaesaen1snan azdusviinuanslmiudaninuaiunse veq

=

nsdaruatluanlanuieliianaigyaiosign awnsarmuinlaangns
E =t/ mc)*(100) (2.1)

Tmean E WuAndosiaud
>t = L?ﬁ’]‘UEUMU'i’JiJ
m = UIUFA T
C = FOUNIANER
2.2.1.4 mMsgeduauauna (Balance Delay: D)
JuedestacUszansnmuesanonisuseney wiesunandidaniy
Liauysaitintu Tnofinrsanilnatgaida (dle time) v8snsdnauasaniionn asuny

v @ 4

doydnwaleig D Milgnsnisvnen D fie

<

D =((mc-3t)/ mc)* 100 (2.2)
959 D =100-E (2.3)

TaeAn D iWuAndesiaud
m = U
C = SOULIANER
2t = Lamsﬁu’umuim
2.2.1.5 wiangaywan (Idle Time: 1)

| =mc-5t (2.9)



2.2.2 Uszinnvasdyvinisdnaunastenisusenau
Scholl and Becker (2006) ladnuuslssinnvoslgminisdnaunaalsnisusenau
(Classification of Assembly Line Balancing Problem) laganini 2.5

Assembly line balancing problems

Simple assembly line balancing problem General assembly line balancing problem
(SALBP) (GALBP)
SALBP-1 SALBP-2 || SALBP-E || SALBP-F MALBP/ MSP UALBP Others

A 2.5 Uszimvasldyvnnsdnaunasenisusenay
#x1: Nuchsara and Nalin (2007)

2221 {]z:g‘mmﬁmamamsmﬁﬂizﬂamwmé’umn (Simple Assembly -Line
Balancing Problem: SALBP)
Jyvnmsdnaunamenisuszneuluudunssifinssanduduiaifen
s?faﬂzgmf:amwiat,l,ﬁqaaﬂléfﬁﬂ 4 gtipanenu A Ugynn SALBP-1, SALBP-2, SALBP-E way
Ugyy1 SALBP-F I@&maasL§EJmaqﬂwﬁf%a%masluﬁﬂé’uﬁalﬂ
2.22.2 dymnsinaunaaisnisusznoukuuiily (General Assembly Line
Balancing Problem: GALBP)
{]zymmﬁmamamamﬁ‘dixﬂa‘uLLUUﬂ"ﬂUﬁLTJu{]@ymﬁﬁmmsjamﬂ
Fudoutu awsaudadgmoanlailu 3 98 loun Yaymuuu MALBP/MSP Yaym UALBP
wardaymdu o
1) Jgyn1 MALBP/MSP (Mixed model Assembly Line Balancing Problem
and Mixed model Sequencing Problem)
Ugynn MALBP %Lﬂuﬂwwm5%’@amamamsﬂwﬂauﬁﬁmmam

duAmuuuraundvatgiu lnen13dnuasan1dauaginnisiiansuiaiany (Task time)

'
1 (9 °

frneu dmdvaududaziu ond ey vieseunamndaiinzayiian
dwsutigm MSP unsdaddunsnaslraudmniuiiaginsnan

TiAnmumnganiign ioanvnnisaisng q Alsifvszansnnlumenismdalifndutios

flgn 19y nMImgavinYeIannISNER warnIugAANINISNAR Liledex 1as B9 gy MSP
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v o 6

agdusiudiufutlym MALBP fe fraunsadnaunasmvesiym MALBP Wi linadnsaa A
zrlinnsdndrsunisnaslutym MSP Iinadnwsiinmguiy
2) Uy UALBP (U-line Assembly Line Balancing Problem)
dudlyminisdnaunaaienisusznevnuudigifinisnandudn
iiaiier naannsinaunany andausng q ssgndmduguiigiiannsadnnubudunay
ugaThevosnugidfunuieu-nds aduandnudetuld dufe dyminisaugasy
wuusgazdanududeunnnitlaymuuudunss et UALBP awsawvalutlymees o
1680 3 vfia Ao Usym1 UALBP-1, UALBP-2 uax UALBP-E ds31waziBanvzesuisludidu
maly
3) Yayvdu 9
Tullgyw GALBP auuduligmiidveuwaiiniraunn ludywiwuudu
fonaarfinsanmuleulvdy 4 Mdedoiudu Wy madenedesdlewavgunsal (Equipment
selection) n15uAnlukuUBY 9 (Processing alternatives) wazdo31inv8INITANUAIIY
(Assignment restrictions) 18 %ﬂiﬁﬂﬁzLﬁﬂ@ﬁﬂMia@lﬁmﬂ Scholl and Becker (2006)
MnveulnveIsAnyISeluadeil NaNTa ANz Ueynin1san
aumaaenUsEnouLUUigUssandl 1 Sesandenvestigmiandn xwioluil
2.2.3 Jgyvin1sdnaunasen1susEnauLuuiig
Tudgymnisdnaugaaienisusenaukuunag (U-line Assembly Line Balancing
Problem: UALBP) @usauustayunieanlaidu 3 Uszian s'i"i'qvné’wﬁ’uﬂagmmiﬁ’mama
AN8n15USENDULULIY (Miltenburg and Wijngaard, 1994; Scholl and Klein, 1999) 93'\‘15
2.2.3.1 UALBP-1: N56IM151UA90ULI81N15HER (0) warn1duiuanifaui
o iian
2232 UALBP-2: n3fin31uA1duInanIfany (m) uagmiseunainisunani
tioeiign
2233 UALBP-E: n3dlein ¢ waz m (Jusuys anntumeAdszansninwes
agnskangeEn (E)
lngguunuuvastyminuudiy (UALBP) agaraandyviuuudny (SALBP) lane
Heoulwwasddutunoununouvds (Precedence constraints) lullyuuudne SALBP nnsu
flogjriounti (Predecessors) 914 j Avgndmasanifiannil 1, .., k Aoy uazusazsuazgndn
asléifios 1 annil uazdmutgmuuusiag nnudiegrounti (Predecessors) Liaz/u3e
nmmﬁagjmwé’n (Successors) 414U j %gﬂ%’ﬂaaamﬁwuﬁ 1, ..., k lauiea 1 Aoty
Tnefinansumesaninudy  axfesdalsiunniiseunainmandn tufelunisinauganu
Tutluuuing ansnsafiansanauiinenasaninulds 2 fame fe Bonmuandremii
TUFands weandeluan (Forward) vesunuisdfuduau (Precedence diagram) waz
Pndravdaludranii viearnvanludne (Backward) Turaugfidguuuidunsiazinnsan
Wonauiiamafendu idenuandreminludrameas seandreluea (Forward) Wusu
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Feanvaneiiegne nunlamuuudig aglviiusyansamuesanenisngs (Line efficiency)
Ao ~ ' ~ a a ) = P ) ]
NANIT LUDNIN LEDZEADIUIIULNITEIIUNN €] NY y3alnaPeaiuuINnII (Scholl, 1999)

Level 2 Lavel 3 m— Forward
A15984 TWUULHWATS 9 9sananuay

= " ar '
Level 1 Level 4 wuy Forward d”m%’lﬂﬁldLu Level Wi 1wy

Tu Level 2 §41u 2 uazau 3
15904 MUUEE zfinnsandduanuis
lg Wiy Forward Way Backward dwﬁaaﬁu
/
/ Level @gafiu 1y Tu Level 2 uuu Fw

vz uazauz wuBwinuass

Level 3 Level? €—— Backward

MW 2.6 fragensInuegluszaumgiu

ndgmnisdaaugaasnisusznouagssiufnudymusziani 1 fe
nsdlvTuAseuIaINIRER Larms A Bnuiitesiian fefu suuuunsednmani

voallymnisaunaaentsUsznaunuuig Ussandl 1 axdimeasondll
2.2.3.4 gUuuunnadinaansvedtaym UALBP-1 (Mathematical Formulations

of UALBP-1)
Miltenburg and Wijngaard (1994) \ugimuasluuunindinmans

vasdymnsaugaaenisusznaukuuiig Nsanguuuuneadinaansunaindyminig
aunaaIeNIsUTENoULUUIEUR TINgNAmuUATUlaY Gutjahr wag Nemhauser Tudl A.A.1964

(Gutjahr and Nemhauser, 1964)
Tnefvualiwnuesaudle o Ae F &9 F = {i| i =1,2,..,n} uay P 1Juian

voudeulvvesdfumunou-nds (Precedence constraints) 33 P = {(xy) | Inefianu x
Fowihiaganouau y } uwaz T Wuenvesianula q 7 T = { t; |i=1,2, ., n} Avualiseu
narnsuandy ¢ war m dusauanilnu seiienianges q veq F, (51, 52, ..., Sn)
i Sy =i Taofiaw i gninasaaniloud ki wagliduluamdoulasing 4 Sesellil

D S, =F (2.5)
k=1



skﬂsj:Q (2.6)
kij
Zti<c,k=1,2, n (2.7)
=S,
For each task y,
If (x,y)e P,xe S, ye Sj,then k <], forall x; or (2.8)

If (y,z2) e P,y e S;,ze S, then i< jforall z.

m
mc— 2 2 t; |is minimized (2.9)
k=1i=S

k
Taeeuledl (2.5) Wunsuandiiiuinnuynauazgninasuaniiay
wazanideuled (2.6) Aerumnauazgnimusasandnuiisinduier Fouladl 2.7)
dieliTuladnnarmuvesnulundazaaifeu sxdesliifuseunainisudn (Cycle time
constraints) wazdoulvd (2.8) Wuleulvvesddununeu-nds Fsazdedifinnguosnisda
aunanuUUUiy dwiuilsidudmneg Womdsnwauandonidesiian ddudeulsi (29
sUnMUARIeE LRI FUTURe UL Larkuusay Kauandlunin
2.7, 2.8, 2.9 uwazammil 2.10 1unsuanansALIMUsE VS AU NN SHANA LA

AW 2.7 WHUAIERUTURDUIY
u1: Scholl and Klein (1999)
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Entrance sidle ——*!

——{ 1

y +
i .

; —,
2 3'

Pl g I Tng LR 0.C LN i

f worker 1 Ewurkcr 2 worker 3! o lwork{'r 6
ML —‘; """""""""" _/)’ .-?'/-{"
—~(11)——12} (o ——10—(8 T | -
it si b ] — _ - - :
Sl i & Ml O worker5 | i
Station 1 Station 2 Station 3 Station 5 Station 6

auuR cycle time = 10
U-line m = 6 @ntlsu

Dt

E =

x 100
mxc
E = 60/6(10)x100

= 100%
Balance delay = 100-100= 0%

MU 2.8 wavaImsinaunasuLuuagludeymnivas Scholl and Klein (1999) fagns
N3INEHUARULALNITATUINUTLENTAINVBEENTWER

Al 2.9 wRuRIAIEUTUREUIY Jaeschke problem
P1u7: Jaeschke (1964)
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st.1 st.2
RV N
Entrance \1 J (g Y. (3 J (ﬂ' ® st.3
. . (e
Exit ® ®| (6)

BOES

<
<

AUURA total tasks time = 37 , assume c =18
U-line m = 3 @anilau
E =37/3(18)x100
= 68.52%
Balance delay = 100-68.52 = 31.48%

AT 2.10 A29819N15115ATLIUUTEENTATNVRIEUN1SHAR Jaeschke problem
#iun: Jaeschke (1964)

2.23.5 Yofv0in13dnagn1suanLuy U-line (Monden,1993)

1) Wilindneudvnurauiivainnats (Multi skill, cross-trained)
wazannsnvhanluandouiiuandisiuld Snfiauisanevaussionisiisuulasmes
anmuadounsiauiliund Wy nsdliniesinsiiamgdades vie winawuinsuls
9819390457

2) annsdnnuiigaisuduuarananinevosunuiasiuduanuliedly
anilaudeniule

3) $esemsuiuAsuseunandn Wesnndnawdidnanwaduns
InaunaanenIsanluy (Re-balancing) dwmsuseuniainisnantvl

a) winaniiinuegs lunsiwdsundasnssuiunsnde

5) Bangusiemsiiin/ientinau dmsuaenisuanifinisinaugalsl

6) fiddnyiian Ao madaaunanuuuuig sl uuandauiitesnii
VIOWINMU WUULEUATY WazNITIRaunaukuUmgazdudoundn fosnifiud vosdmey
(Larger search space) fisnnniutesdnwazguuuulssnugnaivnssulaiinisdnaionis
UsgnaunuusgsagUunlunmd 2.11 way 2.12
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Machines

e —

.. sssssssssssssssss===a
LAY -
. -

R

.

. »

: .

. .‘v-
EWOrker 1

—4
A
J
'
; #
K
R sssssssman
. i
.

Key. —— product route
-====> Worker route

W

AWA 2,11 AsIREENSHAALUUEIY
731: Thailandindustry New (2017: Website)

AW 2.12 N3INHUARHIENT1TUTENBULUUALY Y29n15Us8NBY Honda Automobile
1111 Thailand Honda Automobile (2016: Website)
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MnMsAnwaATeiifeItesidenuinisnsiiauinisiaglduasiis
(Differential Evolution: DE) 1uisilusidmiumsudtymnisdnaugaaenisusznoy
wuushy Salislinideaulnuyihundeunazisnsifmunisiaegldnasiaduisivisaunsa
Aumdneulndidssfudneuiidiigavieliadneuiimnzaniian dmiulymauwinlng
wazimnududeuvestym lnsansamneunsluiuiidmeuiiduldls Tneldszesan
fdulunsmimeuilaFeufuitumaiiainisau 4 fiteTdldideniBnitauwmslagly
nasslunsuidamiuanuiselundl

2.2.4 namaniivuzauiigalagliisnisiTauinislagldnadig
Bnsiimuinislagldnasing (Differential Evolution Algorithm: DE) gniiaue
Tne Storn andd Price (1997) Tag3ansiiwannunitoutaymitiienuen dudeu Felsiaunse
widaymmeismsuwlussslavsedualanensazfesddnaiuulunisuddym lnaldussans
TuwsiazsulumssumaAneukaziinisianAmeauaniugiy Tunseuiunsidaunsiagly
nar19agldiavdnuiuasdunisunudineuluniaz JuresEunInvesUsevInsiunssu ag
FBnnsnagnivietuneuntsifauinisiuduius nsaiasimeuiiudu dudiunnsisng
nanetuglasnsifiaveusuilasuariusisguinluluusazdiudseneuresianeivie
Taslulew Audumsuaniudsudiuusznouiunames uazmsdaideniamesuiolasiylyy
Famnnawoivielashiluuiiiunszuiunis nareiusuaznisuaniasudinuszneuiing
AnevveanamesvielasTulsudunuy azvimsunuinaneiuielaslulenduuuie
Taslulwulnd mindineuliftu Taslulsuvdonamesdunuuassasgnldifulaslulounie
VAWBIAUKUUYDITRUALY
2241 nsvrumItuneuIsItannislaglduass

n1snatgiuslunszuIun1sITauinisingldnanisazgniseniinas
Usudsuailufifnanmnsaddunisléfenismmaisesiamesfiguinassaineives
Uismﬂijwﬁq S]Iﬂmfiwaﬁﬂqﬁaﬂaaxﬂﬂlu@mﬁ’uﬂa%’aﬁumﬂmaﬁm (scaling factor: F) W&134
ihlunnfunawesiiduudnnameivis UssvnsjuiiddsazgnuiuasuailuiidaiFoniy
nAwosMINe (target vector) wazUszrnsiignuiudsuudazienin Sounudnanes
Lﬁaﬂizmﬂigﬂﬂ%’uL‘dﬁ&Juaumuﬁwmuﬂimﬂmﬁé’qi’ﬁdawﬁﬂ (Number of Population: NP)
awhmsuanasuAlufitn szrisnawefidminoweziunudnaweslagldanutandy
Tumsuanidgualufiings .Wumsiwesiinuaubsnindninsusude (cossover rate:
CR) AwaiTiiuns uanildsualufifaudrazgnienhilnsdanames (trial vector) 9ty
ihlnssanameslumefimuaisifundoilsidutimnme nduhmavieudeudinug
flarduvedingda nawesfunawmefidming naweslafniazgnlibunameditmnely
seuiialy TaglFuanstunouisuansdaneifiuvesisiimunisiaelduamauardfudunou
Yo i nmslaglinasislunnd 2.13 wag 2.14
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336y (begin)

te—20;

a¥1eUsErnsIEuEY (Initial population)

youzil (while) dalaisuioulunismgn (Not termination) ; 1ugy
nsUSuABuATRRR (Mutation) ;

nswanasuiiig (Crossover #3® Recombination);

AnLdan (Selection);

te—t+ 1

A e e T i

UNTZVIUNITIUGY (end while)
10. 9UNI¥UIUNTT (End)

a [

lﬂ. g o Sa k74 1
A9 2,13 YURBUNISNNUVBIISTRIuINsInaTdnasis

L% 6

U7 NMYIWT LATEHUN (2558)

A158519U5E N SIUAU

v

AsUSUABURN®

A

A 4

Aswanaguaing

A 4

AsAALAaN

v

Laile

asavaoutioulunis
Auganisvineu

AnauNATian

AN 2.14 A1AUTUABUNISIIIUBIISIIMUINIS LA TTNARNS
fu0: Ny LAswgTun (2558)
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1) nsadeUsynnsisudu (nitial population)
Fumeunisasiassrnsvesimeuiuduasavinldlaenisdue
Ussansvsennmedaedu (nitial population) Tnefmuaveuwavesiaudsnisdadula
Wielvuilaiweuwmvessuusnmsdndulaazaasunguisdneuiiaian uazimunlilenia
flazgnidenvesdmeuiifiAasiaue (Uniform probability distribution) #siiAwRU D %
pavineefitaviiasiunie wazuumeeuiilululdBuduningu NP Tnsusazdnounie
wiaznnmafidhuuesendt unwesnsinaula (Decision vector) Ssagthunduaiion
Amnuasaunsitneveannmesitung (Cost value) Miiaalsiua (Fitness value)
2) msuFulaeua-luiida (Mutation)
Funoumsuuildsualufidannmesiiolildmmneulnivosnism
o8 DE Usznoulusne nagnslunismuadnd msdmundifuusinsuen uagil

(%

NYalNeIVUBIRal

e X2
o D

X 6 = Kinwosting (Target vector)

Vijern = Hnuaneas (Mutant vector)

Xeni6 » X246 » Xi3j6 = VINWBTAYN (Random vector) Aornnasiivh
Nsguienin 3 nwes

F = uwiinweslunisvenanasna (Scaling factor) Aesiuiuadafifaiasii
waZdlAIIEING 0 89 2

Tunisufudsuandidatuaiusoiildlaeyinisduaniaesun
3 INABS (MIUMUNAENE) X1j6 , Xoje WAL Xis;6 M1 NTUNT Tnsnnimesfignuiuidsu
AfARlluEIEgsendT “diunuanimes” Tnefiafiaununnaes (Vi) sdidwindu
Xi1j6 TIMAURAANVBUINIADS Xoje WAE X6 ANAIY F lagauisaeaiurenisusuaily
Fifavesanmesidaunisii 2.10

Vijer1= X jetFXizj6 - Xi3j6) (2.10)

FIHNWULAITAUN Mutant Vector VaIlendu 2 fawls anusawans
AINING 2.15
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AX4
x NP Parameter vectors from generation G
o Newly generated parameter vector y

FXr0.G - Xr3,G)

V=Xry,G + F(Xro,G - Xr3,G)

> Xo
AWA 2.15 AR Mutant Vector vaeileidu 2 fauus
#141: Price and Storn (1997)

3) nsuanasuaTlufiinvesinmes (Crossover w3 Recombination)
nswandsualufidannnesilunsdivanuvainvatslunism
ﬁ’mawaq{jmwﬂma%umauﬁamflumia%ﬁﬂmé’anﬂLmai‘ (Trial vector) (Ujc.1) Tngaunsdi
THlunsuandsudniioadilnssannmesuanduaunisi (2.11) Fsllunsgusiaviied
s 0-1 Tnefwiasinuasinty D wagduaudssrnawindu NP mnduaviiduiivean
LNLABSHASYNAIWTLA fiantesnivieuinduadaswanidsuiiundsiifa (CR) aAnly

v a

ANLAUINNAVDIINEA DS UUILTANYINAUAIUDITILNUAINLADS LUA LN UILAS AN ALREIN U

wazlunsaimdusgradualudwndsinnlnsdannmasludiwnisiuaziiaiiduinmes
wWwane (Target vector)

Vijer1 if (randb j [0,1) < CR) orj = rnbr ()
U = (2.11)
Xjce1  if (randb (j) > CR) or j # rmbr (j)

il Ujer = W3daniees
Vijen = Tununnmes
Xijern = Wnmasidmng
mbr () = fuilannsduannsduidondanduavduauduii
Andaust [1, D] Taeft D Aovunnvosinimes
mdb (j) = maaju@hLasusﬁ’ﬂmuaﬁqﬁﬁmszmn 0-1 adsil =1,
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CR = Savuanudsusuwmisitafidaduausiuuassewing 0-1
4) nsAaLaen (Selection)

Amsidenduduneulumsidennnnedithmngluseudalunienis
Fonuszrnsdmiunsdninluudely Tnsnnmesiilidneuiianinazgnidenlagliisnis
WigusuaIAneuvesann1sitInuny (Objective value) WinAaLUE (Fitness value) Vo3
nsdannmesiunnmesithmng Ssdmnnardineuresaunisiiimuneg wiorfinuaes
slafieniirninfasdennnmesiuiiedulssensluiudaly Tnefaunsduanduaunisii

2.12

Uje if f(Uje) < f (X0 (2.12)

XijGel =
Xijc otherwise

Xj61 = Wanmasiluing (Target vector)
Uje = W3annmes (Trial vector)
2242 Fuusinsualuizitauinisiagldnasi (Differential Evolution
Algorithm Parameters)

Fusiinsualunsuilamseizdfauinisinglinasiaiy aziis
wlsfinsruamdnfiifieados dounmnoslunisvetanasis (Scaling factor) wazA18ms
uaniAsusumisiaa (CR) TnefseaziBenvotudassudsded (Mmaau wasugtiuy, 2558)

unAmeslun1svENeNanis (Scaling factor) ALWALADSTUNTVLIUNARANY
Huarfavrilinnmesusasiuvasuiatilegeindesing Tnedrauwnnmeslunisaens
wasisfiangeazviliiausndlumsmdneuluseulniiniie udenavilvianyssansam
Y0In15AUMIAIMBUBENarBunludwrdslnalAssRuInmesian Tun1smseiutiumin
winmeslunisvenenasadadessilinismeneud wivzaunsaiuanuaziden
Tunmsmdmouluiiuillndifedléd Seeunnweslunsveronamaiitesldtuasdaoglutag
[0, 2]

2.2.4.3 msUuUssisifaunnsiaelinasadiefisseansamlunismdiney
(Variants Differential Evolution)

WialisTauinistaeldnanelamiaineunanandeiinisusuusais

9 9

Faunstagldnadianignisusulsslssdnsamlunsmaneudeasiiunisusuasy
AFNIHAILIANNBUVBININABI Nl UEILYDINSUSUABULAE NSaNUALURNALINADS
1) nsUSulsaunsuSuaeuiiin

v
=

nsUTudsuinUnfua9Eldaun1si 2.10 Mellladlgiauiaunis
lun1suSudguiiaimiudseaniamuazaianiudennsmAmeunIngsy Qin and et al
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(2009) Ynausaunsfildlunisusuasualufidnsiuiu 5 @aun1s dusenin DE/rand/1
aun15i 2.10 Lﬁuammaﬁyugmsuaﬂﬁﬁgumaumiﬂ%’uLﬂﬁlauﬁﬁ’m d1u35ve9 DE/best/1,
DE/rand-to-best/1, DE/best/2, DE/rand/2 \{uABnsuiuugamsusuasuiidalngaunns
Tnltiuans3luaunsd 2.13, 2.14, 2.15, 2.16 auddu

Vigr1= Xpeste +F(Xr16 - Xr26) (2.13)
Vigi1= Xic +FXpestc = Xig) + F(Xi1,6 = Xi2,0) (2.14)
Vigs1= Xoeste +F(Xr16 = Xi26) + F(Xi36 = Xiac) (2.15)
Vicsi= X6 +F(Xi26 = Xis6) + F(Xia6 = Xis6) (2.16)

2) msUfuugsansnsuaniUasualudide
AsuanWasualuifaduuniudrayldaunisi 2.11 Fadunis
wanidsuarluitouuululudes L?;JuamWiﬁugmmaa%umaummaﬂLﬂ?{auﬁﬁm Fasioule
finsaunaunisnisuanasualufifauuuiendlnuudeaiinty Rapeepan, P. (2015)
thiausmsuaniasualufidauvuidnlmuudsanuy 1 90 uaridauuudnlnuudoauuy
2 90 Fadumsuanidsumluiidauuudnimuudeanuy 1 90 uazidauuuidnlnuudea
LUU 2 99 aunsauansléfsaunts 2.17 wag 2.18

Vjici W0 n JAsaus 1 89 R way R Ansiniawsniwy (randb () < CR)

Vi = (2.17)
Xjie hunsaiou
Vig W19 n AAaus 1 89 R ey R A9AiuaLsnyiny (randb () > CR Lagi i
Uicr =< Ry ille N fid s R; Aosumtausniny (randb () > CR) Niagfinainduiviia R,

X;.o Tunsdidu (2.18)

NMIANY Mg ITITaunslagldnad1eidelavinnisiienis
'3’iwmm'ﬂﬂsjwmasm%y’umauﬂWiﬂ%’uﬂiqaumimiﬂ%’uLﬂﬁauﬂﬁm 3 WUU N DE/rand/1,
DE/rand-to-best/1 uaz DE/best/2 $aafuasifaunmilaglduasrsdunauusuussaunisns
wanwasuailuiie 3 wuu tiud nsuandsuslufidauwuululudiea (Binomial) nsuaniUdsu
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Alufifnuudnlnuudeanuu 1 99 uay nswanasualufifawuudnlnuudeauuy
2 90 B9agliiBnnsUulsdmeulagldiBafaunislasldnadanuuln 5 ARdowaun
fmeulirnindudeisuisuiuiziiaunisiagldnamisuuuiiug i3zt imunis
Tneldnasinsdunounisuaniudeulufidn DE/rand/1 Sawfudunounisuanivdeudluficn
wuuluTudisa Binomial) lnsazesuiesa 5 Wuuusadneuwuulnalliluund 3 Tudd
finbl

2.3 enAdeiiAsatas
Tuvasadaanassuiimuanldfif@nwauidensinunisdnasnisuse nounuusg
s semelulsanauasinsyine Sailseazdonssil
2.3.1 eAdeiiReaumsinsugasmensUsznausuURgiUIBumESaRnuuUBY 1
nAdgludymnisaunaaenisusznauluudiag IHsuinifadundusnide
A.A. 1994 lag Miltenburg, J. And Wijngaard, J. (1994) Flgvi3deies The U-line Line
Balancing Problem ftfun1suuziiguuuumsadamansvestymilagldimuanisnaia
(Dynamic programming) dwsudaym U-line findnndnsasiviaieuiioansiuiuaniiin
Tiifeuiian uagliinmuisn1s RPWT (Ranked Positional Weight Technique) iitouAtlyw1
YaansaunaaIun1sUsznoukuy U-line Tullgyvnuuslng (111 Fuam) Mdulanddaman
ATEIY 9 M819Bs Feazdianududousnnnindymuuuidy lesanauannsagniangy
ndrantiludrends (Forward), kazandramdslddranddn (Backward) deviadosfiana
W30H 9 AUAULNURIS A UIIUNDUNRS wazanti luldnun Miltenburg, J. and Sparling, D.
(1995) Isimmnisnsmnandlnaans (Exact methods) 3 353 euAdgmnsinaunaae
n1susgnauluuilglaedsusnldimuanisnadn (Dynamic programming formulation: DP)
uadn 2 35 Ao 35 Breadth-1 uay Depth-first branch tag bound (B&B)  HANIAIUIULAN
Titui133 888 TUsEAnEAM#AnI135 DP-based algorithm uaz33 Breadth-first agldiian
Amnaliosninis Depth-first ui3a Depth-first azLaaFABY Optimal 1§21 e nt Sparling,
D. and Miltenburg, J. (1998) 1a1348 1399 The mixed-model U-line balancing problem ¢
WS aRnieurtamnisinaunauuuiginandufuuunas (Mixed- model) Afin1s
s suanidduaL (Precedence graph) Yadusiaziunanfamiiindefuiil 25 vudes 3
TudiAgaty Uban, T. L. (1998) ladiaueaduuuiinunniswuuiausnulauiiy (Integer
Programming: IP) LilevnAnaunaiiivsnzandniuilymnisaugaaenisuszneunuy U-ine
%aé’amuﬁmmmLLﬁﬁﬁgWWﬁ@IWﬁlé’ﬁﬂdﬁ%’ﬁ’mﬁu seanti Miltenburg, J. (1998) I&
ﬁmuaﬁanﬁ’ugmwumaﬂzﬁmmam%maqﬂmm Inglanmuaniswadn (Dynamic programming)
dmsutlamiliivans U-ines uaelisruauanulaiiu 22 tua fnquizasdLilodnauasannd
sniludnwagsng q Wldnouendounezannagyaliesananvdnnisfiausuuy
Aduisfduszansamlunisinannanisuszney wagnisaunaaienisusznaulng
(Re-balancing) vaslagyvuuudigla wazsiaun Sparling, D. (1998) lainun3isn13873adn
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dmiuiymnsinaugauuuiigid 9 U-lines fiusiaz U-line azdl 18 vugos fiflnanseu
msndndurdeaiulaenaiiussrinukaznailussning U-ines azgnihanfiansandiey
wazludnun Camahan, B. J. (1999) ¥13981584 Incorporating Ereonomics Criteria into Assembly
Line Balancing laWau138873aRn 3 35 (1. Multiple Ranking heuristic 2. A Combinatorial GA
3. a Problem-Space GA) lngnounuain1sesniuy enseransunfiansanusenaudmiu
uAteyn ALB WU I-Shaped ez U-Shaped line \fipanseunaINISKEn LLagﬂ’JWNQQJLaH
y03us97lHluN53U (Grip Strength) iilesainanailosdluseninsaania Tiddrdesgn
wadildannuiderililssnugnamnssuldsuussTond deludunisudauaznisnise
Aans foantu Scholl, A. and Klein, R. (1999) idai304 ULINO-Optimally balancing
U-shaped JIT assembly line Tna 1433015 Branch uwae Bound (B&B) fiWau1u191n33
SALOME #ildTuntsuddaymuuudunss anlddmTuuwitymiwuudiag #ifl 297 Fua
35n151nal A ULINO (U-line optimizer) ﬁﬁﬁugmmmfﬁ% depth-first branch wag bound
uay dominance rules Lileand uruaniiou uie seunaman vie fassedliitionan
wazlu A.A. 2003 Chen, S. (2003) léfauiSnsilonmadnéinnanueinisinaugaaonis
Usgnouuuusy Mfaniinuguu 1nel#35 Multiple lower bounding uazAs8a3anuuy
Twal iitemn Upper bounding nawes3anisiiwaundusia 2 Tﬁ'LLamﬂﬁLﬁuﬁqmaﬂﬁ"uﬂqaﬁﬁ%u
N13ssAL ntludsen Martinez, U. and Duff, W.S. (2004) l¢Ussendignisiasuin
Fanedfiu (GA) Mdludgmnisaugaaenisusznounuuidunsaiietuuitymnnsauna
LUy Useanil 1 ndurhmaieudsuuadneuiifigavesnuidefinen wa
MM ATouandliiiiuin 3¥n1s GA awnsamwadwsiaign viedmeuilndifeslilusen
LIN)UBINITNAAD Aty Gokcen, and et al. (2005) 1§1n1539813049 A shortest route
formulation of simple U-type assembly line balancing problem ﬁiﬁi’fmwﬁ Lﬁum\‘lﬁguﬁqm
(Shortest route formulation) %ﬂﬁ’uauaa%miﬁiﬂa Gutjahr and Nemhauser (1964) P4l
nsuAdgminisaunauuuuidunss Aldiausuiuuvemdnnisdenaiunldlunig
widggmnisdnaunauwuug uenanil Ssliinedtsvasnad e luuma
137e warlulnau Gokcen and Agpak (2006) lawunguwuuvesaunisimunedmsy
T390 aUnRULUUAIY ﬁﬁﬁugwummﬂgﬂu:uuﬁmummsr’?m‘hmu@uﬁﬁwuﬂma
Urban (1998) dwiutlyymzudag warguwuvaunisidmunevedulgiwuuidunse Wu
vdnmsidanuBaveuiitislunisdndulaluliymnisauganuuuuing nsdfifivaneleuly
wazludifeaiu Chiang, W.C. and Urban, T. L. (2006) l¢vi13 581384 The Stochastic U-line
Balancing Problem: A Heuristic Procedure #l#osungfanauaiiansnisuanuuusigidud
o ilesnszuunisnanuuy T ddhunfiunum feduaenisuseneuwuy U-shaped
AlduununisinaionisusznaunuuLiy Aouuuidunss (Straight assembly lines) 9a
Ailsddlutynivesnisdnaunaaisnisusenauluy U-shaped Ao Aauliuuuouveasiad
91U (Task time) 1psanninauniedadedy q Anandunuvliviueulasfinisimun
WBn198a3adin 2 da Ao mammadndiosiuiarnsUuUTEIReU HaIINNIIAIMLARS
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Tiiufessansamuesiinisivunld $s8nauidenilidag Erel and et al (2001) I
33013 Simulated Annealing (SA) 1nldlun suAtigmi UALBP Gsindauduiifealuiiagiu
Wvneifioansuuaniiouaditiosiian (Type-) TneUssansnmvemdnnisiazgnia
Mnnmsmaneuludymifivuialvg wazi3euiiisusa fu 38 ULINO (U-Line optimizer:
\Yu B&B based heuristic procedure) ¥8¢ Scholl and Klein (1999) wonani wnisedels
upuuzfidmsnuideiasinseluded 1) aunsaldisnns sA lulanddaymitenntu
Mixed/Multi model line, Stochastic task time uay U-line Tudnuaedu 9 2) YD MANNIS
Metaheuristic 358 9 ieuftaynime UALBP 3) Waui33n13 Exact method siloudeym
U-line lludgymamelug 4) 1¥wdnn1s Metaheuristic 338 9 WioudAdaymuuy Type-l
(min. ¢, given m) ndssnduldddAdeldAnvABnsuitymiluaenisuszneuuuudglag
WAUNTBN1833d GA @138 ve4 Rea, K. H. and et al. (2008) ladnausdanaiy
MIRUGATTURUY (GA) LitouATaymaunaansnisnanuuusiyg (UALBP) Tngrimdnnisudn
WUy Just-in-time (M) snldaunidamimseluamenisudnuuudy Falduadnéainmnia
Faumoudtymansy JeldiaBnsuidamuesdaneaiiiu (GA) surdamluwuuig wa
flFnsmsnaeunuhillssansnmantunusivssansamiifasanesiuudsnandy
Y9IAINITNAN WazALUUTHUYeIUTINAINY HanTvAaeLandliiuiniEiiiaed
UsgAnsnmsunguisnamduldfdunaruuussguiuuresnissnuity waediiifevans
ulmindswmasainuldlunsundymuuuiglaedideldausiseandauunlunism
A1meU Nuchasara K. and et al (2007) lat@ueisgasann 4 Ao 15115994 Kilbridge and
Wester (K&W), 3amsldinausiiminiudasmuasumus (Ranked Positional Weight: RPW)
Fnslinasminauniian (Maximum Task Time: Max. T.) wagismsiilfinasiaununugeoi
mumﬁg\‘mu@umﬁqm (Total Maximum Number of Following Tasks: Max. N.F.) Ing#i1n13
WIsusuAUISmmgmaRnIsonantauualunsmAIney wuinisetantiauuad nsudgym
nsdnaunaan1UsznauNaneuiininisEiSain 4 38 anduideriwudulddnuinis
wAtymansnisuszneuuuuiylneisau q Uise wisn wazan (2552) Iiideuagiiiaue
Fanosalumsuityvinisdnaunaaenisuszneudnuwaziag Aiinsnanndnfusinasdil
vaneingUsrasdlussuundnuuuiunamed melddyniusziand 1 lagazfiansan
ilafdutngusvasdvionun 3 Taguszasdndouufe srunuanfdvudidwoutosfign vud
wassawduiusly anndonudadesfiaauazanudunsvesatluanidnuimuadaios
fian Faazsinns wWisuifieuussansnmaessanesiiuiithiaueiudanesiuidundouuarle
fmoudialy vaztu Ao Non-dominated Sorting Genetic Algorithm Il (NSGA-Il) wafiléann
mMaSsuiiiey wuirdaneifiuiiiausiliusane3fufiiiusyavEamiiAnd1 sane3iiu NSGA-I
Tushufmeuiifinsgiinlndngudneuiidigaiuiaseldandu 45.1450% fusnsdves
Sunungudmeuimlsiisunindunguimeuiiuiags 100% uagdunailunsusssanai
San1danedfiu NSGAl aniudideviuduldAnunauitymansnisuszneuuuusiaglag
338 9 Nuchsara and et al (2007a) lé3douasriaunisdsafnuazisumadsann ne3s
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szuuNaNIndiu 35 Max. task time Wag Min. task time saufuidlareaidsy Tunsundaminig
IPEUAAA1EN1TUTENOURUUIHUATIAEME dnTUNITIRaNnaaenis Usenauluudunsa
iﬁﬁﬂmsmmaaﬂu‘gm{]tymﬁ'aasmﬁLﬂuﬂzyjmmmmimyjﬁ 45-111 9 wagyadgyniiieeng
v84 Lapierre lng38n1yidsy Fadudymownlungd 297 9 dalunisuddaymnisda
aunaagn1sUsznaukuuiig levinisnaaedduyadymidieds lun1smeasddaeds Max.
RPW fulgymivunnnansdisl 21-45 91w wazyalyniAloeis {l’aagamﬁahuﬁlﬂuﬂfgm
vunlng)dl 75-297 91w annsideasunaldiiiteruvaaudindy Avauntuduisis
UszAnsamifigaiileluieuiiiouiuissiiain uagds Max. RPW 404 Miltenburg and
Wijngaard (1994) In8a1nn15nAasdds Min. task time 19u3s7lA1A e uAugfian il
Wisuifeufuiinisdu q uaniflefinsFsuulamesasounanmakanfifiutuna Using
1 lifladenuannsavesnismmneuvesissruuuauuuuindu daduazUldd nnsd
Wt duisAiussansamunnisnils mﬂfuﬁiﬁaﬁwuﬁulé’ﬁﬂmmmr’ﬁ]zymmami
Usgnouuuusiaglaeisau 4 evsned asudug (2557) suddeildifonsinaunaasay
MsUsenausUnssiag medsiaifindanesiiu (Genetic Algorithm: GA) sauffussuuuauiin-fiu
(Max-Min Ant System: MMAS) AEmsiiviaued GA vvthitmunsuuduauiiange
Iituustazanidan Tuvasil MMAS vwmihiiusuasdeaddutunuivhlieauuyssu
Y99MTEIIvsEBUNsUsEnauliaesiian lnsaenadostutouluanuduiudnou-nds
vostuan ArauudsUsiuresntssa gnimualiduilsddudminevenszuaunns
FumdneiBianindane3iiu Fmsfiviaustgnuneasuiuliym UALB $1uau 24 Pl
NNT7IU9I03 Scholl PNHaMIVAdaUNUin FBnsTitiauetannsnandar U
yeannszaulunn gy WerIouifisuduis COMSOAL uagisszuuunusin-fiu saudy
wmadanuudy SA1A1ALLYTUTINYeIATEuliAedsiniy 81.95% uar 73.16%
AUAWY

FaarnnsnumusAdeatonisusznoulu Uiy fiusnasnsaagulasily
P13 2.1

M13199 2.1 agUueineadesiulyninisdnaugaaienisusenaunuusing

K39y Wnsundaym | sUuvuvvesdgm | dwoueuly | Wdwane
TandgUgymn
Miltenburg and | DP formulation | Single model up to 11 tasks m
Wijngaard RPWT-based up to 111 tasks
(1994) heuristic
Miltenburg and | DP-based exact | Single model up to 40 tasks m
Sparling (1995) | alg. Depth-first
and breadth-
first B&B
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M19199 2.1 aguuiRenineatasiudyinisdaaunaaenisusznauwuunig (ss)

{39y Wnsundaym | Uuvuvesdgmr | dwoueuly | Wwane
TandUgynn
Sparling and heuristic Mixed model up to 25 tasks m
Miltenburs,
(1998)
Urban (1998) IP formulation | Single model up to 45 tasks m
Miltenburg DP-based U-line facility Individual U-line | m and
(1998) exact alg. with several with up to 22 tasks| idle time
individual U-lines ina
single st.
Sparling (1998) | heuristic U-line facility up to 9 U-line with| m
with several up to 18 tasks in
individual U-lines | each U-line
Scholl and B&B based Single model Up to 297 tasks m
Klein (1999) heuristic
Ereland et al. | SA Single model Up to 297 tasks m
(2001)
Martinez and Heuristic rules | Single model Up to 21 tasks m
Duff (2004) and GA
Gokcen and et | Shortest route | Single model Up to 7 tasks m
al. (2005) formulation
(network
programming)
Gokcen and IP formulation | Single model Up to 30 tasks m, C
Agpak (2006) and GP and no.
tasks/st
Chaing and Hybrid Single model Up to 111 tasks m
Urban (2006) heuristic stochastic
Hwang GA Single model Up to 111 tasks m
Katayama and
Gen (2007)
Nuchsara K. ACO Single model Up to 45 tasks m
and et al. Up to 297 tasks

(2007b)
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M19199 2.1 aguuiRenineatasiudyinisdaaunaaenisusznauwuunig (ss)

K3y Wmsuidym | gduvvvesdym | dwawewly v
TangUsym
Sabuncuoglu ACO Single model Up to 75 tasks m
and et al. (2009)
Zhang and et al | ACO Single model Up to 45 tasks m
(2009)
Rabbani and GA Mixed model Up to 75 tasks m
et al. (2012)
33 DE Single model Up to 45 tasks m
Up to 297 tasks

'
va v %

wanemg: * Junundidemdaiiunis

a o

2.3.2 sAdeiReafunmsinaunamenisuszneuldisidamunnisiagldnasing

ATeRTnsinaugaasnsUsznoulagliiiiamnnislaglduaieiutigm
n133naunaaIun1sUsEnaullideiin1s@ned Andreas, C. N. (2005) lfinwiuasinaus
WnsTimwinislagldunasiisdunisuitymnisinaunaaiun1susenouluuLdunss (SALB)
ndeeadygfinnnin httpy//www.assembly-line-balancing.de Addue 7-111 Sy
Bailinguszasdiilofiazmdrnruaniilnuesiian lnsinavesudazaadazdedliifuseu
naswan (Cycle time) uastdulumuieuluddununeunds %aﬁ%umaumiajm’hLasuﬁw%a
0 9 1 Wieads nNwodiSudy Methatu 0.23, 0.82, 0.03, 0.47, 0.62 waLyNS Mutation 1ag
thmnelaiumisestiazumsfedmaunuagldd eudumisd 1 Zandldainnng
Mutation w1y 1/5 iy 0.2 faduaindaesnsiil 5 $1u agviinig Mutation 16 0.2, 0.4,
0.6, 0.8, 1.0 muaduainturiings Crossover Insnsthdaaiildannsdulasiuloududu
ufiansaniteglutaslavesdiiléininnng Mutation 5endnAn Sub-Rage (SR) mnegluas
Talsilden sumdsondugnsduiifiannnimiewidulugisdunlddumneulnifioldly
Usensgudaly 1w 0.23 aglutie 0.2 59 0.4 (SR = 0.2 < 0.23 < 0.4) Fstfudmauiildan
n13 Crossover fia vulusunssiifianainnisnaneius 0.4 dudosudunded 2 Kedu
Amouiile Fosud 2, L, 4az 0.82 aglutie 0.8 §1 0.1 Amauiilaae 2, 5, L
Sofiansanaunsunnnuaglddmeudu 2, 5, 1, 3, 4 1y saannsidenuinisitaus
Tismevilmunzauuarldinarfoslunism FaannsAnwmuirduneusinanddaad
Lilaonadedlunmsimudeldfuliymiivarsnuniesuavdubusudailndidsstumn «
U 0.3, 0.23, 0.24, 0.26, 0.8 18311113 Crossover 9xWuin 0.3, 0.23, 0.24, 0.26 oY
Tuta 0.2 f9 0.4 v wagaaedt 0 fs 0.2 aglifiduaviiduidudusglurisiuiae ez
Timeududuufnouilifuasussiinteuusndnoulunends ndsanduditeld
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M5ANET nunn1gyal 33A3IAA wazseiius Uniazla (2556) N13Useynaldiznis
Taurnislaglduasidunisdnaunaaeaunisussnousuuidunsslseinni 1 nsdifinw
pamnssurdndeindniogy Ineanddeliiingusyasdlunismnnuaoauiidesiign
dmiulyninisdnaunaaisaunisuszneutBurendousuduiu 518729 va4lsnu

nsal@nylaeAnyinazuszgnaldisn1siiauinistagldnanisdmsuundaym neiinig

0 5O DD =,

WamzmﬂsummLmawnimumauisuﬂiuﬂa‘uiumsamamamEmumiﬂimausm wazYiINIg
Wisuifleuwa fuansnisnunisUsznoudurendeusuduiu 518729 Yagtfuveslssny
nsdifnw F93BnsTimunstagldnading agimihitlunsaianamesiusussnisguain
FuuataarUuussdmeufeiBnsuiuasudilufide 3Bnnsuaniudsuiiie wazns
faiden RnwantsnaaesUszndldgnsluduneunisfuudsudlufidais 3 gas wui
Bansifmunislaglinasiisdaenisszgndldgnsi 1 awnsaandiuiuaandaulsanans
unsUszneuldu Yagtuann 23 aandl \Wu 17 aonll Susz@vnmeesansnunsdsenay
Buidourudusu 518729 Wity 56 Wesidud warlfnaussananalfesnanniiuas
fun3delavinnisidenisdnaunaaienisusenaulagldisiinunnisiagldnassiudygmnig
Jnaunaaen1sUsEnauRuULEUATIAD Nl N3l (2557) Teelaldinshvivesisy
\Fuadlagdu (Differential Evolution: DE) titeifiuuszAnEninangnisusenay wuuidumnss 3
finqusrasiiflomdnnuanilonuosiign (m) dadullyminisiaaugaaenisuszneuiuy
EunsaUszand 1 (Simple Assembly Line Balancing Problem Type 1: SALBP-1) F933M13
DE agvhnsadannmesiiudulnenisduduiunie aniuaginisusuusssmeulaenis
WA (Mutation), N33 ma1eWug (Crossover) wagsinnisdmaidon (Selection) Fsld
Usvendldis Mutation 3 3R “DE/rand”,“DE/Best/1” wag “DE/Rand-to-Best/1” uld
321AUIS Crossover 2 75/ Binomial Crossover Wag Exponential Crossover 2 Position
Tunsdnaunaaenisusznounuuidunsassianil 1 Aifaiu 7-111 91 S1uau 64 Ty
INATNAADINUIINITUNIS “DE/Best/1” uld57uiuad Exponential Crossover liA1nau
Angaluanfisiaifafiiga d1uau 59 Jyur Fedeldinduisnsuuussdineuid
Usvansamunnisuidailewssuiisusunislia “DE/Rand” Saufu Binomial Crossover,
“DE/Best/1” 591U Binomial Crossover, “DE/Rand-to-Best/1” 31U Binomial Crossover,
“DE/Rand” 71U Exponential Crossover kag “DE/Rand-to-Best/1” $3uAU Exponential
Crossover fiannsaliimnouiiafigelunaisnifign S1uam 27, 34, 31, 45 uag 54 Jgm
pudadu uenanidliinizitauinislaslduamananislndifiendinounadnsis
Uszansamuindetuidlévianisise Rapeepan, P. (2015) Tnssuidelalddanessuis
Wannnsveslagldnasing (OF) lunmsuitamaunaaonisszneunuud 1 Yymiduaue
Usnaudae 4 Sunoundn T (1) n19i3udu (2) madwiea (Mutation) (3) Mstuaeiug
(Crossover) (4) nsgvaunisamden neawidelainisfinnisnaurauiuseninanssuIung
n1gHVEN (Mutation) wag nMsdnaeiug (Crossover) SailsléignslvaiiAntu Seualu
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nslinisAmuannisegeuUisudisutuygadymuinsgusansliiuindane3su DE
fanTulmianunsaudlaym SALPB-1 ldann
2.3.3 swATeAeURAITamnsTasldnadnslunsudtymaudsewuudu q
dmuIsItaunnsTaglinasmduligmaudfouuusuiiefivsmeneulnesisdl
Qin, A. K. and et al. (2009) 18143853 iannnslaglduaidaeiisng Mutation fithiida
vosnnmesfiangalulsrnsuiazsutunifteuasl3s Crossover v3e Recombination
ffimsuaniasuiidaszritannnes Ingldnisiieuiisudn Crossove Rate wagnnsguiiin
FawuinduIsfiusEavBamansmidiney waglud a.m2011 l6f3Tevin1sAnun Dexuan
Z. and et al (2011) WauIsn1siauInsiaelduadsdmsunisuidymnisueununesu
Tnelsvinnisusulss 2 daufiddresmnaiivesludunouresiinsifaunisiaeldnass
Ao Weighting Factor (F) hagA1984 Crossover Rate (CR) 1a 14357 13un 91 Improve
Differential Evolution (IDE) Ingl¥ie1ues F ansnsauiuailduazarues CR finsiasudniy
Snwazidutug Tngldorsedmedlgmuivisuiisudneuiu 38nmsiTawinisiagly
Nar9aes33lauA ODE uay JADE nausingd1 IDE fianntuly mneufindwiaesisliiiag
Hudnwaznisanfunuuazdssansamiiinduluszuu warluddaunldigise Xianhu
Zeng et al. (2012) IéWaun3s PUDDE w3e F3nstedTaunnisuuuldsadien lunisdanis
futigmnsdnassgufiRanuiizendnlym Operator Allocation Problems (OAP) Lilanns
FnassnuiimnzauiunsmuauaualgavesaensUseneudlolinsaisilerdudmaneg
vanefnguszasAuazdeulunarliaunsodnaulaldlunguasvasdiier ftuneudeld 35 DES
Model lunisdrassanunisalinlunayld PUDDE lunisuriigm OAP Tagnnsuiuuse
TR UAe anduuvdeifindiuau nanisvaassazulfiiiBnns PUDDE ananse
memauldogiiuszansamusiogndlsinuiinistmngfumsinassand nnufu iR
NI uiiisudiuds DE wuulAuwds 38013 PUDDE agiluszansawitdnivlunsdiniim
TonusrasdninswaunauvesasunisUsznoulutlyniiendunds uagluddaunled
{ie 1end aumTiu (2555) vinmsidelaeaguszasdiilewSeuifisunavessaneifislunis
wilymnsdnassingau TunswudsiudUsndauuunansseiuiuy sewin nisadafauuy
nndinmansuduitymimelusunsudniagy Lingo V.11 uaznsuszgndldisnismend
WnzauLUUTimunnnsA1nay (Differential Evolution: DE) Ineduneun1sideiiaestunou
Ao 1) masuiisunadmeuluduasssmant way 2) szognailunsAunudneui
foudign lunsnaaeusaneifiuditiaus azvimsmaasuiuilymigiderinnisdiass
anmunsaitu Weldlun1iifertedu 5 nedidnw MnwanismaaesuindBnismanauves
DE ugnidneuiilsainlusunsudidasy Lingo V.11 1ade 0.281 % usldszeznailunism
Ameuiiifinineds 85.4 wiit lewisuiuwadildainlusunsudiiagy Lingo V.11 waglud
WAeauld T ds neanu nesd (2555) vnsidelaeillfaguszasd Aenisidenlsanuiiil
Fnenmitannsaazidadulsanuenuesaldlaslssuiieslnazidenlivugosanlseny
thina wagnnifudendanlssnusudusniageannssy induigivresnssuiuniswae
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meldinguszasivdndmuassgmand daanden wazgauuaonss Tagldiimusveuiualy
fufionaneTusenidsanilevesssmalneidunsdfinm SanuideiidusUuuumsrudaiuy
angafuiy vanganufiLagans inguszasdnszuunTYesnTuAtywENnfAMun
wuusasmendiamaniiiioduiunueesnsdine wazanturhnsuidaymeelusunsy
d1593U Lingo V.11 wilsiamnsnmeneuiifigeld manoulduailndidsasinfulaeifld
nannd 5 Hludlunisdma fafulunuidediddvansaneifuifinmaudledtaunns
(MODDE) Wieufilymnsdidnuil anuanisdwanmuin MODDE Idsneulddunuganiy
Usyana 5% wallaanisanan Lingo 99%

ai{idelsvihnsasuainnsnunimssanssukazuAdeiisadosesnuinis
Beiugnssnduasnigideldfemhmnlflunsufdgmlunsinaugaaenisuszney dsiie
leridAsATUsyavsnmann snils uazillefnwAdeifeniuisidatugnssy Anuiniiis
fannsalidmouldifisuitiuisideiugnssuuazannsammeuiidululiuagingidss
Fnoufiaiian Tunanidu o 380153 munmslaglduasiig (Differential Evolution: DE) ifu
Fitausofarfumaneuiiafign dmiulymunelngifinnududeuvesym aelu
Huidmeuiduldldlneldssernaniidulumsmeneusienieuiuitumaiannisay 9
NIV Dervis and Selcuk (2004) lrosuredn T3 Taunisiaglduasing (Differential
Evolution Algorithms: DEA) 1uwilslu3nns (Evolutionary Algorithms :EA) fidunouisnig
Fannnsidunedalnilunsfinuseansnm anuanselunisdanistemuseann Non-
Differentiable, Non-Linear tag Multimodal Objective Functions Iagtawizlutlymuuialng
Adudou Anvitanunilumineuresisnisiiaunisliagldnaineduszansawiang
Faisn s Taunisiagldnasiie Sadudsnsiiamsothuldlunsuidymuasdiodia
UseavBamlumamdneudmiudygmnisinaunaamenisusenould dduiidedaldidon
3B3Tmunslaeldnasiig (Differential Evolution: DE) duiunisunUgyniansnisusznay
wusag (UALBP-1) Tusnddoadadl



uni 3

2

WBITaunslagldnadrsdmiulyninisdaaunasienisusenauwuunag

NnigAfelsvhmsnwaAdeifedemuiniimsiimunmsiaglduaing Oifferential
Evolution: DE) Lﬂu'i%ﬁmmmﬁumﬁ'mauﬁﬁﬁqm dusudynvuielngiifiaududou
voeilgm aneluiiudidneuiidululd Tesldszoznariidulunismmneudewsousy
FRumdsannisau q lnedunewisnisiTaunislagldnasalumaialadlunisdia
UssAnsnmuazannuannsatunisdanisdnduiymeualugiidudeulunismeineuuas
Wnalivm fuhisnsitauinisineldnane asduisnsiivhaldudlamuazdieiy
JsrAnsnmmdlunsmmeudmiuigmnisinaunaaenisUssneulduarBnieisnisi
galiimeiidnIdethunldlunisuidagvinisdnaunaaienisusenauiuudag (UALBP-1) 3o
ez duisilmintaglunisfumdineudmiunsuidymansnisuszneuuuudag
(UALBP-1) ffstfuffitealéidonisimunnislagldnasna (Differential Evolution: DE) dwu
nsuAtgyvnanenisusenaukuudig (UALBP-1) TuarAdendadl

Tuuniandunsesunedaisifaunislnglinam dwuldlunisuidgmmnsdnauga
aeMsUsENOULUUMgUsEIANT 1 MswamnlUsunsudm3uTBNseNe 9 Maueuus Lile
widamdmsunsdnaunaangnisusenauluug

3.1 ASINFNAAFIENTITUTENULUUAIEY
3‘ULLUU%@‘Ummmﬁmamamﬂmiﬂsvﬂauwa"ha (UALBP ) Wnedyvnnisdnaunadnu
Lmewmmwamawm (Predecessors) WAZ/Y30 wﬂmumammaa (Successors) \‘i']‘L!J
ummsaaﬂamaaamumum 1, . k ites 1 @onfvindu Tnefinansuvesaniieudy
%maaumimnﬂmﬁaunmmswam uumiumsmamamamwﬁzﬂamw‘umg a190
forsanauiiosdnasaandauldi 2 fieme Aedonauaindramiiludmds vieandely
921 (Forward) vosunufsdndiudueu (Precedence diagram) uavanndnandsludrand vde
1nvlde (Backward) liwden q Audulunuieulvvesandadanidaumuguuuy
nsdnaunaaensUsEnauLuumg (UALBP)

3.2 msuitgymnisdnaunadien1susEnaunuuaigae353Iauinisiaglduasiig
MsuAlymNIInaugaaen1sUsEnauLUURIYN T2 UIUN1SVRIsN T Tnunsingly
uasaditunoundnineilusedl
Fupoudl 1 a¥1eUszrnaEusiy
Funeudt 2 nanUszensulmddeiBnefaumadstunoud 2.1-2.3 uagsinisusy
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vl (Indics)

F = uAweslun1svenenanis (Scaling factor)

CR = Shs1nsuaniUdsusilufiia (crossover rate)

Funeuit 2.1 arsiunudinnme? Tnensusudsurlufiinvesanmed (mutation)
Tngaunsifunuu DE/rand/1 $eaumsi 3.1

Vijest = Xrje +F Kizj6- Xi3j6) (3.1)

dlo i A druusaziaamesues NP, j Ao Aidnusdusaziinmes (vector dimension) G
A9 soulun1TIUT 1y SeUT 1, 2 30 3 WJuUsU Way ry, ry, WAL rs ﬁanmmai’ﬁv‘hmiejm
W@onu1 313010035 F A9 wilAmaslun1sue1enanis (Scaling factor) Vije, Ao d9unu
nnwesdmsunnmesd i idnresannes | lunsugseudl G+1 way X 6 fie Lanwes
Wavaned r, §QLﬂuLaﬂma%ﬁqmﬂuﬁuﬁumﬂ fifnveanaed j luseunisiuand G du
Xiz2j6 WaE Xi3)6 L"‘f]uLaﬂLmaiﬂmmaﬁ?jmﬂué’wﬁuﬁ 2 uay 3 Mudy deudndunud
nNMesIENINAEST | ifnvesnaed j lunisiugrseud G+1 Aty Alufidaves
nawesimned rn Arnvesanaes j Tun159ug150UT G 590/ wasswasAlufidn
nnwesthvaned r, uay rs Qmﬁ’umLLW@Lm%m'ﬁmmamasm F

Fupoudl 2.2 a¥rdlnssannmes Taeiimsuanasudluiifnuesinne? (recombination)
Tawaunsidunuululudloa Binomial Crossover) faaunsd 3.2

Vije+1 if (rand; [0,1) < CR) orj = Irand (3.2)

Uijcs1 =
Xij G if (rand;;> CR) or j # Irand

o Ujen o Inssannmesvesimnosi i ffnvesanmed j luseun1siugnd G+1
rand; Ao lavdus LTS sieglutia [0, 1) veannwesil | AifanAwmes? j A1 CR Ao §n51Ns
wanasuailufinn (crossover rate) j Ao funuIeIRAAT0IAMDIT | wax Irand o
Lasuﬁﬂmmﬁmjmammma%ﬁ | FiAndaus [1, n] e n Ao vunveanAImES et Uijei
INSSANANBST | ﬂﬁ’mammma%j1um'nuiaw§ﬂﬁ G AHANYINAY Vij 6,1 TWNUADALNDS
ynavdueanAmeii | ifavesnned j TardesnimIewiniu CR visiilolavdy irand
WINAUATLALNNAR ] LLazﬁ]zﬁmwhﬁU Xij 61 KIALADILTMNE mmamdmammma%ﬁ i NOA
‘UENL’JﬂLG]EJiJ fAnnnni CR vifewlolavdl Irand laiindudumisiin j

mumau‘m 2.3 1dennawmesidmungluseudalu lnen1sAndeniames (selection) aae
aunsii 3.3



Uije if fUije) < f(Xije) (3.3)

XijGel =
Xije otherwise

o Xye.: Aenawedidvaned i #fafl | Tuseudl G+1 agdAindu nawesAsiatdn
wailsiufiniseninavesame st mineuazavadlnsdanawmesluseud G

Fumeui 3 Mqﬂmiausgw fannsaesuensooniuunsruUNIUsEYNALTIR munis
Tneldnamauuuiugilédanind 3.1

SUAY
A519UsEUINSISUAY

|

AsEUINNSUSULURE LA

\ 4

A\ 4

nszUIUNIsLaniUasuAn

}

ASTUIUNITARLADN

Lailay

ASUTBUNITIUL

AN 3.1 n5EUIUNISISI TN Iagldrasiisuuunugu

NNTEUINNNTIDIIAUINSIASTTHARNG F9NIN 3.1 LU LSUAUIINNITOBNLUULIALADS
Sudu kariamesneanwuululunszuINNsUSUABUA LR N ATBILINRBSNSEUIUANS
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LANUASUANIURNAYBIIAADS LWATNTEUIUNITAALABNLIALMBS TIa1U1SDTUIEAAU
Juppunulgmidietgns Bowman problem Tunini 3.2

A7 3.2 WNURSEIAUTUABUIIY Bowman problem
#111: Bowman (1960)

3.3 funaunisdaaugadisnisusznaunuuiaglssand 1 Tasld353 auinislaeld

Nashmwﬁyug'm

NnYdeynves Bowman problem Tunmit 3.2 Tfuanaununndfununou-ndwes
JoyvnsdnaunaaenisUsznevegnaiiend 8 susuatluinaniansevesusazuLay
AU ULNNAULAAIIA IO FeneuivzvinnisinaunamenisUszneudosiivunel
Flddmsumasuan Tnefauusied R = Round Eauseumsnages) NP = S1uaudunounuy
F = unawmesTunisvenenasig (Scaling factor) wae CR = das1nisuwaniuasudnlufifia
(Crossover rate) I@amsﬁﬂmmﬁmmﬁﬁmuﬂﬁ R=1 58U, NP=5, F=0.8, CR=0.8 Ronkkonen,
Kukkonen and Price (2005) wag CT (Cycle Time) = 20 w1¥ Iaglauanaisnisauiulaely
B imunnslagldasauuuiiugiu wuu “DE/rand/1” $2u Binomial Crossover gl

3.3.1 WEAINIIATUIN LUU “DE/rand/1” $9unU Binomial Crossover

33.1.1 n3adeAmoulsudu (nitial population) Gﬁgumaumsejmi’ﬂmuﬁq 0-1

Tuusiaza Wunisadias Tareet Vector wefmaususuiiodursnaulalunisdna
avanndauuaziduaniuduvesinmesiildlunis Mutation uag Crossover dold agldna
A15797 3.1 Taean3197t 3.1 AzuaniIn1sAIuInn1sadafIneuEudu (nitial population)
Tagvinisgudiuuaie 0-1 Tiduusagaru ieifunisaireen Target Vector Tifuusazau
Waidunsaddmeusudusanduadnaulalunisinauaaniiou lnensdaaniia
DulumudeulvlneFesdrdunisduanniavdeslvunnlunisdnasaniian 91
fruelel NP = 5 nnwes Swandidfiuaindgmdegnanmiamd 3.2 agldnnsed 3.1

=

A9t
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A1379% 3.1 wan1sasNAInauBNAuYasly Taenvun NP=5 1Inwas

Vector Station
Station 1 2 3 q 5
Work 1 8 6 a 2 3 5
Vector 1
Time 11 3 12 5 17 9 8 10
Target Vector| 0.3 | 0.57| 0.44 | 0.61 | 0.72 | 0.53 | 0.68 | 0.92
Station 1 2 3 q 5
Work 7 5 1 8 6 3 4 2
Vector 2
Time 10 8 11 3 12 12 5 11
Target Vector| 0.57 | 0.32| 0.74 | 0.92 | 0.21 | 0.44 | 0.69 | 0.82
Station 1 2 3 q 5
Work 1 8 7 5 6 4 3 2
Vector 3
Time 11 3 10 8 12 5 9 17
Target Vector| 0.51 | 0.96 | 0.88 | 0.67 | 0.84 | 0.62 | 0.41 | 0.92
Station 1 2 3 q 5
Work 1 8 7 5 2 3 4 6
Vector 4
Time 11 3 10 8 17 9 5 12
Target Vector| 0.13 | 0.26 | 0.58 | 0.81 | 0.64 | 0.42 | 0.21 | 0.69
Station 1 2 3 q
Work 8 6 4 7 5 3 1 2
Vector 5
Time 3 12 5 11 8 9 11 17
Target Vector| 0.84 | 0.41| 059 | 091 | 0.76 | 0.32 | 0.98 | 0.48

3.3.1.2 Mutation Tusaunisnisusulasunnalilamaeulndfiuvanuanaigly
NNGUIIUYTEIINTAN InegnUsrasAlitanIsH1LYaT ¥1n15AIUIMMY Mutant Vector
(Vijes1) AIAUNTTT 3.4 WAZAINITOLAAIFIDEINNIT Mutation AIAITI9N 3.2 Al

Vijer1= Xrje +F(Xi2j6 - Xi3j6) (3.4)

\ilo

Vi = Hununniees (Mutant Vector)

Xijo X2 Xajo = @uRAWBIINTOUT G

F = Scaling factor Wuiavdusauaieious 0-2
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36

Vector Position
1 2 3 4 5 6 7
Vector 1 | Work 1 8 6 a4 2 3
Time 11 3 12 5 17 9 8 10
Target Vector | 0.3 | 0.57 | 0.44 | 0.61 | 0.72 | 0.53 | 0.68 | 0.92
Vector 2 | Work 7 5 1 8 6 3 il 2
Time 10 8 11 3 12 12 5 11
Target Vector | 057 | 0.32 | 0.74 | 0.92 | 0.21 | 0.44 | 0.69 | 0.82
Vector 3 | Work 1 8 7 5 6 a4 3 2
Time 11 3 10 8 12 5 9 17
Target Vector | 0.51 | 0.96 | 0.88 | 0.67 | 0.84 | 0.62 | 0.41 | 0.92
Mutant Vector 1 0.35 | 0.06 | 0.33 | 0.81 | 0.22 | 0.39 | 0.90 | 0.84

INFNT99 3.2 WARINATBINTS Mutation LINWasH 1 lneltis “DE/rand/1”

BIAU Konj6, Xrojc $aE Xesje WHINABIT 1, 2 wae 3 muaiduuasinualiial F = 0.8 15U
ﬁﬁjﬁl (Position) ﬁ 6 Xri,j,G = 0.53, XFZ,J,G = 0.44 way Xg)jy@ = 0.62 LLV]Uﬁqiugmﬁ V]yG+1= Xri,j,G
+F(X1256 - Xi35,6) 89 Vigs1= 0.53+0.8(0.44-0.62) = 0.39 @il Mutant Vector %1 1 Wia7 6

AU 0.39 MHINTIYIINSALIAWITDUAUNNANAIUATU 8 WA

3.3.1.3 Crossover #38 Recombination 9UMBUITNITHANLURLUNNATEIIN
LNLWBS BI9LLALINLMBS MLV IAINBUNTNIRNI LAz KENINBEMaINTaNY Tnedinnsasia

Trial Vector (Uije:1) A981n159 3.5 tazyinnisilTeuiiisuiiansanlunisuaniuasuiinnga

AUNITN 3.6 TIANUTOLAAIAIDYIAIAITIN 3.3 kA 3.4 Aail

Ujgs1 = (Utigr1, Uaiget, « , Upiger)

Vijes if (rand j [0, 1) < CR)

Ui,j,G+1 =
Xije+1 if (rand () > CR)

WB Vig+1 = Mutant Vector
Xijc+1 = Target Vector
CR = Crossover Constant 9117133934A1 0 94 1

(3.5)

rand j [0,1) = dA939 0 — 1 »AfnR, j = 1,2, 3 .., G (G = Imuiiin)
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M157197 3.3 Wan1s Binomial Crossover ynmasn 1 NlGsuAUIS DE/rand/1

Vector Position
Position 1 2 3 4 5 6 7 8
Work 1 8 6 4 2 3 5
Time 11 3 12 5 17 9 8 10
. Target Vector 0.3 0.57 | 044 | 0.61 | 0.72 | 053] 0.68 | 0.92
Mutant Vector 0.35 | 0.06 | 0.33 1 0.81 |0.22|0.39 | 0.90 | 0.84
Rand ()) 0.40 | 0.40 | 0.06 | 0.96 | 0.47 | 0.40 | 0.94 | 0.33
Trial Vector 0.35 | 0.06 | 0.33 | 0.61 | 0.22 | 0.39 | 0.68 | 0.84

1NM15199 3.3 LARINATBIN1S Binomial Crossover LINLABST 1 T4
mMuualiian CR = 0.8 A3t Trial Vector wesfinadl 4 uay 7 agldA1ves Target Vector d1u
FUnedU o MdeazlyAives Mutant Vector

M1319% 3.4 wan1sdnaugasen1sussnaulaglien Trial Vector 9anans1eh 3.3

Vector Station
Station 1 2 3 q 5
Work 8 6 1 3 2 q 5 7
Vector 1
Time 3 12 11 9 17 5 8 10
Trial Vector 0.06 | 0.3310.35]0.39|022|061|068| 0.84

91nA15799 3.4 181 Trial Vector fildundnaunaaionisuszney
wuuigauieuludfusuneunduaznauusazaanidaudesliiuseunamanlag
flarsan Trial Vector Aiflddnneuasaanilasiililddnou 5 aandl
33.1.4 Selection Sunsumsdndenuszrinsluiusely (G+1) Feazdmianion
wilany Ameuiidndt Tnen1siSeuifiounanes Target Vector AU Trial Vector Tunsdldi
$ruruanioudiléues Trial Vector Anim3ewinfu Target Vector satuaziden Trial
Vector iudszanslususiely fsaunnsi 3.7

Uije if (Uije) < f(Xij0)

Xijce1 =
Xijc Otherwise (3.7)
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ija Uijc = Trial Vector
Xije+1 = Traget Vector lugudaly, i = 1,2,.n

aguldhannstuseuesiaidondszinslugusely Trial Vector vesaniiiiidn

1§ 5 anilauGadafifuindn Taret Vector 79ald 4 anilauFavinliiden Tarcet Vector
Hudmeuiiavian uagvhmsusoud-lmilugudaly
3.4 dumsunisiadugadisnisUsznaunvudagUsziani 1 Tael#353munnnslaeld

NafuuuUTuUgeAmay

fununmstnaunaasnisusznounuuiiglssond 1 neld35iamunsTagldnasig
LUUUSUUTIAIRaU @uN3085UIEN1TRRNkuUNSEUIUNISUTEYNALEIT TN sl
wasnsuuUUSuUgsdnauldfanmi 3.3

SUAY

@519UsENSSUAY
1) DE/rand-to-best/1
i 2) DE/best/2
| @ o ' < ---p
> AF¥UIUNITUSULUAsUAN Rapeepan (2015)
A 1)E trial 1 positi
nSTUIUNITHANUATUAN «-- 1 Bxponentrial 1 position
2) Exponentrial 2 position
1 Rapeepan (2015)
ASTUIUNITARLADN

ASUTOUNITIUG

MW 3.3 nEUIUNTIsTIRUINTS IagTduamsUTuUseAnau
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9nyatlyvives Bowman problem luniwdt 3.2 lfuansununiwdifununou-ndes
HoyvnsdnaunaaenisUsznevegndieid 8 vufuarlunauiansdievesudazuuas
FAUULINANLARIITE L e?iaﬂ'auﬁazﬁﬂmﬁmau@amamiﬂisﬂauﬁaaﬁmummﬁ
Tdmsunmseunn Tneduusiad R = Round Guauseunsnaaes) NP = S1uauduneuny
F = wimmeslunisvenenasig (Scaling factor) wag CR = ns1nisuaniUdsudnlufids
(Crossover rate) InentsArus eyl samuals R=1 50U NP=5 F=0.8 CR=0.8 Ronkkonen
Kukkonen and Price (2005) waz CT (Cycle Time) = 20 w1l lnglauansisnisarunlagly
Wiinwnsiagldnasiauuuuulsedmeu
n1siauUszgnaldisn1s3Taunsiagldnasnisuuudiuudaineu Inen1sudiisnis
HWaunnslagldnasstunounssuaumsuunasua Mutation wildsuiusuneu 1Huiis
DE/rand/1, DE/rand-to-best/1 waz DE/best/2 ﬂszmummaﬂmgaum Crossover 138
Recombination taLn45 Binomial Crossover, Exponential Crossover 1 position Wag
Exponential Crossover 2 position 38nslumiudniignslmifintud Tmunnsinenasig
Tumsusuugermeueenunle 538 il Rapeepan, (2015)
(1) “DE/rand/1” 571U Exponential Crossover 1 Position
(2) “DE/rand/1” 571U Exponential Crossover 2 Position
(3) “DE/ rand-to-best/1” 21U Binomial Crossover
(4) “DE/Best/2” $3ufiU Exponential Crossover 1 Position
(5) “DE/Best/2” $3ufiU Exponential Crossover 2 Position
TnglduandiinsdmnlagliisiTamnislnelduadauuudiudsssmeuita 5 s
LAAINIANLIMANYATEMLANYES Bowman problem Tuamil 3.2
3.4.1 MIATUIN WUV “DE/rand/1” $9uAU Exponential 1 Position
3.4.1.1 n13ad1adineusudu (nitial population) ﬁﬁgumaumiejmﬁwmm%a 0-1
Tuusazau Wunisadiee Target Vector wiarmeududuiieduadndulalunisinu
asanfnusazidursuduresinmesiildlunis Mutation way Crossover sigly Fauandli
uanamiiegnesning 3.2 wagasnedl 3.1
3.4.1.2 Mutation SuneunsnsuSudeuiifnlildsmeulmifiuanuandaaly
9nnguduIuUszInsifn 1Fund1 Scaling Factor: F 39138091 Mutation Factor: F Lile
nUsTasAvasnsHIMan TneduImn Mutant Vector (Vig,:) faun1sd 3.4 uazanunsa
WARIFIaEN9N1S Mutation Fapnsnadi 3.2
3.4.1.3 Crossover 38 Recombination duneuisnisuaniuasuiifnszning
nawes Fwldnnmesimlvesineuiiiieaniwazugnitedrmainuane Tnednnsadn
Trial Vector (Ujigs1) Fiaunsi 3.8 wagyin1sssuisuiansaunluniswaniasuiiads
FUNNST 3.9 FeANTOUARIFIDENSR TR 3.5 WAz 3.6 Fal

Ujige = (Usigs1, Uzigit, - » Upigsr) (3.8)



a0

Vji,G+1 if (rand (J) <r
Uji,G+1 =

Xjic:1 otherwise (3.9)

Viigs1 = Mutant Vector,

Xjic+1 = Target Vector

CR = Crossover Constant 314IUa595AN 0 D9 1

rand()) = Msduswrsiiinlunges, j = 1,2,3,..,G (G=31u1uiiin) uay
r1 = Aadignausiuan 1

A151991 3.5 Wan1s Exponential Crossover 1 Position tantaash 1 AlgsauAuidd

“DE/rand/1”
Vector Position
1 2 3 4 5 6 7 8

Work 1 8 6 4 2 3 5

Time 11 3 12 5 17 9 8 10
Vector 1 Target Vector 0.3 | 057 | 044 | 0.61 | 0.72 | 0.53 | 0.68 | 0.92

Mutant Vector 0.35 | 0.06 | 0.33 | 0.81 | 0.22 | 0.39 | 0.90 | 0.84

Rand (j) - 2 - - - - - -

Trial Vector 0.35 | 0.06 | 0.44 | 0.61 | 0.72 | 0.53 | 0.68 | 0.92

INATNN 3.5 LEAAINATDY Exponential Crossover 1 Position HNWasH 1
Faguifinle rl = 2 AUy Trial Vector 983#iia? 1 - 2 9gl¥A1903 Mutant Vector d3u

o I

FLNUIDU 9 MivdeagluAiues Target Vector

A13197 3.6 wan1sIRaNAasen1sUsEnaulaeldA1 Trial Vector 31nn15199 3.5

Vector Station
Station 1 2 3 q 5
Work 8 1 6 4 2 3 5
Vector 1
Time 3 11 12 5 17 9 8 10
Trial Vector | 0.06 0.35 0.44 0.61 0.72 0.53 0.68 0.92




a1

9NAT197 3.6 Lilrien Trial Vector Aldundnaunaasnisusznoy

wuuigauieulvdfuruneunduaznauusazaniieudesiiuseunamanlag
f915001 Trial Vector Aiflensneuviilildmaeu 5 aanil

3.4.1.4 Selection %’umaumiﬁ’mLﬁaﬂﬂssmﬂﬂujumw (G+1) Frazfnidonion
Wiz Anaufinnit TnenisiuSeufisunaves Target Vector fu Trial Vector Tunselil
$ruruaaiaoudiléues Trial Vector dninm3ewinfu Target Vector satuaziden Trial
Vector utsgmnsluusioly dsaunisi 3.7 aglddannistuneuvesdmdentsesing
Tuusiely Trial Vector vesan1ifidald 5 aanflaudedsfirnanndi Target Vector Adnld
4 anilnuiwhliden Target Vector ludpoufiafian uazvhnsuseusilmalujudaly

3.4.2 NSATUINU WUU “DE/rand/1” $2ufiu Exponential 2 Position

3.4.2.1 n1sa¥1adneuiiudu (nitial population) %umaumifjmhmuﬁq 0-1
Tuusiaza WWunisadhas Tareet Vector wefmaususuiiodursnaulalunisdna
asanndnuwasduiSuduresanmesiildlunis Mutation way Crossover oty auandly
winantymiiegnanind 3.2 uagansnd 3.1

3.4.2.2 Mutation Suneunisnisusudsuiifalilammneulmifiutanunnsiisld
NNFUTINIUYTEYINTAL 138097 Scaling Factor: F %38158n31 Mutation Factor: F e
9AUTEaIATRINITHIMAT IngAIUIM Mutant Vector (Vig,1) FIEUnST 3.4 uavaulsa
LER9EIDENINNS Mutation §am3nedt 3.2 fedl

3.4.2.3 Crossover %58 Recombination Sumeudan1suaniUasufifnszning
nnwed Fearldnnmeslnlvesmneuiiininiwazugniregrmainwane lnefinisadna
Trial Vector (Usg.1) feaunisf 3.10 uagvinisiFeudisufiansanlunisuanildeunitings
dunnsl 3.11 Seanansouansiiognedinsedl 3.7 uaz 3.8 Kl

Ujee1 = (Utigr1, Uaiget, -, Upiger) (3.10)

Vjiger if (rand () < 11, () > r2

Ujigs1 =
Xjg+1 otherwise (3.11)

e

Vjig+1 = Mutant Vector,

Xjics1 = Target Vector

CR = Crossover Constant 9147Ua398AY 0 09 1

Rand () = mMsdusunidsiiialuinees, j=1,2,3, .., G
(G=Snnufiin) ua 1, 12 = Afagndusiuiafl 1 uag 2
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M1519% 3.7 Wan1s Exponential Crossover 2 Position INaash 1 AldsauAuis

“DE/rand/1”
Vector Position
Position 1 2 3 4 5 6 7 8
Work 1 8 6 4 2 3 5
Time 11 3 12 5 17 9 8 10
Vector 1 Target Vector 0.3 | 0.57 | 0.44 | 0.61 | 0.72 | 0.53 | 0.68 | 0.92
Mutant Vector | 0.35 | 0.06 | 0.33 | 0.81 | 0.22 | 0.39 | 0.90 | 0.84
Rand () - 2 - - 5 - - -
Trial Vector 0.35 | 0.06 | 0.44 | 0.61 | 0.72 | 0.39 | 0.90 | 0.84

M 3.7 LEAINaTY Exponential Crossover 2 Position Lankaasi 1
Faduiinale rl = 2 wag r2 = 5 el Trial Vector 203fiin#l 1 - 2 uaz 6 - 8 azl¥A1v04
Mutant Vector @usmunusau ¢ Nivaeazldnues Target Vector

A13197 3.8 wan1sInauAasten1sUsEnaulaglyA Trial Vector 31nn1519# 3.7

Vector Station
Station 1 2 3 q
Work 8 1 6 q 2 3 7
Vector 1
Time 3 11 12 5 17 9 10
Trial Vector | 0.06 | 0.35 | 0.44 | 0.61 0.72 0.39 | 0.84 | 0.90

91nAN3197 3.8 1iletnAn Trial Vector Aildundnaugaasnisusznoy
wuuigauteuludfusuneunduaznasuusazaanideudesliiuseunamanlag
fiansan Trial Vector fifiansnouvilildmmeu 5 annil
3.4.2.4 Selection %”’umaumiﬁmLﬁaﬂﬂﬁsmﬂﬂuiu@idﬂ (G+1) BaagdnLdonien
wilany Ameuiidndt Tnen1siSeuifisunaves Target Vector fu Trial Vector Tunsdldi
$ruruannfewudildves Trial Vector Aninw3ewinfiu Tareet Vector faduazidon Trial
Vector iiutszansluusolu dyaunisit 3.7 asuldhannistuneuvesdmienyszannsly
susioly Trial Vector vosan1idald 5 an1darudsdaiidnnnin Target Vector 1dald 4
aninuinhlidon Target Vector Wudnoufiafian uasvhnisuseuslmlujudaly
3.4.3 NN3ATUIU WUU “DE/rand-to-best/1 ”$29uAU Binomial Crossover
34.3.1 nsa¥1esdmauisudiu (nitial population) ?Jzumaumiejmﬁﬂmm%q 0-1
Tuwdazay Wun1sadieen Tarcet Vector wiarmeusuduiiaduadndulalunisdnauy



a3

asaofnuesduaisuduresanmesiildlunis Mutation uaz Crossover W38 Recombination
seld Fauanslifiuantymiiesnanini 3.2 uagased 3.1

3.4.3.2 Mutation Funeunsmsusunasuiifnlilameeulmifiulanuanssly
9nngudIuUszInsifn 1Fund1 Scaling Factor: F 39138091 Mutation Factor: F Lile
nUszAasveInTsHImaT TnefuInis Mutant Vector (Vie,1) faaunnsd 3.12 waganansa
LER9EIBENINTS Mutation §amsnedt 3.9 fadl

Vigi1= Xic +FXpestc = Xie) + F(Xi1,6 = Xi20) (3.12)

e

F = Scaling factor s uaussedaus 0-2
Xo = awadidhmnglusoud G

Xpestc = NIAWABTATIARAIUTOUT G

X6 X = dUNAMBINTEUT G

A157197 3.9 Wan1s Mutation LInumashn 1 Ineldds “DE/rand-to-best/1”

Vector Position
Position 1 2 3 4 5 6 7 8
Vector 1 | Work 1 8 6
Time 11 3 12 5 17 9 8 10
Target Vector | 03 | 0.57 | 044 | 0.61 | 0.72 | 053 | 0.68 | 0.92
Vector 2 | Work 7 5 1 8 6 3 a4 2
Time 10 8 11 3 12 12 5 11
Target Vector | 0.57 | 0.32 | 0.74 | 092 | 0.21 | 0.44 | 0.69 | 0.82
Vector 3 | Work 1 8 7 5 6 a4 3 2
Time 11 3 10 8 12 5 9 17
Target Vector | 0.51 | 0.96 | 0.88 | 0.67 | 0.84 | 0.62 | 0.41 | 0.92
Vector 5 | Work 8 6 4 7 5 3 1 2
(best) | Time 3 12 5 11 8 9 11 17
Target Vector | 0.84 | 0.41 | 0.59 | 091 | 0.76 | 0.32 | 0.98 | 0.48
Mutant Vector 1 0.78 | -0.07 | 0.45| 1.05 | 0.25|0.22 | 1.14 | 0.49

NAITIT 3.9 LAAINATOINST Mutation Lanwash 1 laeld3s “DE/rand-
to-best/1” BIgu X1, Xeog WLINABSN 2 wae 3 arudInukazivualia F = 0.8 1gu
AR (Position) 1 5 X6 = 0.21, Xz = 0.84, X = 0.72 WA Xpestc = 0.76 unuAluaunis



aaq

vi,G+1: Xi,G +F(Xbest,G - XI,G) + F(Xrl,G_ XrZ,G) f\]gléj V],G+1 = 0.72+0.8(0.76-0.72)+0.8(0.21-
0.84) = 0.25 A4 Mutant Vector 1 1 AN 5 3991189U 0.25 189910 TUNTINITAIUIN

willeufiuyniiinauasy 8 e

3.4.33 Crossover 158 Recombination JUMBUITNITHANLURLUNANTEIRIN
LINLABS %"wvié’nﬂLmaﬁmjmaﬂﬁmauﬁﬁﬁqaﬂdma LLENI198199a1NNANY teelin1Sa319
Trial Vector (UJ. 1) FaANASR 3.13 LLam’1miujia‘umauwmamﬂummaﬂLﬂaauwmm

aiimiﬁ/l 3.14 “U\‘iaqlniﬂLLaﬂﬂ@’)aUqﬂﬂﬂmqﬁqﬂm 3.10 way 3.11 ﬂ\‘iu
Ujigsr = (Usigss, Uzigit, - » Unigsn)

Vji,G+1 if (randj [O y ].) < CR)
Ujigsr =

in,G+l if (rand (J) > CR)

o

Vijic+1 = Mutant Vector,

Xjic+1 = Target Vector

CR = Crossover Constant 3143U3393A1 0 4 1

rand j [0, 1) = gue1939 0 - 1 wnfifA, j= 1,2, 3, ..,

(3.13)

(3.14)

G (G = TWIUNNAA)

m15719% 3.10 wWan1s Binomial Crossover 1NMash 1 NY3UNUIS “DE/rand-to-best/1”

Vector Position
Position 1 2 3 4 6 7
Work 1 8 6 il 3 5
Time 11 3 12 5 17 9 8 10
Vector 1 Target Vector 0.3 | 057 | 044 | 0.61 | 0.72 ] 0.53 | 0.68 | 0.92
Mutant Vector | 0.78 | -0.07 | 0.45 | 1.05 | 0.25 | 0.22 | 1.14 | 0.49
Rand (j) 0.40 | 0.40 | 0.06 | 0.96 | 0.47 | 0.40 | 0.94 | 0.33
Trial Vector 0.78 | -0.07 | 0.45 | 0.61 | 0.25| 0.22 | 0.68 | 0.49

INAT9199 3.10 LEASHATDINTS Binomial Crossover LIAL@BSA 1 &9
AvualiA1 CR = 0.8 A9t Trial Vector 999NAAT 4 wag 7 aglarues Target Vector

dusunuay ¢ NivaeazldAiues Mutant Vector



a5

M1919% 3.11 wanmsdinauaasenisusznaulagldan Trial Vector 31nA135197 3.10

Vector Station
Station 1 2 3 q 5
Work 8 6 4 1 2 3 7

Vector 1
Time 3 12 5 11 17 9 10 8
Trial Vector -0.07 1 045 | 061 | 0.78 | 0.25 | 0.22 | 0.49 | 0.68

917915197 3.11 lothAn Trial Vector Aildandnangaaenisuszney
wuuigmudeulvdfununeundaaznasmusazandnudesliiuseunainanlag
f915041 Trial Vector Aififnshnewrilildmmeu 5 aand

3.4.3.4 Selection %y’umaumiﬁmLﬁaﬂﬂﬁsmﬂﬂuiu@idﬂ (G+1) BaagdnLdonian
LNz Ameufinnit TnenisiUSeufisunaves Target Vector fu Trial Vector Tunselil
§ruruaafauiildues Trial Vector #ndnw3ewinfu Target Vector datuaziden Trial
Vector iiutszannsluusoly dyaunisit 3.7 asuldhannstuneuvesdmienyszannsly
usioly Trial Vector vasaanifidnld 5 anvdaudadsiiaruinia Target Vector dnlé
4 anfinudniiliden Target Vector Wusmauiiatian uagvimsusoudlmilugudnly

3.4.4 ANSATUIU WUV “DE/best/2” 39U Exponential 1 Position

3.4.4.1 n13a¥1adineuiudu (nitial population) %umaumiajmﬁmauﬁq 0-1
Tuusazau Wunisadiee Target Vector wiarmeududuiieduadndulalunisdinu
asadnunanduiSuduresnmesiildlunis Mutation way Crossover ety auandly
winantaymiiegnaning 3.2 uazansnsd 3.1

3.4.0.2 Mutation SuneunsnsuSudsuiifalildsneulmifiulanwandasly
9nnguSLIUUTENINTAY 158071 Scaling Factor: F %39 138091 Mutation Factor: F tile
nUseaIRvaInITHIvEn IneA1uImMT Mutant Vector (Vi) Faaunisil 3.15 wazaunse
LARIFI8EN9N1S Mutation Fapnsnadi 3.12

Vigit = Xoestc HF(Xr16 = Xr26) + F(Xi3.6 = Xra6) (3.15)

e

F = Scaling Factor {usuaua3adaus 0-2
Xoesto = VIAMBITIATARIUTOUR G

X6 Xea e Xrae Xoac = @uIALMBIIINTOUT G



A15147 3.12 Wan1s Mutation tnmesi 1 Tneld35 “DE/best/2”

a6

Vector Position
Position 1 2 3 4 5 6
Vector 2 | Work 7 1 3
Time 10 8 11 3 12 12 11
Target Vector | 0.57 | 0.32 | 0.74 | 0.92 | 0.21 | 0.44 | 0.69 | 0.82
Vector 3 | Work 1 8 7 5 6 a4 3 2
Time 11 3 10 8 12 5 17
Target Vector | 0.51 | 0.96 | 0.88 | 0.67 | 0.84 | 0.62 | 0.41 | 0.92
Vector 4 | Work 1 8 7 5 2 3 6
Time 11 10 8 17 9 12
Target Vector | 0.13 | 0.26 | 0.58 | 0.81 | 0.64 | 0.42 | 0.21 | 0.69
Vector 5 | Work 8 a4 7 5 3 2
(best) Time 3 12 5 11 8 9 11 17
Target Vector | 0.84 | 041 | 0.59 | 091 | 0.76 | 0.32 | 0.98 | 0.48
Mutant Vectorl 0.32 | -0.22 | 0.47 | 1.03 | 0.16 | 0.26 | 0.59 | 0.57

A1 F = 0.8 WWURAR (Position) 7i 5 Xie= 0.21, Xu6 = 0.84, X3¢ = 0.64 Waz

1NA15197 3.12 WAAINAYDINIT Mutation 1antaash 1 laaleas
“DE/best/2” BadU Xz, X6, X Xrse bINABSTN 2, 3, 4 uae 5 mudiduwas fvunti

Xac= 0.76

Fatiu Mutant Vector 71 1 e 5 Iag Xpests = 0.76 ASHULNUANANNTAINGAT Viga1=
Xpestc +F(Xi1.6 = Xi26) + FXi36 = Xia6) Toiniu Vigs1 = 0.76+0.8(0.21-0.84)+0.8(0.64-0.76)
alawindu 0.16

3.4.4.3 Crossover 158 Recombination JUMBUITNITHANLURLUNANTELIIN

LINLABS %wﬂé’nﬂLmaﬁwﬁmaqﬁﬂmauﬁﬁﬁaﬁﬂdma LLENI1DE19MANNANY LABIN1SAS
Trial Vector (UJ. 1) FAAUATST 3.16 LLa.vmmimismmauwmsmﬂummaﬂLUasJuWﬂmm
AUNNST 3.17 BIENLNTONARITIDENIRINNT1T 3.13 uag 3.14 §ad

Ujigs1 = (Usigss, Uziget, r

Ujigs1 =

UDi,G+1)

Vji,G+1 if (rand (J) <r

in,G+1 otherwise

(3.16)

(3.17)



ar

o

Viig+1 = Mutant Vector

Xjc+1 = Target Vector

CR = Crossover Constant §1U2Ua59A1 0 54 1

rand() = Msdusunisiinaluanees, j = 1,2, 3, ., G (G=31wuiiin)

(%

a = o oA
oy rl = NWARVIONTUALAUIN 1

“DE/best/2”
Vector Position
Position 1 2 3 4 5 6 7 8
Work 1 8 6 4 2 3 5
Time 11 3 12 5 17 9 8 10
Vector 1 Target Vector 03 | 057 | 0.44 | 0.61| 0.72 | 0.53 | 0.68 | 0.92
Mutant Vector 0.32 | -0.22 | 0.47 | 1.03 | 0.16 | 0.26 | 0.59 | 0.57
rand(j) - - 3 - - - - -
Trial Vector 0.32 | -0.22 | 0.47 | 0.61 | 0.72 | 0.53 | 0.68 | 0.92

NANTNT 3.13 ULAAINAYDY Exponential Crossover 1 Position PRItLE
7 1 Faguiininla r = 3 A9t Trial Vector vaeiiin 1 - 3 9¢ldr1909 Mutant Vector
dusunuay ¢ MivdeazldAues Target Vector

M19197 3.14 wamsinaunasenisusznaulagldan Trial Vector 31nn15199 3.13

Vector Station
Station 1 2 3 4
Work 8 1 6 4 2 3 5
Vector 1
Time 3 11 12 5 17 9 8 10
Trial Vector | -0.22 | 0.32 | 047 | 061 | 0.72 0.53 | 0.68 0.92

91nM157971 3.14 15le1i1AN Trial Vector fildundnaunaaenisuszney

wuuigmuteuludfusuneunduaznasuusazaanidaudesliiuseunamanlag
fiansan Trial Vector fifiensnouvilildmmeu 5 annil

34.4.4 Selection fumeumsfaidenuszanslususely (G+1) Faazdnidonion

wilany Ameuiidndt Tnen1sSeuifiounaves Target Vector fu Trial Vector Tunsdldi

$ruruannfeudildves Trial Vector Andnw3ewinfiu Tareet Vector fauazidon Trial



a8

Vector Wuusznslugusoly daunisd 3.7 asuldhannistuneuvesinienusesinslu
ustoly Trial Vector vosan difidnld 5 anrdlerudedadanind Target Vector Adnlé
4 aoniluFainlviden Target Vector udneuiiffian uazvinmuseusilvallugudnly
3.4.5 AIATUIN WU “DE/best/Z” 32U Exponentlal 2 Position

34,51 nsasemmeuBudu (nitial population) mumaumiamwmu%a 0-1
Tiiuusazau iunisadie Target Vector wiarmeududuiieduadndulalunisdinu
asdonirusandumisuduresaneesfildluns Mutation uaz Crossover w38 Recombination
sely Jeuandliduantamiegnanind 3.2 wagansieil 3.1

3.4.52 Mutation Juneunismsusuasufifnlilameeulmifuvanuanssly
NNFUIIUYTEVINTLAY Lﬁaﬁ;ﬂﬂszmﬁﬁuaqmimmm TngAWIa Mutant Vector (Vig,1)
FaEun1s7i 3.15 wavaNunsananIiieg1an1s Mutation femns el 3.12

3.4.53 Crossover W3 Recombination Jumeuiini1suanilasufifnsemning
nmes %wﬂé’mﬂLmaﬁmajmaﬂﬁﬂmauﬁﬁﬂgﬂaﬂd%LavLLEJﬂdwashwmﬂ%aw Tnedinnsasng
Trial Vector (U.JG+1) Feaun1si 3.18 uay ‘vnmiqusJUmauwmimﬂummaﬂLﬂaau‘wm
Faaun1si 3.19 Feaunsauanidneeeiinnsadt 3.15 uas 3.16 fil

Ujes1 = (Utigr1, Uaiget, -, Upiger) (3.18)

Vijesr if (rand () < r1, () > r2

Uijc+1 =
XijG1 otherwise (3.19)

e

Vije+1 = Mutant Vector

Xijc+1 = Target Vector

CR = Crossover Constant $112U2531A1 0 94 1
Rand () = nMsdusunisiinaluiinges | j=1,2,3, .., G
(G=Snnufiin) ua 1, 12 = Afafgndusiumiadl 1 uag 2
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fl
= [

7135199 3.15 Wan1s Exponential Crossover 2 Position LINLABsN 1 AlGsuAUIS

“DE/best/2”
Vector Position
Position 1 2 3 4 5 6 7 8
Work 1 8 6 a4 2 3 5
Time 11 3 12 5 17 9 8 10
Vector 1 Target Vector 0.3 0.57 | 0.44 | 0.61 | 0.72 | 0.53 | 0.68 | 0.92
Mutant Vector | 0.32 | -0.22 | 0.47 | 1.03 | 0.16 | 0.26 | 0.59 | 0.57
rand(j) - - 3 - 5 - - -
Trial Vector 0.32 | -0.22 | 0.47 | 0.61 | 0.72 | 0.26 | 0.59 | 0.57

NANTNT 3.15 LAPINATDS Exponential Crossover 2 Position PRtLL
1 Faguiiinle r1 = 3 uae r2 = 5 fetu Trial Vector vasiiindl 1 - 3 wag 6 - 8 avldeves
Mutant Vector @usmunusau ¢ Nivaeazldniues Target Vector

A13197 3.16 wamsinaunaienisUsznaulagldan Trial Vector 31nm13199 3.15

Vector Station
Station 1 2 3 q
Work 8 1 6 4 7 5
Vector 1
Time 3 10 12 5 10 8 9 17
Trial Vector | -0.22 | 0.32 | 0.47 | 0.61 | 0.57 | 0.59 | 0.26 0.72

91nP15197 3.16 1ilotiAn Trial Vector Aildndnangaaenisszney
wuuigauieuludfusuneunduaznasuusazaanidaudesliiuseunamanlag
fiansan Trial Vector fifiensnnouvilildmmeu 5 annil
3.4.5.4 Selection %y’umaumiﬁmLﬁaﬂﬂﬁsmﬂﬂuiu@idﬂ (G+1) BaazdnLdonion
wilany Ameuiidndt Tnen1sSeuifisunanes Target Vector fu Trial Vector Tunsdldi
$ruruannfewudildves Trial Vector Aninw3ewinfiu Tareet Vector faduazidon Trial
Vector Wuuszanslugusioly feauntsd 3.7 aguldannistuneuvesdnidonuszang
Tususiely Trial Vector vesaniifidals 5 aandarudadadiauinnin Target Vector Aidnld
4 aonflendeilsiidon Target Vector iufmouiifian uagvinisusevdluilusudaly
fdeldagunaildannmssnniagmmsinaugamenisussnouuuusagit 6 35

v
aa

lng3FNugIu 1 35 Ae wuu “DE/rand/1” 71U Binomial Crossover kag35usuUss

43

A1MOU 575 AB 1) “DE/rand/1” $2ufU Exponential Crossover 1 Position 2) “DE/rand/1”
92111V Exponential Crossover 2 Position 3) “DE/ rand-to-best/1” 33U Binomial Crossover
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4) “DE/Best/2” 971AU Exponential Crossover 1 Position Wag 5) “DE/Best/2” $7uAU
Exponential Crossover 2 Position a’gﬂiﬁﬁﬂﬁ
(1) 38#ugu 135 = wuu “DE/rand/1” 574U Binomial Crossover Anwiailag

19353 unstagldnanialawingu 5 @andau Aemns1en 3.17

A15197 3.17 WaaguMsInaaniianaeds wuu “DE/rand/1” iU Binomial Crossover

Vector Station
Station 1 2 3 4 5
Work 8 6 1 3 2 4 5

Vector 1
Time 3 12 11 9 17 5 8 10
Trial Vector | 0.06 | 0.33 | 0.35 | 0.39 | 0.22 | 0.61 | 0.68 | 0.84

(2) FBUSUUTIAIRBUIT 1 = WU “DE/rand/1” 534U Exponential Crossover
1 Position Mualegld3siTauinisingltnannalavindu 5 @189 §an15199 3.18

A13197 3.18 waazUun15InEa1tlauaeds wuu “DE/rand/1” $7ufiu Exponential

Crossover 1 Position

Vector Station
Station 1 2 3 q 5
Work 8 1 6 a 2 3 5

Vector 1
Time 3 11 12 5 17 9 8 10
Trial Vector | 0.06 | 0.35 | 0.44 | 0.61 | 0.72 0.53 | 0.68 | 0.92

(3) FBUSUUTIAINOUIT 2 = WU “DE/rand/1” 534U Exponential Crossover
2 Position AMuialaeldisiTaunnsingltnasslaindu 5 @iy feanns1ei 3.19



An5197 3.19
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Haa7UN133nan1leuna833 wuu “DE/rand/1” $3ufiu Exponential

Crossover 2 Position

Vector Station
Station 2 3 5
Work 8 1 6 a 3 7
Vector 1
Time 3 11 12 5 17 9 10
Trial Vector | 0.06 | 0.35|0.44 | 0.61| 0.72 |0.39| 0.84 | 0.90

(4) 35USUUT9AMBUIT 3 = WUU “DE/ rand-to-best/1” 39Uy Binomial

Crossover Auadlaeldisiinuinisiagldnanialawiniu 5 @iy f#9n1s199 3.20

M19199 3.20 WaaFUNMIIRa1EIUA983T WU “DE/ rand-to-best/1” $3ufiu Binomial

Crossover
Vector Station
Station 2 5
Work 8 6 4 1 3 7
Vector 1
Time 3 12 5 11 17 9 10 8
Trial Vector | -0.07 | 0.45 | 0.61 | 0.78 | 0.25 | 0.22 | 0.49 0.68

(5) FBUTUUTIAMBUTT 4 = wuu “DE/Best/2” $3ufiu Exponential Crossover

1 Position MualegldisiTauinisinglanannalavindu 5 @18y fan15799 3.21

M1919% 3.21 WasTUN15IREANlauaqels wuu “DE/Best/2” $aufiu Exponential

Crossover 1 Position

Vector Station
Station 2 3 5
Work 8 1 6 4 3 5
Vector 1
Time 3 11 12 5 17 9 8 10
Trial Vector | -0.22 | 0.32 | 0.47 | 0.61 | 0.72 | 0.53 | 0.68 0.92

(6) FBUFUUTIAMOUTT 5 = wuU “DE/Best/2” $3ufiu Exponential Crossover
2 Position mualagldisiTaiuinistaeldnaniebawindu 5 @anidenu Aamns1en 3.22
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M1919% 3.22 waaFUN1I5INA01TIUA87T wWUU “DE/Best/2” 3qufiu Exponential

Crossover 2 Position

Vector Station
Station 1 2 3 q 5
Work 8 1 6 4 7 5
Vector 1
Time 3 10 12 5 10 8 17
Trial Vector | -0.22 | 0.32 | 0.47 | 0.61 | 0.57 | 0.59 | 0.26 0.72

1NN158519AMBULTURAY (Initial population) LFusuaInNIsAIUIALAETE35

aov o i = Yy v < v dl Y] = Y
nwuﬂmﬂmsﬂlﬂmamﬂmﬂm’i%‘m 1 U196U %L‘Muimﬂ Vector v 5 C\]ﬂaﬂ’]uqquvLWLV]’]ﬂ‘U

4 @089 AIANSIN 3.23

A1519% 3.23 WaAN15INEAITIUNTTES19ANNBULINAY (Initial population) L3UAUA2E

A3 unsieeldnanig

Vector Station
Station 1 2 3 q
Work 8 6 4 7 5 3 1
Vector 5
Time 3 12 5 11 8 9 11 17
Target Vector | 0.84 | 0.41 0.59 | 091 |0.76 | 0.32 | 0.98 | 0.48

wazvinsasulSeuiisumsiwinuiazIslagldisi Tnuinisiegldnasiduns

whdapnsdnaunaaienisusenauluuiig fapns1en 3.24
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M19199 3.24 agulEIsITamslagldnasisiuldyvnnsdnauaaaienisusznaunuudag

wAazIs
%g 1 2 3 4 5 6
DE DE DE DE DE DE DE-Target
Vector
Uy
Bowman 5 5 5 5 5 5 4
problem Station | Station | Station | Station | Station | Station Station
(1960)

[

NUYLNR: DE = WUy “DE/rand/1” $3ufu Binomial Crossover (Wugw)
DE” = WUU “DE/rand/1” saufiy Exponential Crossover 1 Position
DE3: WUU “DE/rand/1” 211U Exponential Crossover 2 Position
DE = WUy “DE/ rand-to-best/1” $aufu Binomial Crossover
DE5 = WUV “DE/Best/2” $1uiu Exponential Crossover 1 Position

6 1 U
DE = uuu “DE/Best/2” 33UnU Exponential Crossover 2 Position

9157 3.24 asuBmsdualasl i iannmsiaglinaiaiuiygmnisdn
augaaenisUszneukuuiigfulymdediaiuldindeinsinandnunuiouls
wuuiiguazliiuseunainisuan DE-Target Vector dadunsinsieisitmuinislneld
wasisfutlapmnnsinaunameonisuseneusuuigrlddneuiaigadl ¢ anndlaw = 8, 6, 4},
{7, 5}, 3, 13, {2} loiArAmaumifiu Data set ¥ Armin Scholl N133naunaaIen1sUseneau
wuugangalamifeaiuainauideves Armin Scholl (2016: Website) wanlifiiuinis
Timunslaglinasisuuuivusameuiulymnisdnaunamenisusenausuudaglvien
AmeuTiAian



uni 4
ada o

AATITINANITNAGDITT 1IN IagTdrasdeduiulynn
N1SINEHUAAEUN1TUTENBULUUAIY

TuuwﬁwL“T'jJumﬁLﬁmzﬁmam'i‘maaﬁ%’ifwmmﬂmsﬂ%’maGmﬁm%’uf]iymmﬁﬂama
mamsﬂimammuﬁwquﬁu%wuuavLLUU‘U%’UUNﬁmaULLavﬁ"nmiLU'%EmLﬁsmwaﬂ’ﬁ
NAaRITUIRBFaRnLuUI 4 ImEJmsammmiImsﬂfzmamamaui‘]wmmsmamamEJ
miﬂivﬂamw‘umEJLL‘UUW‘u%mLLa“LLU‘UUﬁ‘UUﬁmwmawﬁvﬂa‘uiﬂmEJ 6 Foweil

(1) wuu “DE/rand/1” 53U Binomial Crossover (‘wugm)

2
3

(2) WUU “DE/rand/1” 59uAU Exponential Crossover 1 Position
(

@

(

(

WUU “DE/rand/1” 311U Exponential Crossover 2 Position
WUU “DE/ rand-to-best/1” $2AU Binomial Crossover

5
6

WUU “DE/Best/2” 31U Exponential Crossover 1 Position
WUU “DE/Best/2” 3ufiu Exponential Crossover 2 Position

T O D~ ~—

4.1 NMIRATUSUATUNTINANARTIENITUTENBULUUAIY

MnnsuAtlamnsdnaunaamemsUszneu Tnsmsuszndlusunsunn Java (Fuuuiedos
AouTABSTU Core i3, 2.3 GHz, 2GB RAM UusyUuU{TAN"T Windows 7) fifmu13snns
wnEi3ain Ao WmsdnaunaaemsUssnouuutiguuUiuguuazuuuUS U s meulaed
Pseudo code LLazLquﬁﬂ%umaum'ﬁﬁwmm'ﬁ%’mam@amamiﬂixﬂamwuéhg A4NANWIN N

elunsuitiymnnsinaunaaisnisuszneunuuing Yssiand 1 agdunismeiney
yesdruuanlnuitesiian veaudazyalandtgmidiedn Alnsfvuadisounainig
Nan LLazﬁwmauﬁaﬁqm %alﬁ%@agammﬂ http://www.assembly-line-balancing.de again
sATeA 9 e ieldlumsdrsdauaziisudiouna lnefeeswesyatiymuazddiu
Funurou-uds Fananuan @

4.2 JumsunisiadugadisnisUsznauuuuiaglszand 1 Taeldis3munisiaeld
wasimwuﬁug'm
nsdnaunaaensUsznaUdesimuaa Tl MU Tnesuusdai R = Round
(Frauseunsmaaes) NP = S1uiutuseusu F = wiawaslunsuengnanis (Scaling factor)
uay CR = nsinsuaniudsuailufiie (Crossover rate) InonisAuinifvunly R=30 50U
NP=30 F=0.9 CR=0.8 Ronkkonen, Kukkonen and Price (2005) §3i1n1snnasaiitewidni
wnzauiana fail



55
TdymlandUgymves Sawyer (M 30 137 8 Instances) wazued Arcus 1 (il 83 TuY
16 Instances) 53uanuA 24 Instances

M1319% 4.1 Han1INAaINITIRauAadIen1sUTENaURUUAlgUsEIANT 1 lneld3s
Fimunislagldnasisuuiugiu DE/rand/1 $9uAU Binomial Crossover
nutsyin Sawyer wag Arcus 1

Problem c # DE/rand/1 Cal Time
to Binomial Crossover (sec.)
Sawyer 30 25 14 14 1.87
27 13 13 1.11
30 11 11 1.23
33 10 10 1.11
36 10 10 1.34
41 8 8 1.96
54 6 6 1.61
75 5 5 1.94
Arcus 1 83 3786 21 21 0.91
3985 20 20 0.89
4206 19 19 0.64
4454 18 18 0.85
4732 17 17 0.46
5048 16 16 0.31
5408 15 15 0.89
5824 14 14 0.64
5853 13 13 0.06
6309 13 13 1.98
6842 12 12 0.64
6883 12 12 0.79
7571 11 11 0.74
8412 10 10 1.97
8898 9 9 1.89
10816 7 7 1.98
Total optimal solutions found from
24 instances problem 24 1.16

WUIWA: m is the no. of station (m* is the optimal), c is the cycle time
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N9l 4.1 WunanismaaesnsdnaugaaenisuszneuluuiigUsziami 1 Tagld
3819murnislaglduad1suuufiugiu DE/rand/1 $2uy Binomial Crossover futgym
Sawyer uag Arcus 1 1INATTNHANIIMIARDIIS IannsTngldnasiauuuiiugu DE/rand/1
571AU Binomial Crossover a1nieym Sawyer lﬁlﬂl’]ﬁmauﬁaﬁqm 24 AMBU 91N 24 Instances
wazanAImUIIALedsnA e uTiATgaldnatade 1.16 Juil Fsnsdumdney
fffaaildinardesdiqn Ao Yami Arcus 1 7 cycle time windu 5853 4aan 0.06 Fundi
waznuIMsAuARouiARaslumsduandeufieusindy data set

4.3 funsunisiaaugadienisusznaunvuiaglsznnd 1 Ineld3535aunisiagld
Naf1auuUUFuUTeAIMau DE/rand/1 $9uiu Exponential Crossover 1 Position
nsdnaunaaensUsznaUdesimuaaldd Ui Tnesauusdail R = Round

(AMUNIUTDUNTNAGDI) NP = $mnudunouau F = uawmeslunsvenenasg (Scaling factor)

wag CR = $nsinsuaniUdsuailufifn (Crossover rate) TnanisAuanifiviuali R=30 seu

NP=30 F=0.9 CR=0.8 Ronkkonen, Kukkonen and Price (2005) i'faﬁwmwmaauﬁ'am

Ainzauianan fail
dalangdaymivas Sawyer (Al 30 U3 8 Instances) wazwa3 Arcus 1 (7l 83 Fusu

16 Instances) Squavan 24 Instances

M13°99 4.2 HAN1INARBINITIRANAAaIEA1TUTENBURUUAIgU LN 1 TneTdas
AimurnisiagldnasiisuuuyiuugesAmau DE/rand/1 59U Exponential
Crossover 1 Position fiutgynn Sawyer wag Arcus 1

Problem c - DE/rand/1 to Exponential Cal Time
Crossover 1 Position (sec.)
Sawyer 30 25 14 14 0.67
27 13 13 0.44
30 11 11 0.83
33 10 10 0.67
36 10 10 0.55
41 8 8 0.59
54 6 6 0.78
75 5 5 0.53
Arcus 1 83 3786 21 21 0.31
3985 20 20 0.89
4206 19 19 0.64
4454 18 18 0.55
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M13°9% 4.2 HAN1TNARBINITIRANAAFIEA1TUTENBURUUAIgU AN 1 TneTda5
Amunslaeldnadiisuuliulsedinau DE/rand/1 $9ufiu Exponential
Crossover 1 Position fulleynn Sawyer waz Arcus 1 (si9)

Problem c - DE/rand/1 to Exponential Cal Time
Crossover 1 Position (sec.)
4732 17 17 0.98
5048 16 16 0.77
5408 15 15 0.44
5824 14 14 0.34
5853 13 13 0.50
6309 13 13 0.61
6842 12 12 0.57
6883 12 12 0.99
7571 11 11 0.44
8412 10 10 0.34
8898 9 9 0.50
10816 7 7 0.61
Total optimal solutions found
from 24 instances problem 24 061

WUIWA: M is the no. of station (m* is the optimal) c is the cycle time

N5l 4.2 WunanismaassnsinaugaaenisuszneuluuiigUssamd 1 Tagld

W TmunslaglduasdisuuySulgedmey DE/rand/1 $aufiu Exponential Crossover
1 Position Audleym Sawyer Wag Arcus 1 910A19NNANITNAABIIDIMUINTIneTTNas1
wuuUSuUseAmeu DE/rand/1 591U Exponential Crossover 1 Position a1niayyn Sawyer
Idirndmouiffian 24 dMrou 910 24 Instances LA¥AINATINUTIALRABINAUMARBY
fiAnasldnanade 0.61 Juil damsrumAmeuiinfigaitlinariesiian Ae oy Arcus 17
cycle time Wity 3786 T4aan 0.31 Funit uagnuinsdumAneuiiaiigalunismaiua
anflnuiiguiniu data set

4.4 FupsunisdasugasenisUsnouuuuiagUszanii 1 Tael#333Yaunslagld
Naf1auuUUTUUgesAIMaY DE/ rand-to-best/1 $9ufu Binomial Crossover
nsdnaunaaensUsznausoat muaafilddmiunsdum Tneduusdal R = Round

(FMUUTDUNTNNADY) NP = $mnutupoua F = uawmeslumsuenenasng (Scaling factor)

uag CR = SasmuaniUdsuenlufifa (Crossover rate) TngnsAuanufiivuall R=30 sou
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NP=30 F=0.9 CR=0.8 Ronkkonen, Kukkonen and Price (2005) 39n1snaasaiiieniadii
wnzauFana fail
Tyalandtlammes Sawyer (@l 30 Fus1u 8 Instances) wazes Arcus 1 (7 83 $uau
16 Instances) F3uMavin 24 Instances
A151971 4.3 Wan1IMAReInIsinaunaaenisUsznauLuUdigUssiani 1 Taeldas
MaunslaglinadisuuuyiuuseAneu DE/rand/1 $9uiu Exponential

Crossover 2 Position fiutgynn Sawyer wag Arcus 1

Problem c m* DE/rana/1 to Expo'n.ential Cal Time (sec.)
Crossover 2 Position
Sawyer 30 25 14 14 0.11
27 13 13 0.13
30 11 11 0.42
33 10 10 0.67
36 10 10 0.55
41 8 8 0.59
54 6 6 0.38
75 5 5 0.07
Arcus 1 83 3786 21 21 0.54
3985 20 20 0.17
4206 19 19 0.14
4454 18 18 0.31
4732 17 17 0.89
5048 16 16 0.64
5408 15 15 0.06
5824 14 14 1.98
5853 13 13 0.24
6309 13 13 0.55
6842 12 12 0.54
6883 12 12 0.47
7571 11 11 0.98
8412 10 10 1.98
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M13°9% 4.3 WAN1INAARINITIRaNRadIen1sUsENaULUUAEUTEIANT 1 Tneldas
AaunslagldnadiiuuliulieRnau DE/rand/1 $9ufiu Exponential
Crossover 2 Position fulleynn Sawyer waz Arcus 1 (si9)

DE/rand/1 to Exponential
Problem C m* . Cal Time (sec.)
Crossover 2 Position
8898 9 9 0.24
10816 7 7 0.55

Total optimal solutions found
24 0.53

from 24 instances problem

WU m is the no. of station (m* is the optimal), c is the cycle time

MNANs1e7 4.3 WunanismaassnsinaugaaenisuszneutuuiigUssiamd 1 Tagld
W Twunslagldnasisuuyulsedmeay DE/rand/1 $aufiu Exponential Crossover
2 Position Autaynn Sawyer uag Arcus 1 I1NAITNRNANITNABDIID I IAUINITIAETTHAAI4
wuuUTuUseAImeu DE/rand/1 534U Exponential Crossover 2 Position a1nteynn Sawyer
Igiendmeuiiifian 24 Mrou 910 24 Instances LA¥AINATINUTIALRABIINAUMARBY
Arfigaldinaniade 0,53 Fuil Feamsdumdmeuinfigaildinaiesdian Ao Jam Arcus 1 1
cycle time Wiy 5408 H1aan 0.06 Ui wazanmsfusnAeuTiATigalasisisiTauns
IngldnaniswuuysuuseA1neu DE/rand/1 $3uAU Exponential Crossover 2 Position
Aumdmeuiinfigauesiuuaannuitsumiiiy date set

4.5 dumeunsinaunasenisUsznaunuudagUssand 1 Tagl#353Saunislaglduasing
wuuySuUseAnau DE/ rand-to-best/1 391U Binomial Crossover
nsdnaunaaensUsznaUdesimuaa Tl mTunsu Tnesuusdai R = Round

(fruauseunsmaaes) NP = S1uiutuseusu F = wiawaslunsuengnanis (Scaling factor)

uay CR = nsnsuaniudsuailufiie (Crossover rate) TnonisAuinfvunly R=30 50U

NP=30 F=0.9 CR=0.8 Ronkkonen, Kukkonen and Price (2005) 3winn1snnaoaiiteniandi

wnzaufanaT il
Tanlanddamnues Sawyer (il 30 491U 8 Instances) uazvos Arcus 1 (i 83 Fuau

16 Instances) TastMsA 24 Instances
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M13°99 4.4 HAN1INARBINITIRAURAFI8NISUSENOULUUALEUsEIANT 1 1neld3s
Fimun1siagldnanisuuuysuusaainay DE/rand-to-best/1 $aufiu
Binomial Crossover fiudgynn Sawyer uag Arcus 1

Problem c - DE/ rand-to-best/1 Cal Time
to Binomial Crossover (sec.)
Sawyer 30 25 14 14 1.87
27 13 13 0.98
30 11 11 0.77
33 10 10 0.44
36 10 10 0.34
41 8 8 0.50
54 6 6 0.61
75 5 5 0.57
Arcus 1 83 3786 21 21 0.31
3985 20 20 0.89
4206 19 19 0.64
4454 18 18 0.55
4732 17 17 0.46
5048 16 16 0.31
5408 15 15 0.89
5824 14 14 0.64
5853 13 13 0.06
6309 13 13 1.98
6842 12 12 0.24
6883 12 12 0.59
7571 11 11 0.54
8412 10 10 0.47
8898 9 9 0.51
10816 7 7 0.98
Total optimal solutions found from
24 instances problem 24 067

WUILNG: M is the no. of station (m* is the optimal) c is the cycle time

91nM15197 4.4 1Wunanisveaenisdnaunaaien1susenouluumiglsznni 1
lagld353Taun1slaelduasiiwuudsulseAmay DE/ rand-to-best/1 533U Binomial
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Crossover futleynn Sawyer wag Arcus 1 fullgyn Sawyer larAnauiiaian 24 Amau
31N 24 Instances wAZAINAITNNUIIANAAEIINAUMAINOUNATZALEIALREY 0.67 T
Fan1srumArneuiinfgailtdiiaitesnign fe Jaym Arcus 1 91 cycle time winfu 5853

19381 0.06 3U7 warMsPUMmAIRBUNRNanveIIIUEn UL AgUWINAU data set

9

yada v

4.6 duneunsinaunasensUsznauuuagUssand 1 Tagl#353Saunislaglduasing
wuuySuUseAnau DE/Best/2 $9unU Exponential Crossover 1 Position
nsdaunaamensUsznaufestmunillddmiunsdunn laesfudsdsd R = Round

(F1uusounsnaaed) NP = sruaudumeunu F = wiameslunisvenenasiis (Scaling facton)

way CR = snsnsuaniUdsuailufiin (Crossover rate) Tnenseuiaiivuals R=30 seu

NP=30 F=0.9 CR=0.8 Ronkkonen, Kukkonen and Price (2005) 3s¥1n1svinaaiitoniand

wnzauanan feil
Tdaalangtiymues Sawyer (fifl 30 $usmu 8 Instances) uazaas Arcus 1 (7ifl 83 T

16 Instances) Squvavn 24 Instances

M1319%1 4.5 wanN1INAasINIsIndunag1en1sUsznauluualgUsEiani 1 lagldads
Aaunsiagldnadiiuuliulierinau DE/Best/2 saufiu Exponential
Crossover 1 Position fulleyn Sawyer wag Arcus 1

Problem c - DE/best/2 to Exponential Cal Time
Crossover 1 Position (sec.)
Sawyer 30 25 14 14 0.07
27 13 13 0.12
30 11 11 0.08
33 10 10 0.18
36 10 10 0.05
41 8 8 0.04
54 6 6 0.09
75 5 5 0.06
Arcus 1 83 3786 21 21 0.30
3985 20 20 0.06
4206 19 19 0.07
4454 18 18 0.10
4732 17 17 0.28
5048 16 16 0.08
5408 15 15 0.12
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M13°99 4.5 HAN1INAABINNTIRFNRAF18N1TUIENaULUUAIEUsEIANT 1 1ngldaT
Aaunsiagldnadisuuliulierinau DE/Best/2 s9ufiu Exponential
Crossover 1 Position fulleynn Sawyer waz Arcus 1 (si9)

DE/best/2 to Exponential Cal Time
Problem C m*

Crossover 1 Position (sec.)

5824 14 14 0.04

5853 13 13 0.06

6309 13 13 0.09

6842 12 12 0.19

6883 12 12 0.38

7571 11 11 0.35

8412 10 10 0.22

8898 9 9 0.45

10816 7 7 0.71

Total optimal solutions found from
. 24 0.17
24 instances problem

WA M is the no. of station (m* is the optimal) c is the cycle time

159l 4.5 WunanismeasenisinaunaaensUszneuuuuiagUssiand 1 Tngld
BITaunstagldnanisuuudsuusea1neu DE/Best/2 $9ufiu Exponential Crossover
1 Position Audlay Sawyer Wag Arcus 1 9INANTNRANIINAARIDVIAIUINTIAeldNasn
wuuUSuUseA1meU DE/Best/2 $aunu Exponential Crossover 1 Position 31ngymn Sawyer
IdiAndmeuiiifian 24 dnou 910 24 Instances LALAINANTIIHUIIALRABINAUMAABY
frfigeldinaieds 0.17 Juni Gensdumdneuiidngailinaitiosiian Ao Jaym Arcus
17 cycle time Wiy 5824 14111 0.04 3undl waztamn Sawyer cycle time wirffu 41
T#19a1 0.04 Funit uagmsFumAmeuTiATgnvess e fmufisusintu data set

4.7 dumeunsdasugamenisusznaunuuiagUssand 1 Inel#asa%aunmslagldnasing
wuuUsuUgeA1naU DE/Best/2 $7afiu Exponential Crossover 2 Position
nsdnaunaaensUsznaudesimuaa Tl MU Tnesuusdai R = Round

(Sruusaunsmaaes) NP = S1uutuseunu F = uawmeslunisveenasnis (Scaling factor)

uag CR = snsmsuaniudsudnlufida (Crossover rate) TngnnsAuaufvual R=30 sou

NP=30 F=0.9 CR=0.8 Ronkkonen, Kukkonen and Price (2005) 3sin1snnasaiitennii

WnzauFana fail
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TdymlandUgymves Sawyer (M 30 137 8 Instances) wazued Arcus 1 (il 83 TuY
16 Instances) 53U79MUA 24 Instances

M13°99 4.6 HAN1INAABINTTIRANAAFI8NISUSENOULUUALEUsEIANT 1 1neld3s
Amuinslagldnaiiwuuliuusernau DE/Best/2 s9ufiu Exponential
Crossover 2 Position fiutgynn Sawyer wag Arcus 1

Problem c - DE/best/2 to Exponential Cal Time

Crossover 2 Position (sec.)

Sawyer 30 25 14 14 0.08
27 13 13 0.09

30 11 11 0.10

33 10 10 0.11

36 10 10 0.15

41 8 8 0.19

54 6 6 0.38

75 5 5 0.35

Arcus 1 83 3786 21 21 0.14
3985 20 20 0.11

4206 19 19 0.23

4454 18 18 0.98

4732 17 17 0.16

5048 16 16 0.25

5408 15 15 0.06

5824 14 14 1.98

5853 13 13 0.24

6309 13 13 0.55

6842 12 12 0.54

6883 12 12 0.16

7571 11 11 0.25

8412 10 10 0.06

8898 9 9 1.66

10816 7 7 0.78

Total optimal solutions found

from 24 instances problem 24 040

WA m is the no. of station (m* is the optimal), c is the cycle time
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1597 4.6 WunansmaaeInsinaunaaensUsEneuLUUigUsEIANT 1 Tag
1E5 Tmunsleglduasisuuuusuussdmeu DE/Best/2 59ufiu Exponential Crossover
2 Position AUty Sawyer wag Arcus 1 91NAISNNANITNAADII0IIRUINISIalTNaA1
wWUUUSUUTeAmaU DE/Best/2 $3uriu Exponential Crossover 2 Position 31n{ayy Sawyer
IdiAndmeuiiifian 24 dnou 910 24 Instances LALAINATITRUIIALRABINAUMAABY
Arfigaldinanade 0.40 Junit Fesnsfumdmeuidngalinartosian Ao Jym Arcus
1 1 cycle time Wiy 5408 war 8412 nanwinduie 0.06 3uft wagn1sAumFnaUf
ﬁqmsuaqmmuamumumauwrm‘u data set

@Quuw’]ﬂ’]il,‘d5EJUL‘1/IEJUT55U@QT63WM1HW]§IG]EJISUNaWNLL‘U‘UWU%’]uLLa TRV RATRIEN
mmaw’lmaaﬂumiﬂummmawmmaﬂﬂuﬂmm Sawyer (7iil 30 4911 8 Instances) &
ANl 4.1

Sawyer Problem

2.0+

1.8 4 |

1.6 b

DEfrand/1 to Binomial Crossover

DEfrand/1 to Exponential Crossover 1 Position
1.4 \
DEfrand/1 to Exponential Crossover 2 Position

-
> & 4 =

1.2 A DE/ rand-to-best/1 to Binomial Crossover

Time (sec.)

»

1 DE/Best/2 to Exponential Crossover 1 Position
1.0 4 A

DE/Best/2 to Exponential Crossover 2 Position

0.8

4
4

0.6 - G ... g
0.4 Yoo T ™~ -
* -
4 o
0.2 a -
= »——
p al et *
& L 3 ® L
0.0 —_— — —_—
20 30 40 50 60 70 80
Cycle Time

= n:i = ac ada v v ' & o
A 4.1 n1swWTeuliieudsvesisitauinisiagldnasiinuuiugiunaziuuuiulge
¥

AmauitldiianlunisduniAinaunangaiuldami Sawyer (Mdl 30 Yueu
8 Instances)

31N0N7 4.1 WudAgITmuinistagldnasitawuulul eAineu DE/Best/2 51y

. ) aa & & ad v ° al

Exponential Crossover 1 Aulleynn Sawyer (13 30 9ua1u 8 Instances) {uiSAuMAmaun

AnannldnadeengalieiSeuiieuiuisiTaunisiagldnaniawuuau o lneldhnanadely

N13AUMIAINBUNANAAWINIY 0.09 kagdsiiauinisiagldnasnisuuuiiugiu DE/rand/1
320U Binomial Crossover fullayun Sawyer (9131 30 91914 8 Instances)
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FL%’nmmm?iamwhﬁ’U 1.52 3wl LLawmiﬁumﬁwmauﬁaﬁamaﬁwmuamﬁmmﬁsmwhﬁu
data set LLa‘”‘Vﬂﬂ’]iLUiEJ‘UL‘V]EJU’JS“UEN?GUWML!’]ﬂ’]’iIG]EJSL%NaGI’NLL‘UUW‘u%’MLLa CIONRTETIES
mmauw‘lﬂma'ﬁ,uﬂ’liﬂummmaummwamﬂuﬂmm Arcus 1 (7 83 9usu 16 Instances)
Fanmii 4.2

Arcus 1 Problem

[—H— DE/Best/Z to Exponential Crovsover 2 Position

!- — -
1 M 1
[ oE/Besvz to Exponential Crossover 1 Pesition] |

Time (sec.)

-u-"' Hl'!

Time (sec.)
5

- a2
1 I 1 n
_A_ DE/ rand-ta-bast/] 1o Binamisl Crosssver I

\A S
& A“A — A A A

1 "
|+ DE/rand/l ta Exponantial Crossaver 2 Position ]

® e ‘/ — > _———»
N P ~—

I " " 1 4 1 4
I_v_ DEfrands1l to Expanential Crossowver 1 Dnunnr\l

L

ocfal@ cspo ‘

Time (sec.)
5

Time (sec.)
5

Time (sec.)
b

(=]
[f =]
R I I B L G I O O O A R BN AL R R B B LN LN LA N B RN

Time (sec.)
5

| B OEfrands1 Iﬂ“lnnmlal[mccmﬁrl

1 " 1 " 1 4 1 3
4000 6000 8000 10000 12000

Cycle Time

ada o

awdl 4.2 mawfSeuiiisuitvesisitaunmslasldmadauuuiiuguuasuoudivys
anauiildinanlunisdumdineuiiafigaduim Arcus 1 (@ 83 Jusy

16 Instances)

1WA 4.2 wuisiTmunisiagldnadisuuuyiulssdiney DE/Best/2 $aury
Exponential Crossover 1 futlayna Arcus 1 (71l 83 Fua1u 16 Instances) tJuiSAuw
fnouiiafigaiildnardesiigadeIsuisuiuisifaunisiaglduamauuudu 4 Tagld
nanadslunsfumdineuiiafigainty 0.22 wagdsiimunslasldnasiauuuiiugin
DE/rand/1 $3uffu Binomial Crossover ffulleym Arcus 1 (fifl 83 $uau 16 Instances)

Tdannniigamindu 0.98 Uil uazn1sdunmidneuiifiigauessiuruaniday
Wiguwiiu data set
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4.8 wamsiUTeufisuizitaunisleeldnasiaueudisuiuiswndsainissu o
nNan1snaansavtiulai13sitauinisinelduaniauuyu DE/Best/2 521U
Exponential Crossover 1 1{uAsAdumeardneufiafigalunismduuanidonaglding
toeianlunsfumdneuiifian
FiiuF e Tauinisingldnan1suuy DE/Best/2 saufu Exponential Crossover 1
uhmsTeuiisuiuiBiumatainisau q Wetaussansamlunisdumeineuiaige
TaegAdelsinsiTeuiuitssuuun dalduandunsad 4.6
a5197 4.7 nrsTeuiisunavedziauintslaeldnasiauuy DE/Best/2 saufiu
1

Exponential Crossover 1 iU 35353UUNA

IP ACO™" | DE/best/2 to Exponential 1 position
solution*
. Cycle
Problems Size : cal.
time
m* m m % Time E
(sec.)
14 8 8 8 0 0.05 93.75
Mitchell 21 15 8 8 8 0 0.03 87.75
21 5 5 5 0 0.01 100.00
138 8 8 8 0 0.09 92.75
205 5 5 5 0 0.07 99.99
216 5 5 5 0 0.13 94.81
Heskiaoff 28

256 4 4 4 0 0.16 100.00
324 4 4 4 0 0.09 79.01
342 3 3 3 0 0.12 99.81
25 14 14 14 0 0.07 92.57
27 13 13 13 0 0.12 92.31
30 11 - 11 9.09 0.08 98.18
Sawyer 30 36 10 10 10 0 0.05 90.00
a1 8 8 8 0 0.04 98.78
54 6 - 6 16.67 0.09 100.00
75 5 5 5 0 0.06 86.84
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a

AN5197 4.7 n1siUSeuisunavaelsITauIn1siaeldnan1awuy DE/Best/2 S9:NU
1n

Exponential Crossover 1 iU 3553UUNA (FD)

*%

P ACO DE/best/2 to Exponential 1 position
solution*
. Cycle
Problems Size : cal.
time
m* m m % Time E
(sec.)
57 10 10 10 0 0.11 96.84
79 7 7 7 0 0.12 99.82
Kilbridge & | 92 6 6 6 0 014 100.00
Wester
138 4 4 4 0 0.14 100.00
184 3 3 3 0 0.15 100.00
Total optimal solution (or lower bound) 19 21/ 1.23/ 0.09/ 95.39/
found from 21 instances problem inst. inst. inst. inst.

WUBNA: ¥ IP solution = Integer Programming solution, result from Urban (1998: 740)
** ACO by Zhang et al. (2008)
*** DE1 = DE/best/2 to Exponential 1 position
*is the optimal solution
AyuALAn F = 0.9 Ronkkonen, Kukkonen and Price (2005) CR = 0.8 N = 30
Round = 30, m is the number of station, % is the average relative

deviation from the best know solution, E = Efficiency of Balance

91115797 4.7 uansHan1sMaaBINNIInaunaaenisUsneutuuiay Tulanddam
uInnans (21-45 Fuan) §1e353 munstnglduasiswuy DE/Best/2 T3y Exponential
Crossover 1 fuAsszuuun (Wldszyuveandasmeuinmesalilummveass) uaziieudiou
fuerdmeuifu lower bound v3e AmeuiiAiigadulunainauideves Urban (1998)
(finmassuuiades Pentium 90 MHz Tagldlusunsu CPLEX 3.0) Tngldlandtaymsiogng
4 % (Sqm{jiwwaq Mitchell, Heskiaoff, Sawyer wag Kilbridge & Wester) sl 21-a5 Gflgu\‘ﬂu
wagdl 21 Instances MnuadnSlunsAdnuanlnuitesiign duanslumsamuiniz
Fannnsiaelduasnanuu DE/Best/2 5w Exponential Crossover 1 @nansavdnneuiia
figald 21 AmoUaIN 21 Instances FaaunsamiAIAIRBUARTIgAlFRNINTEUVLATINNAY
Ameufifiian 19 Aneuain 21 Instances FeainnsTeuliisusanisned 4.7 Wuyaiaym
YPIANA (21-45 Tue1)

wazfifeldinmeassnisdaaugaanenisusznaunuudiay lulandyedamuuelng
(75-297 $u9w) uazvmsieudsugaiymanalug (75-207 $uam) fe3siimunis
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Tngldnan1auuy DE/Best/2 521U Exponential Crossover 1 U35 MMAS (no local search)

Nuchsara K. and et al (2007a, 2007b) Talakandalum1s19 4.8, 4.9 wag 4.10 AUaINUT

Jumsrsyaeaiundulymuualvg (75-297 dusn)

M1519% 4.8 nsiUTeuiisunaveadsitsauinisinelduasiswuy DE/Best/2 $aufu
1

Exponential Crossover 1 iU 3552UU MMAS (no local search)

Optimal - e
MMAS DE1
solution
Cycle
Problems| Size cal. cal.
time
m* m % | Time E m % | Time E

(sec.) (sec.)
Wee-mag | 75 28 63 63 0 1.19 93.75 63 0 0.12 93.75
21 inst. 29 63 63 0 1.19 87.75 63 0 0.14 87.75
30 62 62 0 1.23 | 100.00 | 62 0 0.07 | 100.00
31 62 62 0 1.14 89.82 62 0 0.05 89.82
32 61 61 0 1.16 88.89 61 0 0.10 88.89
33 61 61 0 1.22 92.75 61 0 0.28 92.75
34 61 61 0 1.22 99.99 61 0 0.08 99.99
35 60 60 0 1.22 94.81 60 0 0.12 94.81
36 60 60 0 1.25 | 100.00 | 60 0 0.04 | 100.00
37 60 60 0 1.23 79.01 60 0 0.06 79.01
38 60 60 0 1.19 99.81 60 0 0.22 99.81
39 60 60 0 1.14 92.57 60 0 0.08 92.57
40 60 60 0 1.25 92.31 60 0 0.19 92.31
41 59 59 0 1.19 98.18 59 0 0.10 98.18
42 55 55 0 1.16 98.18 55 0 0.11 98.18
43 50 50 0 1.30 90.00 50 0 0.15 90.00
45 38 38 0 4.31 98.78 38 0 0.19 98.78
46 34 34 0 3.59 | 100.00 | 34 0 0.38 | 100.00
52 31 31 0 2.59 86.84 31 0 0.35 86.84
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AN5197 4.8 n1sUSeuisuNaYe93sITAIUINISIneldNafn19LUU DE/Best/2 S9:NU
1n

Exponential Crossover 1 iU 7552UU MMAS (no local search) (#ia)

Optimal - -
MMAS DE1
solution
Cycle
Problems| Size | cal. cal.
time
m* m % Time E m % | Time E
(sec.) (sec.)
54 31 31 0 1.17 | 96.84 | 31 0 0.22 | 96.84
56 30 30 0 155 | 99.82 | 30 0 0.45 | 99.82
Total imal soluti
otal optimat solution 21/ | 0 | 158/ [ 9430/ | 21/ | 0 | 0.17/ | 94.30/
found from 21 instances problem| , . . . . .
inst inst inst inst inst inst

WUELHR: m* is the optimal solution
** MMAS (no local search) by Nuchsara and et al (2007a; 2007b)
***DE1 = DE/best/2 to Exponential 1 position
AMuualyan F = 0.9 CR = 0.8 N = 30, Round = 30 Ronkkonen, Kukkonen and
Price (2005), m is the number of station, % is the average relative deviation
from the best know solution, E = Efficiency of Balance

91113797 4.8 uAnsHANIIMIAABINNTIRaNnaaEn1sUsEneuLUUaY Tulanddam
qu v (75-297 Suemy) fe3ddTmunisiagldnasiuuy DE/Best/2 sauifu Exponential
Crossover 1 AU3858UU MMAS (no local search) (%’uuuﬁuaqm%aﬂauﬂumaﬁu Pentium
4, 3.0 GHz 512 MB RAM uuszuuUfURnis Window XP) uagilseuiisuiuaiAiney Data set
Falddoyantann http://www.assembly -line-balancing.de lngldlanddeymdaegne 3 ga
Imwm{jmmmﬂmi’]w 4.8 w89 Wee-mag 7131 75 Fuanu uazdl 21 Instances fauandunag
WU T uIN1slaeldnan1sluy DE/Best/2 591U Exponential Crossover 1 @139
Fumeaeuldinandidesnit 335zuu MMAS (no local search)
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AN519% 4.9 n1siUSeuisuNavaelsITaIuIn1siaeldNan1aLuU DE/Best/2 S9:NU
1

Exponential Crossover 1 iU 7555UU MMAS (no local search)

Optimal " -
o MMAS DE1
solution
. Cycle
Problems| Size : cal. cal.
time
m* m % | Time E m % Time E
(sec.) (sec.)
Arcus1 | 83 3786 21 21 0 1.03 | 100.00| 21 0 0.30 | 100.00
16 inst. 3985 20 20 0 1.00 | 8364 | 20 0 0.06 | 83.64
4206 19 19 0 1.08 | 89.82 | 19 0 0.07 | 89.82
4454 18 18 0 1.03 | 8889 | 18 0 0.10 | 88.89
4732 17 17 0 1.02 | 92.75 17 0 0.28 92.75
5048 16 16 0 1.05 | 9999 | 16 0 0.08 | 99.99
5408 15 15 0 1.08 | 9481 | 15 0 0.12 | 94.81
5824 14 14 0 1.10 | 100.00| 14 0 0.04 | 100.00
5853 13 14| 7.69 | 1.05 | 79.01 | 13 0 0.06 | 89.63
6309 13 13 0 1.07 | 99.81 | 13 0 0.09 | 99.81
6842 12 12 0 1.03 | 9257 12 0 0.19 92.57
6883 12 12 0 1.03 | 9231 | 12 0 0.38 | 9231
7571 11 11 0 1.04 | 98.18 | 11 0 0.35 | 98.18
8412 10 10 0 1.05 | 98.18 10 0 0.22 98.18
8898 9 9 0 1.03 | 90.00 9 0 0.45 | 90.00
10816 7 8 | 14.29| 1.04 | 98.78 8 | 1429 | 0.71 | 98.78
Total optimal solution 14 | 1.37/| 1.05/| 93.61/| 15 | 0.89/ | 0.22/ | 94.34/
found from 16 instances problem inst | inst inst inst inst inst

VUGA: m* is the optimal solution
* MMAS (no local search) by Nuchsara and et al (2007a; 2007b)
***DE1 = DE/best/2 to Exponential 1 position
MyuAbAAT F = 0.9 CR = 0.8 N = 30, Round = 30 Ronkkonen, Kukkonen and
Price (2005), m is the number of station, % is the average relative deviation

from the best know solution, E = Efficiency of Balance

1NM19199 4.9 ULaRINANITNARBIN1TIRaNfaaen1sUsEnaukuusiig Tulangdym
YUINGY (75-297 Tu9U) A3 Tmun1slaeldas1anuy DE/Best/2 $9uiU Exponential
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Crossover 1 fU3S52UU MMAS (no local search) waziU3euiisufiuiminau Data set &4
ladayan1an http://www.assembly-line- balancing de lngldlangdgymdiedna 3 yn lng
yatlymanasei 4.9 yadamives Arcus 1 i 83 Fuau wazdl 16 Instances AnNadWS
Tunsmduuanieuiitdesiign faandunsmuiizifauinisleglduamauuy
DE/Best/2 7uAvU Exponential Crossover 1 mmmmﬁmauﬁﬁﬂ'qmiﬁ 15 ANMBUIIN
16 Instances FaanansamAAInoUiAigaAnin 33suu MMAS (no local search) v
AmeuTifign 14 AN 16 Instances LaTMSAUINALMAMBUTRTIAAT5 Tannslng
Tduanawuy DE/Best/2 $3u1U Exponential Crossover 1 aunsaduniminauldiiandi
N1 858UU MMAS (no local search)

A5197 4.10 n1sUSsuisunarasiiiTauinisinelduadiauuy DE/Best/2 saufiu

Exponential Crossover 1 iU 7552UU MMAS (no local search)

Optimal " -
MMAS DE1
solution
Cycle
Problems |Size | cal. cal.
time
m* m % Time E m % Time E
(sec.) (sec.)

Scholl 297 | 1394 50 51 2.00 | 12.08 |100.00 | 51 2.00 |[12.28 |100.00

25 inst. 1452 48 49 2.08 |16.10 |86.84 | 49 2.08 [11.08 | 86.84
1483 47 48 | 2.13 | 11.30 | 96.84 | 48 2.13 [11.30 | 96.84
1515 46 47 217 | 1155 |99.82 | 47 2.17 |11.55 | 99.82
1548 45 46 222 1192 (89.82 | 46 222 [11.92 | 89.82
1584 44 45 227 |11.63 |88.89 | 45 227 [11.63 | 88.89
1620 43 44 | 233 | 1191 (9275 | 44 233 | 1191 | 92.75
1659 42 43 | 238 | 11.97 [99.99 | 43 238 |11.97 | 99.99
1699 41 42 | 244 |12.28 (9481 | 42 2.44 |12.28 | 94.81
1742 40 41 250 |11.08 [100.00| 41 2.50 [11.08 |100.00
1787 39 40 | 256 | 11.96 | 79.01 | 40 2.56 [11.96 | 79.01
1834 38 39 2.63 | 1145 |99.81 | 39 2.63 | 11.55 | 99.81
1883 37 38 | 270 | 1222 | 9257 | 38 270 |12.30 | 92.57
1935 36 37 277 1230 9231 | 37 277 [12.10 | 92.31
1991 35 36 286 | 12.10 [98.18 | 36 2.86 |[11.55 | 98.18
2049 34 35 294 | 1155 [98.18 | 35 294 |[12.03 | 98.18
2111 33 34 3.03 |12.30 |[90.00 | 34 3.03 [12.85 | 90.00
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A1519% 4.10 n15USeUiguNaYe93sITauIn1siaeldnan1uy DE/Best/2 $auAU
Exponential Crossover 1 iU 7552UU MMAS (no local search) (#ia)
Optimal " -
MMAS DE1
solution
Cycle
Problems |Size | cal. cal.
time
m¥* m % Time E m % |Time E
(sec.) (sec.)
2177 32 33 3.13 | 12.10 | 98.78 33 3.13 |11.55 | 98.78
2247 31 32 3.23 | 11.55 |100.00 | 32 3.23 |11.92 {100.00
2322 30 31 3.33 | 12.03 | 86.84 | 31 3.33 [11.63 | 86.84
2402 29 30 3.45 | 12.85 | 96.84 30 3.45 (1191 | 96.84
2488 28 29 357 |12.84 |199.82 | 29 357 |11.97 | 99.82
2580 27 28 3.70 | 12.81 | 9257 28 3.7 11228 | 92.57
2680 26 27 3.85 | 11.77 | 92.31 27 3.85 |11.08 | 92.31
2787 25 26 4.00 | 12.63 |98.18 26 4.00 [11.99 | 98.18
Total optimal solution 0 2.81/ (12.17/ |94.61/ 0 2.81/ |11.8/ [94.61/
found from 25 instances problem inst. | inst. | inst. inst. |inst. | inst.

WUELHR: m* is the optimal solution
** MMAS (no local search) by Nuchsara and et al (2007a; 2007b)
***DE1 = DE/best/2 to Exponential 1 position
Auualyan F = 0.9 CR = 0.8 N = 30, Round = 30 Ronkkonen, Kukkonen and
Price (2005), m is the number of station, % is the average relative deviation
from the best know solution, E = Efficiency of Balance

91NAN5797 4.10 uAnsHaNITNAaBINTTInaNRaaenTUsENe ULUUEIY Tulanddaym
qunelng (75297 Jueny) §ae3s3amnmsiagldnasisuuy DE/Best/2 S3uifu Exponential
Crossover 1 fU3S52UU MMAS (no local search) waziU3euifisufiuiminau Data set &4
ladayau1an http://www.assembly-line- balancing de Imsf[,sﬁﬁmﬂﬂmmmamq 3 9 lag
yatlymainased 4.10 yatymves Scholl A 297 Fusy waedl 25 Instances fauans
Tum519nuIn3sTTmunasiaglanas1suuy DE/Best/2 $auru Exponential Crossover 1
nsAumMALIAmeUTATigeIs I Tmuinislagldnasnauuy DE/Best/2 53U Exponential
Crossover 1 anansadumdnauldinaniitiosniiisssuy MMAS (no local search)

asu NAN9197 4.8, 4.9 uaz 4.10 ATUEU ﬁwmﬂfgmsuumimg (75-297 Fuau)
WEnINaNINARRINITIRANRAeNsUsENaURUUAY Tulanddywwunelve (75-297 Fuam)
A5 TN slegldnan 19Uy DE/Best/2 SaAU Exponential Crossover 1 fiU35ssuu MMAS
(no local search uaziUFBuLisuAUAIR1RDU Data set Fslddoyasnann http://www.assembly-
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line-balancing.de ajuluninsiulagldlanddgymdieene 3 ga (adynives Wee-mag,
Arcus 1 uaz Scholl) 7ifl 75-297 $uaiu uaedl 62 Instances RnwadwslunismaIgIuaY
annawiitdesiian dauandunsramuinisifmuinislaeg Tnasiauuy DE/Best/2 sy
Exponential Crossover 1 mmsamﬁmauﬁaﬁqﬂﬁ 36 AIABUAIN 62 Instances FaaNTaM
AmauTiAigaldifindn 385UU MMAS (no local search) fivnAndneuiiffign 35 Ameu
9711 36 Instances WagMIAUMAUMAMDUTATENIET Taunstaelduasnauuy DE/Best/2
311U Exponential Crossover 1 @15adumidinauldinanditesndt 3355UU MMAS (no
local search) @sannisiiFeuliisusanisnedl 4.7 Jugadgymauinnais (21-45 Fugm)
LAZAINANSNT 4.8, 4.9 uaz 4.10 MU Lﬁusqﬂﬂiwwmmmn (75-297 4us) waylds
MUsBUIs TanslagldnassuuiuguiasuuuUSuUsssme ufuiBiumaisannuuy
u 7 Tulymnisinaunasenisusenauwuudg Ustnndl 1 fananuan 1 051971 4.2 - .6
fugatlamuuusiag UALBP-1 fifluunanans (21-45 uam) wae gndlymiuuing UALBP-1 713
queilvigy (75-297 Fua)

Faduannuanismaaesaziiuld 133 imunislagldnassuuuiiuguuasuuuyfuuss
Amoufulymmsinaunaasnisusenounuuiig Ussiandl 1 anunsafumdnoudia
fanlefiloiisufuyadam dataset uagfiuszansamlunsdumdineudiffigadiania
FBumdBainuuud 1 werlinalumsdumnouiiaigeluszernatiosnifiBiumatain
WUUdY 9



unil 5
ajUnansITBLasYaLEuBLUL

[

dmsunmsiseluasall WunisiaunISwesisafnadelml AedsiTauinsieelonanig

wuuiugIusasiuulsuleaneu Tunsuddgmlunisdnaunaaianisusenauwuusiag
n1533sagunalanatineluil

5.1 @3Unan1side

nan1suidyninisinaunaaienisusenauiigfledsidauinisiaglduaniswuy
fugruuasisifaunmslasldnadinsuuldnauiliofieuiuisau 4

MnnMsuAtymnsiaaugaaienisUseneuuuig Uszand 1 livinnnsusegnd
TUsunsuA19 Java (Fuuminiesnaufinnesiu Core i3, 2.3 GHz, 2GB RAM uuszuuUfunis
Windows 7) 333 famnnslagldassuuuiiugin waeisiiaunislaslduamauuudiulss
fmeu slunsuidgmnnsdnaugaaenisusznounuuiag Ussavil 1 (UALBP-1) 1unns
mArdnouvesiuaniuiidesiign vesudazyalandtamidiedns Adnsiivuae
seunaINsHAn uazAReUINzaNTige dalddeyainain http://www.assembly-line-
balancing.de waganaddefiiusnidiieldlunisirsdaazsiouiivuna Insgalandgtym
segnaildlutlamuuudag Téun Jmuunesing 4 el

5.1.1 ‘i‘]mmumﬁaaﬁﬁmmmﬂma (21-45 %y’umu) 7l Data set lun1snnasdd Integer
Programming solution, result from Urban (1998) m‘wm 25 Instances lngs18aldenUD
WANINARDININIANIIN 3 An3799 0.2 uaz 3797 9.3 wazansrsagUnalaannged 5.1
ot

quq\iﬁ 5.1 ﬂqiﬁiﬂwﬁ%aﬁdaﬂ'\ﬂﬁqsqui 4.2 Ll,azmi’mﬁ 4.3 Data Set ¥94 3%‘ Integer
Programming solution, result from Urban (1998) lusqag1sleynn UALBP-1

ffuuranans
18015
3501 No. of |37u2uiiae |ARAVBIAIANY | LIaRReNLY
instances | Optimal AN (%) (Sec./instance)

Integer Programming

. 25 25 0 N/A
solution®
DE/rand/1 to Binomial

25 25 0 1.36

Crossover
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M51afl 5.1 nsagunadeyaaInaInedl 1.2 wazansneil 4.3 Data Set ¥84 33 Integer
Programming solution, result from Urban (1998) 114131"38610‘?]@%’1 UALBP-1
NvuIANAIN (5i9)

IMUN19
8n13 No. of |$mauiiiae |Anafevesdiniy | anadedild
instances | Optimal wANFe (%) | (Sec./instance)
DE/rand/1 to
Exponential Crossover 25 25 0 0.49
1 Position
DE/rand/1 to
Exponential Crossover 25 25 0 0.24
2 Position
DE/ rand-to-best/1 to
Binomial Crossover 2 2 0 098
DE/Best/2 to
Exponential Crossover 25 25 0 0.09
1 Position
DE/Best/2 to
Exponential Crossover 25 25 0 0.14
2 Position

WUBLNE: * Integer Programming solution, result from Urban (1998: 740) (in tablel)

Mnnamsnaaestuiiogslgmuuuigiifivuinnais (21-45 dus) nuinis
Wannnslaglinaraluisidumeneuldmnouiidiigauossnauandauminiunnis
wisTTmunnisiegldnasiisuuuyiuueAmey DE/Best/2 33ufiU Exponential Crossover 1
annsamardmeuldifanlneliinanlunsmdnoutiosiian Ae Tiadneuiaigalding
Tumsdumeardneuiiafian (hanadeldlunisduiniumeiney 0.09 3undl/ Instances)
MUAI875 DE/Best/2 to Exponential Crossover 2 Position DE/rand/1 to Exponential
Crossover 2 Position, DE/rand/1 to Exponential Crossover 1 Position, DE/ rand-to-
best/1 to Binomial Crossover kag DE/rand/1 to Binomial Crossover Asansu

fatuagulid BiTaunnslagldnasmuuliulgadiney DE/Best/2 iy
Exponential Crossover 1 1§W38nsifiuszavsnnlunisfumidmeuiiliinatiesiigaluns
mAmeufiafian uas T mumslaglduameuuiiuguduitiusianlagldnaieesiian

Ao 4‘

lunsfumameunangaleeudsdu g MduisiTauinisteeldnaiisieiu dwnis
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FumAmoufiaigavesdiuiuanidaulddrdineumnfunnifidefieuisdu q Mluis
Maunsiaglduasiisieiu

5.1.2 ﬁagwwuuuﬁagﬁﬁmmmlmj (75297 Hueny) #0u Data set lunsmaasdds MMAS
(no local search) by Nuchsara and et al (2007a; 2007b) ﬁmm 62 Instances ngs18aLL8A
YBINANNTNARBIFINANLIN 3 7IM1T197 9.4 M151971 9.5 UATAITIST 9.6 MT1saFUNALHRS

AN5197 5.2 fadl

A15197 5.2 nsagunadayaan A1s1eil 4.4 An51eil 4.5 waTA139i 4.6 Data Set ¥9E3
Optimal solution (1991) Tusiaagnalaynn UALBP-1 fflvunalvey

18N19
35015 No. of [s1uufiee| Anelevesd | awededily
instances | Optimal [A1ULANATN (%)| (Sec./instance)

MMAS (no local search)* 62 35 0 5.72
DE/rand/1 to Binomial

62 36 0 5.65
Crossover
DE/rand/1 to Exponential

62 36 0 5.48
Crossover 1 Position
DE/rand/1 to Exponential

62 36 0 5.34
Crossover 2 Position
DE/ rand-to-best/1 to

62 36 0 5.56
Binomial Crossover
DE/Best/2 to Exponential

62 36 0 4.88
Crossover 1 Position
DE/Best/2 to Exponential

62 36 0 5.13
Crossover 2 Position

nUWNA: * MMAS (no local search) research by Nuchsara and et al (2007a; 2007b)

mamamiwmaaﬂu(ﬁhaEmﬂiwuwuéhgﬁﬁsumﬂWg (75297 Fua11) WU
Wannnslaglinaraluisidumeneuldmnouiiaiigauossnauandauminiunis
WIS Taunisiagldnasriisuwuuyuiuuseriney DE/Best/2 53wy Exponential Crossover
1 aunsamerdneuldingalaslinarlunsmeimeutiosiian Ao A neuiiafianld
narlunsfumAdneuiaiige (nanadsiildlunisAuiufumdiney 4.88 Juddi/
Instances) #1147 1835DE/Best/2 to Exponential Crossover 2 Position, DE/rand/1 to
Exponential Crossover 2 Position, DE/rand/1 to Exponential Crossover 1 Position, DE/



Tl

rand-to-best/1 to Binomial Crossover kag DE/rand/1 to Binomial Crossover @NUa161U
wag wadnslunsmarauandnuiidesiian 333 Tmmnsiaelinadauuuiugiuuas
LUUUSUU TSR UaIs oA uTiATidald 36 fnouan 62 Instances F9a11150WIAN
AmeuTiAgnlffini 35zUu MMAS (no local search) ivnendmeufiafign 35 Anouain
36 Instances

Fettuagulddn 333 munnnslagldnaniauuuuiulgesiney DE/Best/2 iy
Exponential Crossover 1 1§uismsiifuszavsnmlumsdumenouiliinatesiigalunis
mdmauiinian way 3 TmunsTegldnaduuiiugiuduisiufanlagldnansesiian
Tunsfumdmoudifigadlofouisau 4 MIuIEATwunslagldnadedeiu daunis
Fumdmoufifigavesdiuinanidauldardineumifunnifidefieuisdu q Mluis
Tiwunnsleglinasiieiu

NNANTTNABDIRALIATIENAATUNAN1TWTeuigulyrinisdnaunaalenis
Usgnauuuuig Yseianit 1 353 Taunnsleelduasineivisiundisainisou q daymaun
nan9 (21-45 Fueu) Bansleglinasuuuuiuupdrouwazuuuiugiliedinou
firngalunsmiuuandonfniuarldinatlunisfumdneuiifigatesnit Bszuuun
waz 3srUUNA MMAS (no local search) #1135 GA T8¥imunstagldnasiisusudssdmey
uazkuuituguagldinalunsfumdmeuiinfiantiosnit 33 GA usmsdumdneuiiniian
ﬁi’wmuamﬁmﬂﬁmﬁmauﬁﬁﬁqwwhﬁ’u waz Jymuwelng) (75-297 Fuan) 353 Tmunns
Tneldnasauuuliuussdmeunazuuuiiugiliammeuiiafigalunsmdwiuanidam
Anduazldinalunisiumenouiiafigatiosndn F5szutua MMAS (no local search)

5.2 daduanuziazuIniIdgluauinn

521 msfinsiauisyfaunslegldnamdulanddamitennt wu Mixed/Mult
model line, Stochastic task time wag U-line Iué’ﬂwmﬁu 9

522 ensfinswanvdnnisundtaindu q ieustymnisinaunaaenisUsznou
wuusag Tudgvnunalgy

523 AasdinsiauImdnnisuadi3anndu 4 u3esn1sane 9 Weuddymnisda
duAad1en1TUTENOULUUMIE Usgiandl 2 (Type-2) fwuadnsiuiuaaiiay (m) uazmien
seunmHAnTItiesTign (Min.c, given m) way Uselnvil E Amuaen c uaz m mAszdnsam
YesEen1sNangsdn (E) (Min.E, given ¢, m)
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Pseudo Code WazWNURITUABUNTIN9UYBlUTUNTY
N15INHUNAEUN1TUTENBULUUAY
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[

Pseudo Code ¥29353nun1slagldnadreinaundmiunisuidyminisinauga
den1susznay

86

Setup initial DE parameter
Do while from first iteration to final iteration
Do while  from first DE to final DE
Setup initial parameters: cycle time, remaining time, station number
Do while from first task to final task
Find start/following task with task time is less than or equal to
Remaining time, and proper precedence to data list
Input scaling factor, crossover rate and NP to data list
Select task randomly to list
Update remaining time/station number
Enddo
Enddo
Select best solution from all DE in the iteration
Enddo
Show/select best solution from all DE in all iteration

911 Code 9198U wand Pseudo Code 893537 un15taeldnan19d115uUNS

widgymmsdnaugaaienisusenauiuuiig lagAmueAm1diinessag 9 1Wu R = Round
(F1auseunsnnass) NP = sruaudunausu F = ulameslunisuenanasie (Scaling factor)
waz CR = §nsnswandsurilufife (Crossover rate) uduarflmnzaudilgainnis
npaes Tudunouvesnisadresmney szvhnsinnuasdaniiny ngisitauinsinelduase
quﬁugm war I5TimuInslagldnadiawuuyulsadiney Favznszrirtuneuiailau
AsUALSILIUSOUIINSaaes Wowadadumsinny Aaziansannadnsiliidnauiia
flan fwauaninudesiian vesnmeaesiu q iethuadwsildluFeudisuiummey

Mnzauiign luadusiely
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Input:
c (Cycle Time)

w

Lanvuda =c
z=11

safloud z

nIvTuBSusunay
LatsIuldagnIIIaIALKda?

AUty
Data List

Avtueuaduliluasndy uas
vavIudagnIIaNTiLudaa?

VAL Tu
Data List

Min. Time
t&anouvi
fivamn ?

R R RV RPN LT ST)
Data List?

Maisiou

A

z=2z+1

- —t - et
- e L@ ansuiasitaan LaandTuIurman
LIanvitviaa

IUHINA TG udaaAe

NASIUAgALEaNAIUALA?

tAumaang 3Ty
Result

PaImd&a = atuda - Latvurignldan

UFulsedieman
#2398 DE (DE/Best/2 to
Exponential Crossover

1 Position )

finasudsuilga
Arcnauniaili

Y

N ETEr]

DE (DE/rand/1 to
Binormial Crossover
Basic)

UWAGAIHNRNWE

Af 0. unudstunaunsIngdunasten1ssEnauluuiaglagdTauinisiagldnasing
LLUUU%’U‘iJiq\‘iﬁ’maU (DE/Best/2 32ufiu Exponential Crossover 1 Position)



Input:
c (Cycle Time)

natidmda =c
z=1

snnfoud z

WIUBNEULRY
LatsIudagninaniuda?

ALl
Data List

Anuauaduliluazady uad
VRWvINdasAIIIRNALMED?

AUty
Data List

\&an9nu
el ?

R R ERETERI R BTN ST)
Data List?

Tifiou Max.Time

Min. Time

r

danoudiitan
RRETE TR R 1o}

z= z+1
vatwuda =

L&ansuiiivian
udasige

[

NAUTQNLEDAAURNA?

Aunadnws ity
Result

Latviuda = naltviisda - atvurgaldan

U5ulsedimau
fdnasu3uilge @895 DE (DE/Best/2 to
Ainaunsala Exponential Crossover

2 Position )

Maifi

DE (DE/rand/1 to
Binormial Crossover
Basic)

WHAINRANE | o
<
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A9 1.2 uaudstunaunsInauRasensUsznaukuUglagITiauinisiaglduasiie

wuuUudgeAnau (DE/Best/2 $auniu Exponential Crossover 2 Position)



Input:
c (Cycle Time)

natduda =c
z=1

sn1foun z

wiusuGuULAY
LavIudagnlIIIaNvituaa?

ALt
Data List

AvnuausEsulduarndy uad
natvIvlagnIinuaMmda?

AUty
Data List

\@anouvi
| ?

WiFuIuoIulu
Data List?

“Laifivu Max.Time

Min. Time

r

z=z+1
TR
vatviuda =c

tdanounfivian danoudiitian
SuINAREe Suiaaige

nAouignidanaunun?

tAumaanws1lilu
Result

DaTmda = aivuda - natvuTignl&an

5 UFulsarieau
finsu5uilga #2838 DE (DE/rand/1 to
Anaunia‘lu Exponential Crossover

2 Position )

NETEY

DE (DE/rand/1 to
Binormial Crossover
Basic)

WHAIHIRANS
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A 0.3 unudstunaunsIngdunasen1sUsEnauluuiaglngdTauinisiagldnasing
LLUUU%’U‘iJiq\‘iﬁ’maU (DE/rand /1 391U Exponential Crossover 2 Position)
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Input:
c (Cycle Time)

vahuda = c
z="1

sanfloud z

wiusnAuLaY
LatsudagnIIaNAtM&aa?

AL
Data List

AuausEdUlduasndu uad
vAIvINdagnIInIRIALUEa?

AU T
Data List

A

Maigi

Min.Time

\danaui
dan ?

wiFwIruly
Data List?

lifionu Max.Time

r

z=z+1 - Agi -« o
=&t @ananuiivian W@ansuiinan
natduda = ¢ suINTiEe udanAse

nnvuTignldanaunun?

tAumadws ity
Result

LnanTiLuaa = atVituda - nalvuvigaldan

U5ulgadiean
@38 DE (DE/rand/1 to
Exponential Crossover

1 Position )

finnsusuilge
Anauniali

“aidd

DE (DE/rand/1 to
Binormial Crossover
Basic)

UWHAIHNAAWE |
<

i N4 unudstunauNsIngaunasen1sUsEnauluuig I Tauinisiagldnasing
wuuySuuseAnau (DE/rand /1 $9uAU Exponential Crossover 1 Position)
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Input:
c (Cycle Time)

namda =c
z=1

s fouv z

wiuEHGULAY
navIudagnIInaNMaa?

wAulatu
Data List

Avueusgulduasndy uad
navulagnIIANAKEa?

Auitu
Data List

Min.Time

\Eanouvi
fiLue ?

wiEIwIuNe Uiy
Data List?

“hiflou

Max.Time

A

tdanauriitan tdanoudiitian
TuINARe Tuiandae

z=z+1
]
naviwmda = ¢

nnougaidanauviua?

Aunaaws1lilu
Result

Patdda = natiuda - Latvuignidan

5uilgudeau
@838 DE (DE/rand-to-
best/1 to Binomial
Crossover )

finsusuilga
Aimaunia‘li

Y

Maidl

DE (DE/rand/1 to
Binormial Crossover
Basic)

USEAINRAWS
<
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unuRsTuUnUNsIRdURaien1sUEnauLUUAIg lagA I Taunslagldnasing

LLUU‘LJ%’UU‘QWT’WIE]U (DE/rand-to-best /1 32uNU Binomial Crossover)



AIANUIN U
yalandlgyniiaadne (Data set) uazdoyaineatas
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M1319% 9.1 Uaya Precedence Diagram 31u7uduLaziIa19UgeNlElun15MAa09
v89 8 yalandUgynnil 21-297 Yuay

Item ARC83 ARC111 HESKIA KILBRID SAWYER SCHOLL MITCHE TONGE
n 83 111 28 45 30 297 21 70
Task time 1673 1960 70 9 8 270 4 17
Direct pre 985 1715 59 9 7 270 3 66
End mark(-1, -1) 1836 735 33 10 19 130 9 54

973 1715 6 10 10 148 5 52
1700 490 1 17 2 190 9 6
2881 1225 27 17 6 293 4 88
2231 169 17 13 14 348 8 21
1040 2252 62 13 10 182 7 128
1793 1225 31 20 1 490 5 68
1250 2319 53 20 4 212 1 70
700 1715 21 10 14 248 3 85
464 980 19 11 15 248 1 21
500 735 108 6 5 248 5 134
1133 2281 52 22 12 248 3 135
577 2750 5 11 9 248 5 94
483 7 8 19 10 268 3 90
880 89 97 12 2 268 13 50
667 51 8 3 10 268 5 143
600 364 47 7 18 288 2 19
233 405 67 4 16 248 3 54
408 3060 17 55 21 268 7 50
847 125 8 14 14 60 1,2 40
767 3429 3 27 16 268 1,3 73
850 43 21 29 7 240 2,21 12
780 3430 107 26 17 240 3,4 152
912 1960 3 6 9 171 4,5 42
748 29 2 5 25 490 4,21 45
1863 27 72 24 7 182 5,6 74
714 15 1,3 4 14 170 57 26
1004 121 1,4 5 2 306 6,8 11
713 1715 1,5 7 1,4 108 78 31
642 2127 1,8 4 1,5 248 7,14 50
629 1470 1,19 15 2,11 190 8,9 102
1234 4037 1,21 3 2,12 240 9,10 46
1143 68 1,22 7 3,16 339 9,11 35
1266 62 1,23 9 3,17 288 9,12 40
792 42 1,24 4 4,7 248 9,13 2
1251 364 1,26 7 5,6 455 10,15 1
1310 4998 2,6 5 6,7 268 11,15 3
663 1470 2,17 4 78 270 12,15 13
494 2963 3,28 21 8,9 180 13,17 16
1288 5689 4,28 12 9,26 121 13,18 25
792 68 5,28 6 10,24 270 14,19 21
578 18 6,7 5 12,13 440 15,16 43
594 10 7,18 5 13,14 249 15,18 30
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M1319% 9.1 Uaya Precedence Diagram 31u7udUUALIIa19 U8 lETUN1TNARDY
v29 8 YalandUaynnal 21-297 Yuau (a)

Item ARC83 ARC111 HESKIA | KILBRID | SAWYER | SCHOLL | MITCHE | TONGE
578 81 89 13 14,15 194 16,17 83
622 5200 9,10 1,7 14,20 162 17,20 89
578 39 10,11 24 15,22 130 18,19 56
564 67 10,12 28 16,20 388 1,1 59
578 27 11,15 35
578 15 12,13 a6 17,18 90 43
578 121 13,14 59 18,19 212 11
578 58 13,16 6,10 20,21 246 26
578 1715 14,28 79 20,24 188 aa
578 125 15,28 7,14 21,22 270 121
578 4010 16,28 8,10 22,23 160 38
578 1470 17,28 8,14 23,27 79 68
578 1470 18,28 9,41 24,25 466 22
578 2303 19,28 10,41 25,26 240 7
578 1960 20,28 11,13 26,27 137 16
578 2205 21,28 12,13 27,28 184 32
578 4018 22,28 12,37 27,29 110 25
578 2744 23,28 13,14 29,30 275 27
578 2999 24,28 13,15 1,1 149 156
578 735 25,28 14,17 280 28
578 735 26,28 14,25 119 15
578 735 27,28 14,29 184 26
578 735 11 14,30 140 18
467 545 14,31 150 72
887 3386 14,32 190 23

150 27
396 3234 15,16 150 1,2
1296 2205 15,18 284 1,41
1100 2206 15,23 192 1,69
2543 490 15,24 347 1,70
764 825 16,19 232 23
357 3528 17,26 140 34
701 3568 17,27 608 3,68
1164 1200 18,19 80 46
286 618 19,20 40 a7
2100 1470 19,33 130 56
450 1715 20,21 110 5,24
1300 735 21,22 350 5,30
3691 1960 22,28 140 68
1,2 2889 23,33 240 78
23 618 24,33 240 8,12
24 490 25,26 90 9,10
2,5 735 26,38 54 10,11
36 490 27,28 294 11,12
46 921 27,33 203 12,13
a7 326 28,38 150 12,14
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M1319% 9.1 Uaya Precedence Diagram 31u7udUUALIIa19 U8 lETUN1TNARDY
v29 8 YalandUaynnal 21-297 Yuau (a)

Item ARC83 ARC111 HESKIA | KILBRID | SAWYER | SCHOLL | MITCHE | TONGE
58 5390 29,41 270 13,23
6,9 243 30,41 155 14,23
6,10 371 31,41 190 15,16
7,11 58 32,41 78 16,17
8,77 5059 33,34 140 16,18
8,78 1225 33,35 241 17,19
9,12 769 33,36 430 18,19

10,13 768 34,38 90 19,20
10,14 1670 35,40 110 19,22
10,25 1670 36,38 9 19,57
11,15 490 37,43 430 20,21
12,16 202 38,40 130 21,23
13,17 203 39,41 289 22,23
13,18 202 40,41 110 23,25
13,20 2744 41,42 160 23,31
14,19 162 42,44 442 23,33
15,20 324 42,45 159 24,25
15,39 162 11 250 25,26
16,77 121 190 25,27
16,78 162 184 25,28
17,21 91 690 25,29
17,22 1,2 72 26,35
17,28 23 190 27,35
18,23 34 190 28,35
19,24 a5 90 29,35
20,26 46 889 30,31
21,27 a7 170 31,32
22,27 a8 155 32,35
23,74 4,9 190 33,34
24,28 4,10 130 34,35
24,29 5,39 390 35,36
25,32 6,39 301 35,44
26,74 7,83 54 35,48
27,69 8,71 227 35,51
28,32 9,32 142 35,53
29,30 10,11 184 35,56
30,31 10,12 741 35,60
31,39 11,13 868 35,61
32,33 11,14 230 35,62
32,34 11,15 121 36,37
32,35 11,16 320 37,38
32,36 11,17 126 38,39
33,37 11,18 440 39,40
34,77 11,19 127 40,42
34,78 11,20 134 41,42
35,77 11,21 150 42,43
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M1319% 9.1 Uaya Precedence Diagram 31u7udUUALIIa19 U8 lETUN1TNARDY
v29 8 YalandUaynnal 21-297 Yuau (a)

Item ARC83 ARC111 HESKIA | KILBRID | SAWYER | SCHOLL | MITCHE | TONGE
35,78 12,13 140 43,50
36,38 12,14 110 44,45
36,39 12,15 320 45,46
37,40 12,16 250 46,47
38,41 1217 232 47,50
39,42 12,18 188 48,49
39,43 12,19 250 49,50
39,44 12,20 377 51,52
39,75 12,21 90 52,54
40,77 13,71 140 53,54
40,78 14,22 90 54,55
41,45 14,23 90 57,58
42,77 14,24 70 58,59
42,78 14,25 90 59,60
43,77 15,26 110 61,65
43,78 16,27 150 62,63
44,46 17,28 101 63,604
45,47 18,29 377 64,65
46,48 19,30 118 64,66
47,49 20,91 290 64,67
48,50 21,111 209 11
49,69 22,31 150
50,51 22,83 150
51,52 23,32 79
52,53 23,33 150
53,54 24,69 91
54,55 24,70 59
55,56 25,34 218
56,57 26,82 351
57,58 27,35 873
58,59 28,36 130
59,60 29,37 68
60,61 30,38 126
61,62 31,39 120
62,63 32,41 227
63,64 33,111 198
64,65 34,42 132
65,66 35,43 121
66,67 36,44 150
67,68 36,91 100
68,74 37,45 38
68,75 37,91 70
69,70 38,46 355
69,71 38,91 284
70,72 39,40 122
71,73 40,111 75
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M1319% 9.1 Uaya Precedence Diagram 31u7udUUALIIa19 U8 lETUN1TNARDY
v29 8 YalandUaynnal 21-297 Yuau (a)

Item ARC83 ARC111 HESKIA KILBRID SAWYER SCHOLL MITCHE TONGE
72,73 41,69 160
73,74 41,70 140
73,75 42,47 520
74,76 43,48 99
75,76 43,49 182
16,77 44,50 80
76,78 44,51 514
77,79 46,52 96
78,79 47,54 50
79,80 47,55 272
79,81 47,56 226
80,82 47,57 194
81,83 47,58 164
82,83 47,59 96
-1-1 47,60 107

48,53 108
49,91 167
50,111 98
51,111 82
52,111 432
53,111 72
54,69 50
54,70 130
55,61 230
55,62 50
55,63 240
56,63 190
56,64 190
57,65 240
57,91 74
58,66 139
58,91 339
59,67 260
59,91 132
60,68 550
60,91 420
61,69 152
61,70 12
62,71 90
63,111 5

64,72 128
65,111 100
66,111 120
67,111 100
68,111 320
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M1319% 9.1 Uaya Precedence Diagram 31u7udUUALIIa19 U8 lETUN1TNARDY
v29 8 YalandUaynnal 21-297 Yuau (a)

Item ARC83 ARC111 HESKIA KILBRID SAWYER SCHOLL MITCHE TONGE
69,77 835
69,78 740
70,73 223
71,91 100
72,74 390
73,75 140
74,76 304
75,77 120
75,78 403
75,79 21
76,80 246
76,81 160
76,82 1019
77,83 34
78,84 120
79,85 68
80,86 910
80,91 302
81,87 778
81,91 101
82,111 1310
83,91 20
84,88 278
84,89 81
84,91 290

85,111 100
86,111 372
87,90 72
88,105 28
89,105 90
90,111 250
91,92 144
91,93 303
91,94 220
92,95 58
93,95 224
94,95 211
95,96 99
95,97 44
95,98 120
95,99 70
95,100 421
95,104 231
96,101 214
97,102 196
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M1319% 9.1 Uaya Precedence Diagram 31u7udUUALIIa19 U8 lETUN1TNARDY
v29 8 YalandUaynnal 21-297 Yuau (a)

Item

ARC83

ARC111

HESKIA

KILBRID

SAWYER

SCHOLL

MITCHE

TONGE

98,103

280

99,111

398

100,111

72

101,105

280

102,106

356

102,107

193

103,107

140

103,108

130

104,111

300

105,111

456

106,109

7

107,111

170

108,110

252

109,111

210

110,111

308

1,1

308

121

52

426

104

1386

527

968

1047

538

1,2

2,3

3,4

45

4,22

4,26

4,27

4,40

4,48

4,56

4,83

4,86

4,94

4,105

4,109

4,111

4,134

4,221

4,247

4,259




100

M1319% 9.1 Uaya Precedence Diagram 31u7udUUALIIa19 U8 lETUN1TNARDY
v29 8 YalandUaynnal 21-297 Yuau (a)

Item

ARC83

ARC111

HESKIA

KILBRID

SAWYER

SCHOLL

MITCHE

TONGE

5,6

6,7

6,8

6,9

6,10

7,11

7,12

7,13

7,14

7,15

7,20

8,11

8,12

8,13

8,14

8,15

8,20

9,11

9,12

9,13

9,14

9,15

9,20

10,11

10,12

10,13

10,14

10,15

10,20

11,16

12,17

13,18

14,19

15,21

16,23

17,23

18,23

19,23

20,23

21,23

22,24

22,25

23,28

24,29

25,29
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M1319% 9.1 Uaya Precedence Diagram 31u7udUUALIIa19 U8 lETUN1TNARDY
v29 8 YalandUaynnal 21-297 Yuau (a)

Item ARC83 ARC111 HESKIA KILBRID SAWYER SCHOLL MITCHE TONGE

26,30

27,31

28,32

28,37

29,33

29,44

29,121

30,34

30,297

31,34

31,82

31,172

31,179

32,36

33,38

34,35

35,42

36,39

37,39

38,41

39,43

40,44

40,84

40,97

41,45

42,46

43,47

44,49

45,50

46,51

46,138

47,52

48,52

49,53

50,54

51,55

51,81

52,57

53,58

54,58

54,296

55,59

56,60

56,61

57,62
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M1319% 9.1 Uaya Precedence Diagram 31u7udUUALIIa19 U8 lETUN1TNARDY
v29 8 YalandUaynnal 21-297 Yuau (a)

Item

ARC83

ARC111

HESKIA

KILBRID

SAWYER

SCHOLL

MITCHE

TONGE

57,63

57,71

57,76

58,64

59,64

59,99

59,100

60,68

61,65

62,66

63,67

64,72

65,69

66,69

67,70

68,73

69,74

70,75

71,77

72,78

73,84

7397

74,84

74,97

75,84

75,97

76,84

76,97

77,84

7797

78,79

78,30

78,125

78,192

79,85

80,85

81,87

82,88

82,89

83,90

84,91

85,92

86,93

87,99

87,100
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M1319% 9.1 Uaya Precedence Diagram 31u7udUUALIIa19 U8 lETUN1TNARDY
v29 8 YalandUaynnal 21-297 Yuau (a)

Item

ARC83

ARC111

HESKIA

KILBRID

SAWYER

SCHOLL

MITCHE

TONGE

88,99

88,100

89,99

89,100

90,95

91,96

92,98

93,98

94,101

95,101

96,101

97,101

98,102

99,103

100,104

101,106

102,107

103,108

104,108

105,110

106,112

107,113

108,114

108,115

108,292

109,119

109,120

110,119

110,120

110,162

111,116

112,117

113,118

114,119

115,120

116,122

117,123

117,124

117,257

118,126

119,127

120,127

120,150

121,128

122,129
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M1319% 9.1 Uaya Precedence Diagram 31u7udUUALIIa19 U8 lETUN1TNARDY
v29 8 YalandUaynnal 21-297 Yuau (a)

Item

ARC83

ARC111

HESKIA

KILBRID

SAWYER

SCHOLL

MITCHE

TONGE

123,130

123,145

123,146

123,147

123,148

123,149

124,130

125,130

126,130

127,130

127,157

128,130

129,130

129,141

130,131

130,144

131,132

131,133

132,135

133,135

133,170

134,136

135,137

136,139

137,140

138,140

138,191

139,142

139,253

140,143

140,200

141,151

142,152

143,153

143,169

144,154

145,155

146,156

147,158

148,159

149,160

150,161

151,163

152,164

153,165
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M1319% 9.1 Uaya Precedence Diagram 31u7udUUALIIa19 U8 lETUN1TNARDY
v29 8 YalandUaynnal 21-297 Yuau (a)

Item

ARC83

ARC111

HESKIA

KILBRID

SAWYER

SCHOLL

MITCHE

TONGE

154,166

155,166

156,166

157,166

158,166

159,166

160,166

161,166

162,167

163,166

164,167

165,168

165,176

166,170

167,171

168,173

169,174

170,174

171,174

172,175

173,177

174,178

174,287

174,288

175,180

176,181

177,181

178,181

179,181

180,181

180,252

181,182

181,183

181,184

181,185

181,186

181,187

181,188

181,189

181,196

181,197

181,295

182,190

183,193

184,194
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M1319% 9.1 Uaya Precedence Diagram 31u7udUUALIIa19 U8 lETUN1TNARDY
v29 8 YalandUaynnal 21-297 Yuau (a)

Item

ARC83

ARC111

HESKIA

KILBRID

SAWYER

SCHOLL

MITCHE

TONGE

185,195

186,195

187,195

188,195

189,195

190,195

191,200

192,201

193,198

194,199

195,199

195,203

195,205

195,227

195,229

196,202

197,202

198,202

199,202

200,202

201,202

202,204

202,251

203,206

204,207

204,250

205,207

206,209

207,210

207,212

208,210

209,210

209,211

210,213

211,213

212,214

213,214

214,215

214,234

215,216

216,217

217,218

218,219

219,220

220,222
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M1319% 9.1 Uaya Precedence Diagram 31u7udUUALIIa19 U8 lETUN1TNARDY
v29 8 YalandUaynnal 21-297 Yuau (a)

Item

ARC83

ARC111

HESKIA

KILBRID

SAWYER

SCHOLL

MITCHE

TONGE

221,223

222,224

223,225

224,226

225,227

226,228

227,230

228,231

229,235

230,232

230,271

230,289

231,233

232,236

233,237

234,238

234,256

235,237

236,239

237,240

238,240

238,285

239,240

239,279

240,241

240,243

241,242

242,244

243,245

244,245

244,246

244,255

245,248

246,248

247,278

248,249

249,254

249,284

250,256

251,256

252,258

253,260

254,261

255,261

255,262
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M1319% 9.1 Uaya Precedence Diagram 31u7udUUALIIa19 U8 lETUN1TNARDY
v29 8 YalandUaynnal 21-297 Yuau (a)

Item

ARC83

ARC111

HESKIA

KILBRID

SAWYER

SCHOLL

MITCHE

TONGE

256,263

257,264

258,265

259,266

260,267

261,268

261,269

262,269

263,270

264,271

265,272

266,271

267,273

268,274

269,274

270,274

271,274

272,275

273,276

274,277

274,278

274,282

275,280

276,281

277,283

278,283

279,286

280,290

281,291

282,293

283,293

284,294

285,294

286,294

287,293

288,293

289,294

290,293

291,293

292,293

-1,-1
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(- DE v.29.0.20180610

U-line
Cycle Time | Simple Assemble line CR

Target Vector : | Min -> Max || Mutation Formula ;| Xbest+F(X1-X2) v

Mutation QTY :: | 1 TJ Crossover: | Binomial V} [ Debug

Job Before/After Time

Add Delete

Nao. | Job | Before/After | Time

Clear Input Job Clear Output Save Result

‘ Run ‘

File Help
Input

Round Process

|| Best Station

|} BestTime

00:00:00.00

QOutput

= Y A = Y o
N1N A1 wmauw%mmstaangﬂmemﬂiymmsaﬂauqamEm'ls‘l.lszﬂamwumg

PNnd A1 Funeuinilaudengliuureslymnsdnaunamenisusenounuuiig

IngLaanyed DE Type >>> U-line

|- [0 V23020160613 aaln=a S

Round Process

2

___ || Best Station

|| BestTime

00:00:00.00

File Help
Input
DE Type = | U-ine ¥ | Round 1 NP 2
Cycle Time = 3 F- q CR- 5
— —
TargetVector : | Min - Max ¥ | Mutation Formula :| Xbest+F(X1-X2) v
Mutation QTY = | 1 |v] crossover:  [Exp 1 |*] (J pebug
Job BeforeiAfter Time
Add Delete
No. | Job | BeforeiAfter | Time
Clear Input Job Clear Qutput Save Result

Output

AN A.2 VURBUNEBINITNTBNNISINABS 5 a9 Nnevasnuni1saulInlaelydls

Amurnsiagltuanig



111

NN 7.2 Juneuiigenisnsennisiiwed 5 Yot Mistesiunsennalagldie
Waunstaglduania 1) 989 Round >>> WiiBNTaNIIWIUTOUNITTU 2) 989 NP >>> Lile
nsensIuILt LI 3) 989 Cycle time >>> Wiansonsaunansranvadiym 4) 9eq F >>>
donsanuilaweslunisveranania (Scaling factor) 5) 483 CR >>> Wonsendnsinig
waniUasualufita (Crossover rate)

DE V.2.9.0.20180610 1

File Help

Input .f| Round Process || Best Station  § Best Time
DE Type = | U-line I*] Round NP
00:00:00.00
u " (]
Cycle Time F CR
. o Output
Target Vector :: | Min - Max ¥ | Mutation Formula :} Xbest+F(x1-X2) .
Hutation QTY = | 1 TJ Crossover = |Exp 1 TJ (] Debug
Job Before/After Time
Add Delete

No | Jobr | Before/After | Time

Clear Input Job Clear Qutput Save Result

‘ Run ‘

Mui A3 upsuiisunsangasnsAuInITImuInsiagldnasing

1NN A3 Suseuilawnsengasmasiuands iaunislaglduasidaniniinsos
AandLEenaIndglluuuasans des Target Vector >>> 18na1nAndl Random a1nties
LUan (Min—>Max) %38 11nluties (Max—>Min) ¥89 Mutation Formula >>> 11013468
Fuuusng q ludrudunou Mutation Tnefignslfidonusiay s, a9 Mutation QTY ¥n1s
deonmusuiuseunan (1 50U war NP) 981 Crossover ¥nsidoniauuusiig 4 ludau
funau Crossover lnpardigmslidonusiaris



Clear Input Job Clear Qutput Save Result

‘ Run ‘

Help
i Round Process Best Station Best Time
DE Type: |U-line |¥| Round: MNP
00:00:00.00
L] L] L]
Cycle Time F: CR:
Qutput
Target Vector = | Min -= Max | ¥ | Mutation Formula ;| Xbest+F(X1-X2) |*
Mutation QTY |1 \:] Crossover IExp1 \:] DDsbug
Job Before/After Time
Add Delete
MNo. | Job | BeforeiAfter | Time

M a4 Jupsundnsendayatyvinisdnaugaaienisusznau

Save Parameter |

Load Parameter

Round Process

Best Station

Best Time

00:00:00.00

Output

Exit NP 2
Cycle Time :: F: CR:
Target Vector:: | Min -= Max | ¥ | Mutation Formula :| Xbest+F(X1-X2) |
Mutation QTY =2 [1 |'J Crossover [Exp1 |'J (] Debug
Job BefareiAfter Time
Add Delete
No. | Job | Before/After | Time
Clear Input Job ‘ Clear Qutput Save Result ‘ Run ‘

2NN A.5 VUNDU

vy a o v =2 Wy v vy @ °
VlW']I‘VIaWVWl']ﬂqTU'LI'Vlﬂl’)Liﬁlﬂ‘U'E]Ha{]%quﬁaﬂﬂqiﬁlgiu&qﬂ'\uqm



| | DE ¥.29.0.20180610
§ File Help

Input

DE Type == .u—lme |¥| Round: |30

25

= 109

Cycle Time :

TargetVeclor - |Min->Max | ¥| Mutation Formula | Xbest+F((1-X2)+F((3-X4) v

|'J [] Debug

Add Delete

\'J Crossover - lEpr

Mutation QTY - |1

Job Before/After Time

No. Job BeforeiAfter | Time
1 1 045 80
2 2 011,12 7.0
3 3 016,17 19.0
4 4 17 10.0
5 5 16 20
8 8 57 60
7 7 488 14.0
8 8 79 10.0
9 9 826 10
ELS

Clear Input Job Clear Output Save Result

= ) n:i' a  do v o= Yya v o
AINN A.6 %umauw‘wﬂLiEJﬂVIVI']ﬂﬂiUUVIﬂl’)LiEJﬂ‘lJaga Vl']ﬂ']iiﬁaﬂ{]mu‘m'] Sawyer Cycle
time 14 ‘Vlﬂﬂa'Uﬂqisﬂﬁu@aaqﬂﬂqiﬂigﬂauLLUUVT’)Q?J']FT']“'JN

Best Station

Round Process

r Wr
H |

Output

| DE V.2.9.0.201806:
|| File Help
Input
" DEType = | U-line |*| Round: 30 NP |30
Cycle Time 25 E 08 CR 08
Target Vector:: | Min -= Max | ¥ | Mutation Formula :} Xbest+F({1-X2)+F(X3-X4) |¥
Mutation QTY =2 {1 \tj Crossover: [Exp1 |'J ] Debug
Job Before/After Time
Add Delete
No. | Job BeforeiAfter
i 1 045
2 2 011,12
3 3 01617
4 4 (i
5 5 16
6 6 57
7 7 468
8 8 79
9 9 8,26
<X

Clear Input Job Clear Qutput Save Result

_®

Al a7 Fupsuiidadiansendayansu sinnisiuaniayvn Kilbrige & Wester Cycle
time 79 nadaUKAZYIIN1TSUNAYRIUSHATY



NNT A.7 Tumeuiiinilensendeyansu vnisivantywn Kilbrige & Wester

Cycle time 79 nadouuaziinn1ssunavaslusunsulagaan Run

_|éj DE V.2.9.0.2018061

114

| File Help

Input

.
DEType = |U-line | ¥| Round: 30 NP :: 30
Cycle Time 25 o 09 CR: 08

TargetVector: | Min-=Max | ¥ | Mutation Formula | Xbest+F(X1-X2)+F(X3-X4) >

# Process DE Start ##6H

Mutation QTY = l1 |vJ Crossover - LExpﬂ ‘vJ [] Debug Start Time [2018-08-12 18:26:58.143]
### Input Start #5#
Job Before/After Time DE Type - U-line 8
PEE— Cycle Time = 25.0
il M Round :: 30

NP 30

No. Job | BeforelAfter | Time ‘ F-09

1 1 045 8.0 CR:08

2 2 01112 70 | Target Vector - Min -= Max

3 3 01617 19.0 ‘ Mutation Formula :: Xbest + F(X1-X2) + F(X3-X4)

4 4 1.7 10.0 Mutation QTY =1

5 5 18 20 Crossover Formula - Exponential Crossover 1 position

6 6 57 6.0

7 i 46,8 140 ## Job detail ##

8 8 7.9 100 JobName[1] Before/After|0,4,5] Time[s.0]

9 9 8,26 10 JobMName[2] Before/After[0,11,12]  Time[7 0]

T\_ JobName[3] ,Before/After|0,16,17] , Time[19.0]
JobName[4] Before/After[1,7] , Time[10.0]

| 51,8 11,61 Time[2.0]
JobName[B] ,Before/After]5,7] , Time[6.0]
Clear Input Job Clear Output Save Result Run JobNamel7] Before/After[4,6,8] ,Time[14.0]

JobName[8] ,Before/After[7,8] , Time[10.0]

PR

JI JobName[9] ,Before/After|8,26] Time[1.0]

i .8 18A1 Best Station = 14 @a1ieu Best Time = 0.09 Junil

DE V.2.9.0.20180610

AN A.8 VUNDUNLUALEAINANITAIUIN

| File Help
L - | Round Process Best Station Best Time .
DE Type = | U-ine |¥| Round: 30 NP 30
[} ]
- - - 30 14 | 00:00:00.09
Cycle Time 25 Fi 09 CR: 0.8 i )
Output
TargetVector:: | Min->Max | ¥/ Mutafion Formula - Xbest+F(X1-X2)+F(X3-X4) v [ .
14=Time 25.0 Idle Time 0.0 23 15 <
Mutation QTY :: | 1 |¥| Crossover::  |Exp1 v [ Debug ldle Time All : 26.0
E=0257 %
Job BefareiAfter Time
Add Delete Rl
1=Time 24.01dle Time 10: 1 30 11
2=Time 240 IdleTime 10: 4 29
hio | Job HEa | Time 3= Time 25.0 ldle Time 0.0: 19 28
1 1 045 8.0 4>Time 25.01dle Time 0.0: 2 10 &
2 2 011,12 7.0 5-Time 25.01dle Time 0.0: 6 16 17 24
3 3 0,16,17 19.0 6>Time 23.0dle Time 2.0: 20 2
4 4 1 10.0 7=Time 21.01dle Time 40: 14 15
5 5 16 20 8>Time 19.0Idle Time 6.0: 22 13
6 6 5 60 9=Time 17 0 Idle Time 8.0: 25
7 T 46,8 14.0 10=Time 250 Idle Time 0.0 23 26
8 8 7.9 10.0 11=Time 250Idle Time 00: 7 18 9
9 9 8,26 1.0 12=Time 250 Idle Tme 00 8 12
[« 13=Time 21.0 Idle Time 4.0 21
14=Time 25.0 Idle Time 0.0 27
Idle Time All : 26.0
E=0257 %
Clear Input Job Clear Qutput Save Result Run
‘ Result#4 L
| ‘I 1=Time 24.01dle Time 10: 1 30 29 v

MU A9 YurauNi LaAINANITIRENAREIENITUTENBURUUSE



115

INNNA 7.9 wiazaaaudsenaulumenny aandauiaueslstng wasuszansan
YDIABNITUTLNBULUUAIY UaTLIA1IINY

| 2| DE V.2.8.0.20180610 oo |
| File Help
e - | Round Process Best Station Best Time
T M T T Y
DE Type = | UHine %] Round = 30 NP- 30
L n
30 14 | 00:00:00.09
Cydle Time 25 i 09 CR- |08 | |
Output
Targst Veclor - |Min-= Max | ¥ Mutation Formula | Xbest+FO(1-X2)+F(X3-X4) v
14> Time 25.0 Idle Time 0.0: 23 15 2
Mutation QTY :: | 1 |7 Crossover:  [Exp1 \*| (] Debug Idle Time All : 26.0
E=0257 %
Job BeforeiAfter Time e ]
Result#3
Add Delets
(_pstete | 1>Time 24.0 ldle Time 1.0: 1 30 11
2=Time 24.01dle Time 10 4 29
o Job | Beforsiafier | Time 3= Time 25.0 ldle Time 0.0 19 28

4=Time 25.01dle Time 0.0: 3 10 5
5=Time 25.01dle Time 00: 6 16 17 24
6>=Time 23.0 Idle Time 2.0: 20 2
7>Time 21.0 Idle Time 4.0: 14 15
8>Time 19.0 Idle Time 6.0: 22 13
9>Time 17.0 Idle Time 8.0: 25
10=Time 25.0 Idle Time 0.0 23 26
11=Time 25.0Idle Time 0.0: 7 18 9
12> Time 250 Idle Time 0.0: 8 12
13=Time 21.0 Idle Time 4.0 21

14> Time 25.0 Idle Time 0.0 : 27

Idle Time All : 26.0

E=92 57 %

A mm~ND e wn oz

Save Result

Clear Input Job

Clear Qutput

Result?4
1> Time 24.0 ldle Time 1.0: 1 30 29

CLs

Al A.10 Tumpufiau wanswtieng n1s Clear input job, Clear Output, Save Result

1NANT .10 AGN Clear input job tivefazthveyatidieanainniiee aan Clear
Output LB7NALINITULENINAGNTEONINUILIAIS AGN Save Result oNazyinIsTUInNG
N1INAAY
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A15719% 4.1 NavesdsITmuInTsingldnanisiunausiisuiu 35 GA (Hwang et al.,
2008) Tusinagnedynuuudag (UALBP-1) Mdlvunnnans (21-45 4u91u)

P!
. GA? DE1®
solution
. Cycle
Problems Size 3 cal. cal.
time
m* m % Time E m % Time E
(sec.) (sec.)
14 8 8 0 0.06 93.75 8 0 0.05 93.75
Mitchell 21 15 8 8 0 0.14 87.75 8 0 0.03 87.75
21 5 5 0 0.01 100.00 5 0 0.01 100.00
138 8 8 0 0.11 92.75 8 0 0.09 92.75
Heskiaoff 28 205 5 5 0 0.01 99.99 5 0 0.07 99.99
324 4 4 0 0.07 79.01 4 0 0.09 79.01
27 13 13 0 0.02 92.31 13 0 0.12 9231
Sawyer 30 33 10 10 0 0.01 98.18 10 0 0.02 98.18
54 6 6 0 0.04 100.00 6 0 0.09 100.00
79 7 7 0 0.09 99.82 7 0 0.06 99.82
Kilbridge
45 92 6 7 0 0.08 100.00 7 0 0.04 100.00
& Wester
184 3 3 0 0.12 100.00 | 3 0 0.05 100.00
176 21 21 0 0.23 95.00 21 0 0.05 95.00
Tonge 70 364 10 10 0 0.56 96.40 10 0 0.03 96.40
468 8 8 0 0.04 93.80 8 0 0.01 93.80
5853 13 13 0 0.03 92.40 13 0 0.09 92.40
6842 12 12 0 0.05 92.20 12 0 0.07 92.20
Arcus 1 83
8412 10 10 0 0.12 90.00 10 0 0.09 90.00
10816 8 8 0 0.23 87.50 8 0 0.08 87.50
5755 27 27 0 0.03 96.80 | 27 0 0.09 96.80
10027 16 16 0 0.07 93.70 16 0 0.03 93.70
Arcus 2 111
10743 15 15 0 0.06 93.30 15 0 0.07 93.30
17067 9 9 0 0.01 97.90 9 0 0.06 97.90
Total optimal solution (or lower bound) 23 0 0.06 9530 | 23 0.94 0.06 95.30
found from 23 instances problem /inst. /inst. /inst. /inst. /inst. /inst.

! Integer Programming solution, result from Urban (1998) (in table1, p.740)

2 Genetic Algorithm , researched by Hwang et al (2008)

° DE1 = DE/best/2 to Exponential 1 position

AmualyiA F = 0.9 Juni Ronkkonen,et al (2005), CR = 0.8, N = 30, Round = 30

*m is the number of station, % is the average relative deviation from the best know
solution,

E = Efficiency of Balance"



M13199 4.2 wavesIsIdaunmsiaelduadisiiausiiisuiu MMAS no local search (y¥as1 in3eensng), 2550) Tudredelgyniuuuda
g (UALBP-1) Mflvunanans (21-45 4u41)

Problems | Size | Cycle P! MMAS? DE1’ DE2' DE3® DE4° DES5’ DE6®
time solution
m* m % cal. E m % cal. E % cal. E % cal. E % cal. E % cal. E % cal. E
Time Time Time Time Time Time Time
(sec.) (sec.) (sec.) (sec.) (sec.) (sec.) (sec.)
Mitchell 21 14 8 8 0 1.50 | 93.75 8 0 0.05 |93.75 0 0.06 |93.75 0 0.05 |93.75 0 0.14 | 9375 0 013 | 93.75 0 023 | 9375
15 8 8 0 1.63 |87.75 8 0 0.03 87.75 0 0.04 87.75 0 0.03 87.75 0 0.16 87.75 0 0.17 87.75 0 0.27 87.75
21 5 5 0 5.43 [100.00 | 5 0 0.01 |100.00 0 0.03  [100.00 0 0.01 |100.00 0 0.25 |100.00 0 0.45 [100.00 0 0.45 1100.00
Heskiaoff 28 114 9 10 11.11 |30.00 | 89.82 9 11.11 | 0.04 89.82 11.11 | 0.05 89.82 11.11 | 0.04 89.82 11.11 | 0.06 89.82 1111 | 0.78 89.82 1111 | 0.78 89.82
128 8 9 12.50 |30.00 | 88.89 8 1250 | 0.08 |88.89 12.50 | 0.10 | 88.89 12.50 | 0.23 | 88.89 12.50 | 1.98 | 88.89 12.50 | 0.98 | 88.89 12.50 | 0.98 | 88.89
138 8 8 0 1.71 | 9275 8 0 0.09 92.75 0 0.28 92.75 0 0.12 92.75 0 0.24 92.75 0 1.06 92.75 0 1.06 92.75
205 5 5 0 1.68 | 99.99 5 0 0.07 |99.99 0 0.08 |[99.99 0 0.05 |[99.99 0 0.43 | 99.99 0 098 |99.99 0 098 [99.99
216 5 5 0 236 | 94.81 5 0 0.13 94.81 0 0.08 94.81 0 0.05 94.81 0 0.54 94.81 0 223 94.81 0 223 94.81
256 4 4 0 5.52 |100.00 4 0 0.16 |100.00 0 0.04 |100.00 0 0.39 |100.00 0 0.47 1100.00 0 2.06 |100.00 0 2.06 |100.00
324 4 4 0 235 | 79.01 4 0 0.09 79.01 0 0.06 79.01 0 0.69 79.01 0 0.98 79.01 0 3.11 79.01 0 3.11 79.01
342 3 3 0 245 9981 3 0 0.12 99.81 0 0.03 99.81 0 0.06 99.81 0 0.78 99.81 0 2.68 99.81 0 2.68 99.81

! Integer Programming solution, result from Urban (1998) (in table1, p.740)
2MMAS (no local search) , researched by Nuchsara,et al (2007a,2007b)

® DE1 = DE/best/2 to Exponential 1 position

* DE2 = DE/best/2 to Exponential 2 position

®DE3 = DE/rand/1 to Exponential 2 position

¢ DE4 = DE/rand/1to Exponential 1 position

"DE5 = DE/rand-to-best/1 to Exponential Binomial

® DE6 = DE/rand/1 tol Binomial

fivunlvidn F = 0.9 Ronkkonen,et al (2005), CR = 0.8, N = 30, Round = 30

m is the number of station, % is the average relative deviation from the best know solution, E = Efficiency of Balance"

811
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M13199 4.3 wavesdsITmuInsiagldnanisninauaiisuiu MMAS no local search (y¥es1 in3eensng, 2550) Tudegrstyvuuudig
(UALBP-1) Nflaunnnand (21-45 Tu311)

IPI, MMAS? DE1? DE2* DE3® DE4° DE5’ DE6®
Cycle solution
Problems | Size time cal. cal. cal. cal. cal. cal. cal.
m* m % | Time E m % | Time E m | % |Time E m % | Time E m % |Time E m | % |Time E m % |Time E

(sec.) (sec.) (sec.) (sec.) (sec.) (sec.) (sec.)
25 14 14 0 122 9257 | 14 0 0.07 |9257 (14 | O 0.08 |92.57 | 14 0 0.11 92.57 14 0 [0.67 (9257 |14 | O 1.87 (9257 |14 0 1.87 92.57
27 13 13 0 096 |9231 | 13 0 0.12 9231 |13 | O 0.09 9231 | 13 0 0.13 | 9231 13 0 |[044 (9231 |13 | O 0.98 19231 |13 0 1.11 92.31
30 11 11 0 748 19818 | 11 0 0.08 |98.18 |11 | O 0.10 |98.18 | 11 0 0.42 98.18 11 0 [083 (9818 |11 | O 0.77 |98.18 | 11 0 1.23 98.18
33 10 10 0 20.15 [ 98.18 | 10 0 0.18 |98.18 |10 | O 0.11 |98.18 | 10 0 0.38 98.18 10 0 |0.67 |98.18 [10 | O 0.44 |98.18 | 10 0 1.11 98.18
Sawyer 20 36 10 10 0 2.08 |90.00 | 10 0 0.05 |90.00 [10 | O 0.15 |[90.00 | 10 0 0.07 90.00 10 0 [0.55 [90.00 |10 | O 0.3¢ 190.00 |10 0 1.34 90.00
41 8 8 0 14.67 |98.78 8 0 0.04 |98.78 | 8 0 0.19 |98.78 8 0 0.54 98.78 8 0 [059 [98.78 | 8 0 0.50 |98.78 | 8 0 1.96 98.78
54 6 6 0 5.56 |100.00| 6 0 0.09 |100.00| 6 0 0.38 [100.00 | 6 0 0.17 | 100.00 6 0 | 0.78 [100.00 | 6 0 0.61 [100.00| 6 0 1.61 100.00
75 5 5 0 297 |86.84 5 0 0.06 |86.84 | 5 0 0.35 |86.84 | 5 0 0.14 | 86.84 5 0 [053 (8684 | 5 0 0.57 |86.84 | 5 0 1.94 86.84
57 10 10 0 1.33 [96.84 | 10 0 0.11 |96.84 |10 | O 0.22 |96.84 | 10 0 0.07 96.84 10 0 [023 (9684 |10 | O 0.99 (96.84 | 10 0 0.99 96.84
79 7 8 [14.28|30.00 |99.82 | 7 0 0.12 |9982 | 7 0 045 9982 | 7 0 0.33 | 99.82 7 0 [0.19 [99.82 | 7 0 0.46 (9982 | 7 0 0.46 99.82
Kilbridge a5 92 6 7 [16.67]30.00 (100.00 | 6 0 |0.14 [100.00| 6 | O | 0.3 [100.00| 6 0 0.23 [100.00 6 0 | 0.14 ]100.00 (6 [0 | 031 [100.00 | 6 0 0.31 | 100.00
& Wester 110 6 6 0 1.48 |83.64 6 0 0.10 |83.64 | 6 0 0.06 (83.64 | 6 0 0.44 | 83.64 6 0 |[0.11 [83.64 | 6 0 0.89 183.64 | 6 0 1.93 83.64
138 4 4 0 4.08 |100.00| 4 0 0.14 ]100.00 | 4 0 0.07 [100.00 | &4 0 0.35 |100.00 4 0 |0.23 |100.00 | 4 0 0.64 [100.00| 4 0 1.64 100.00
184 3 3 0 6.73 1100.00| 3 0 0.15 |100.00| 3 0 0.09 [100.00| 3 0 0.93 | 100.00 3 0 |[0.22 [100.00 | 3 0 0.55 [100.00| 3 0 1.55 100.00
Total optimal solution 23 (218 [ 9.19 |9551 | 25 |0.94 | 0.10 |95.51 [ 25 |0.94| 0.19 |95.51 | 25 |0.00 | 0.31 | 95.51 25 0.00|0.44 |9551 (25 p.94| 0.71 (95.51 (25 |0.94 | 1.36 95.51
(or lower bound) /inst. | /inst. | /inst. /inst. | /inst. | /inst. inst.| /inst. [/inst. /inst. |/inst. | /inst. inst.|/inst. |/inst. inst.| /inst. |/inst. /inst. [/inst. | /inst.

found from 25 instances problem

! Integer Programming solution, result from Urban (1998) (in tablel, p.740)

2 MMAS (no local search) , researched by Nuchsara,et al (2007a, 2007b)

® DE1 = DE/best/2 to Exponential 1 position

“DE2 = DE/best/2 to Exponential 2 position

® DE3 = DE/rand/1 to Exponential 2 position

® DE4 = DE/rand/1to Exponential 1 position

" DE5 = DE/rand-to-best/1 to Exponential Binomial

® DE6 = DE/rand/1 tol Binomial

fuusliian F = 0.9 Ronkkonen,et al (2005), CR = 0.8, N = 30, Round = 30, m is the number of station, % is the average relative deviation from the best know solution, E = Efficiency of Balance"

611



M13197 4.4 wavesIsidaumsingldnadieiinauaiiisuiiu MMAS no local search (yues1 Wn3eensng, 2550) luddetredyvuuudng
(UALBP-1) Ailvunalugy (75-297 9u91u)

OPtiTal, MMAS® DE1* DE2* DE3® DE4° DE5’ DE6®
cycle olution
Problems | Size time cal. cal. cal. cal. cal. cal. cal.
m* m % Time E m % Time E m % Time E m % Time E m % Time E m % Time E m % Time E
(sec.) (sec.) (sec.) (sec.) (sec.) (sec.) (sec.)
28 63 63 0 119 | 9375 | 63 0 0.12  [93.75 | 63 0 0.14 | 9375 | 63 0 023 |93.75 | 63 0 098 9375 | 63 0 078 |93.75 | 63 0 078 |93.75
29 63 63 0 1.19 | 87.75 | 63 0 0.14  [87.75 | 63 0 0.16 | 87.75 | 63 0 0.17 | 87.75 | 63 0 223 |87.75 | 63 0 098 |87.75 | 63 0 098 | 87.75
30 62 62 0 1.23 100.00 | 62 0 0.07 100.00 | 62 0 0.25 100.00 | 62 0 0.45 100.00 | 62 0 2.06 |100.00 | 62 0 1.06 100.00 | 62 0 1.06 100.00
31 62 62 0 1.14 8982 | 62 0 005 [89.82 | 62 0 006 |89.82 | 62 0 078 |89.82 | 62 0 311 |89.82 | 62 0 098 |89.82 | 62 0 098 | 89.82
32 61 61 0 1.16 88.89 61 0 0.10 88.89 | 61 0 1.98 88.89 61 0 0.98 88.89 61 0 2.68 88.89 61 0 223 88.89 61 0 223 88.89
33 61 61 0 1.22 92.75 61 0 0.28 9275 | 61 0 0.24 92.75 61 0 1.06 92.75 61 0 1.87 92.75 61 0 2.06 92.75 61 0 2.06 92.75
34 61 61 0 122 199.99 | 61 0 0.08 [99.99 | 61 0 043 9999 | 61 0 098 |99.99 | 61 0 098 ]99.99 | 61 0 311 |99.99 | 61 0 311 | 99.99
35 60 60 0 1.22 94.81 60 0 0.12 94.81 | 60 0 0.54 94.81 60 0 223 94.81 60 0 2.23 94.81 60 0 223 94.81 60 0 223 94.81
36 60 60 0 1.25 [100.00 | 60 0 0.04  [100.00 | 60 0 0.47 |100.00 | 60 0 206 |100.00 | 60 0 206 |100.00 | 60 0 206 |100.00 | 60 0 2.06 |100.00
37 60 60 0 1.23 79.01 60 0 0.06 79.01 | 60 0 0.98 79.01 60 0 3.11 79.01 60 0 3.11 79.01 60 0 3.11 79.01 60 0 3.11 79.01
vﬁei::g 75 38 60 60 0 119 | 99.81 | 60 0 022 [99.81 | 60 0 0.16 | 99.81 | 60 0 268 |99.81 | 60 0 268 9981 | 60 0 268 [99.81 [ 60 0 268 |99.81
39 60 60 0 1.14 9257 | 60 0 0.08 [92.57 | 60 0 025 | 9257 | 60 0 1.87 | 9257 | 60 0 1.87 [ 9257 | 60 0 1.87 | 9257 | 60 0 1.87 | 9257
40 60 60 0 1.25 92.31 60 0 0.19 92.31 | 60 0 0.06 92.31 60 0 0.98 92.31 60 0 0.98 92.31 60 0 0.98 92.31 60 0 0.98 92.31
41 59 59 0 119 [98.18 | 59 0 0.10 [98.18 | 59 0 1.98 [98.18 | 59 0 077 9818 | 59 0 077 9818 | 59 0 077 9818 | 59 0 077 9818
42 55 55 0 1.16 98.18 55 0 0.11 98.18 | 55 0 0.24 98.18 55 0 0.44 98.18 55 0 0.44 98.18 55 0 0.44 98.18 55 0 0.44 98.18
43 50 50 0 130 | 90.00 | 50 0 0.15  [90.00 | 50 0 055 | 90.00 | 50 0 0.34 | 90.00 | 50 0 034 ]90.00 | 50 0 0.34 | 90.00 | 50 0 034 | 90.00
45 38 38 0 4.31 98.78 | 38 0 0.19  [98.78 | 38 0 054 | 9878 | 38 0 050 |9878 | 38 0 050 |98.78 | 38 0 050 |9878 | 38 0 050 |98.78
46 34 34 0 3.59 100.00 | 34 0 0.38 100.00 | 34 0 0.47 100.00 | 34 0 0.61 100.00 | 34 0 0.61 100.00 | 34 0 0.61 100.00 | 34 0 0.61 100.00
52 31 31 0 259 [86.84 | 31 0 035 [86.84 | 31 0 098 |86.84 | 31 0 057 |86.84 | 31 0 057 |86.84 | 31 0 057 |86.84 | 31 0 0.87 | 86.84
54 31 31 0 1.17 96.84 31 0 0.22 96.84 | 31 0 0.23 96.84 31 0 0.99 96.84 31 0 0.99 96.84 31 0 0.99 96.84 31 0 0.99 96.84
56 30 30 0 1.55 99.82 | 30 0 045  [99.82 | 30 0 019 |99.82 | 30 0 046 | 99.82 | 30 0 046 9982 | 30 0 046 | 99.82 | 30 0 046 | 99.82

"' m* is the optimal solution

2 MMAS (no local search), researched by Nuchsara,et al (2007a, 2007b)

®DE1 = DE/best/2 to Exponential 1 position

* DE2 = DE/best/2 to Exponential 2 position

®DE3 = DE/rand to Exponential 2 position

®DE4 = DE/rand to to Exponential 1 position

"DE5 = DE/rand-to-best to Exponential Binomial

® DE6 = DE/rand/1 to Binomial

fuualiian F = 0.9 Ronkkonen et al (2005), CR = 0.8, N = 30, Round = 30, m is the number of station, % is the average relative deviation from the best know solution, E = Efficiency of Balance

0ct



M13197 4.5 wavesIsidaunnsingldnasisimitauaiisuiu MMAS no local search (as1 in38ensng, 2550) Tudnegrstymuuuding

(UALBP-1) fifivunalue (75-297 tusu)

Opt'Tall MMAS? DE1® DE2* DE3® DE4® DE5" DE6®
solution
Problems | Size C.ycle cal. cal. cal. cal. cal. cal. cal.
fime m* m % Time E m| % Time E m % Time E m | % [ Time E m % Time E m % Time E m % Time E
(sec.) (sec.) (sec.) (sec.) (sec.) (sec.) (sec.)
3786 21 21 0 1.03 100.00| 21| © 0.3 100.00 | 21 0 0.14 ]100.00[ 21 0 0.31 |100.00| 21 0 0.31 |100.00] 21 0 0.31 100.00 | 21 0 0.91 100.00
3985 20 20 0 1.00 83.64 | 20| 0 0.06 83.64 20 0 0.11 | 83.64| 20 0 0.89 83.64 20 0 0.89 |83.64| 20 0 0.89 83.64 20 0 0.89 83.64
4206 19 19 0 1.08 8982 | 19| 0 0.07 89.82 | 19 0 0.23 |89.82| 19 0 0.64 | 8982 | 19 0 0.64 |89.82| 19 0 0.64 89.82 19 0 0.64 89.82
4454 18 18 0 1.03 88.89 | 18| 0 0.10 88.89 18 0 0.98 |88.89| 18 0 0.06 88.89 18 0 0.55 | 88.89| 18 0 0.55 88.89 18 0 0.85 88.89
4732 17 17 0 1.02 9275 | 17| O 0.28 92.75 17 0 0.16 | 92.75| 17 0 1.98 92.75 17 0 0.98 |9275| 17 0 0.46 92.75 17 0 0.46 92.75
5048 16 16 0 1.05 99.99 | 16| 0 0.08 99.99 16 0 025 | 99.99| 16 0 024 | 99.99 | 16 0 0.77 199.99| 16 0 0.31 99.99 16 0 0.31 99.99
5408 15 15 0 1.08 9481 | 15| 0 0.12 94.81 15 0 0.06 |94.81| 15 0 0.55 94.81 15 0 0.44 |9481| 15 0 0.89 94.81 15 0 0.89 94.81
Arjus 83 5824 14 14 0 1.10 100.00| 14| 0 0.04 100.00 | 14 0 1.98 |100.00[ 14 0 0.54 | 100.00| 14 0 0.34 |100.00] 14 0 0.64 100.00 | 14 0 0.64 100.00
16nst. 5853 13 14 | 7.69 1.05 79.01 | 13| 0 0.06 89.63 | 13 0 0.24 | 89.63| 13 0 0.47 | 89.63 | 13 0 0.50 |89.63| 13 0 0.06 89.63 13 0 0.06 89.63
6309 13 13 0 1.07 99.81 | 13| 0 0.09 99.81 13 0 0.55 |99.81| 13 0 0.98 99.81 13 0 0.61 |99.81| 13 0 1.98 99.81 13 0 1.98 99.81
6842 12 12 0 1.03 9257 | 12| 0 0.19 92.57 12 0 0.54 | 92.57| 12 0 198 | 9257 | 12 0 0.57 | 92.57| 12 0 0.24 92.57 12 0 0.64 92.57
6883 12 12 0 1.03 9231 | 12| O 0.38 92.31 12 0 0.16 | 92.31| 12 0 0.24 92.31 12 0 0.99 [9231] 12 0 0.59 92.31 12 0 0.79 92.31
7571 11 11 0 1.04 98.18 | 11| 0 0.35 98.18 11 0 0.25 |98.18| 11 0 0.55 98.18 11 0 0.44 ]98.18| 11 0 0.54 98.18 11 0 0.74 98.18
8412 10 10 0 1.05 98.18 | 10| 0 0.22 98.18 | 10 0 0.06 | 98.18| 10 0 0.54 | 98.18 | 10 0 034 |98.18| 10 0 0.47 98.18 10 0 1.97 98.18
8898 9 9 0 1.03 90.00 | 9 0 0.45 90.00 9 0 1.66 | 90.00 9 0 0.16 90.00 9 0 0.50 | 90.00 9 0 0.51 90.00 9 0 1.89 90.00
10816 7 8 [14.29| 1.04 98.78 | 8 |14.29] 0.71 98.78 8 |1429( 078 |98.78| 8 |14.29] 055 | 98.78 8 1429 | 061 |9878]| 8 [14.29] 098 98.78 8 14.29 1.98 98.78

!'m* is the optimal solution

2 MMAS (no local search) , researched by Nuchsara et al (2007b,2007c)
® DE1 = DE/best/2 to Exponential 1 position

“DE2 = DE/best/2 to Exponential 2 position

®DE3 = DE/rand to Exponential 2 position

° DE4
" DE5 = DE/rand-to-best to Exponential Binomial

8 DE6 = DE/rand/1 to Binomial

fvualia1 F = 0.9 Ronkkonen et al (2005), CR = 0.8, N = 30, Round = 30

DE/rand to to Exponential 1 position

m is the number of station, % is the average relative deviation from the best know solution, E = Efficiency of Balance
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M13197 4.6 wavesIsdaumsingldnadismitnauaiisuiu MMAS no local search (Juds1 1nseensng), 2550) ludnednedyvuuudng
(UALBP-1) Aislvunalugy (75-297 9u91u)

Opt"f"al‘ MMAS? DE1® DE2* DE3® DE4® DE5’ DE6®
solution
Problems | Size C?/cle cal. cal. cal. cal. cal. cal. cal.
fime m* m % Time E m % Time E m % Time E m % Time E m % Time E m % Time E m % Time E
(sec.) (sec.) (sec.) (sec.) (sec.) (sec.) (sec.)

1394 50 51 2.00 | 12.08 | 100.00| 51 2.00 12.28 [100.00[ 51 2.00 | 12.30 | 100.00| 51 2.00 | 11.97 | 100.00| 51 2.00 | 11.92 | 100.00| 51 200 | 12.22 | 100.00| 51 2.00 | 12.22 | 100.00
1452 48 49 | 208 | 16.10 | 8684 | 49 | 2.08 | 11.08 | 86.84| 49 | 2.08 | 1210 | 86.84 | 49 | 2.08 | 12.28 | 86.84 | 49 | 208 | 11.63 | 86.84 | 49 | 208 | 1230 | 86.84 | 49 | 2.08 | 1230 | 86.84
1483 a7 48 | 213 | 1130 | 9684 | 48 | 213 | 1130 | 96.84| 48 | 213 | 11.55 | 96.84 | 48 | 213 | 11.08 | 9684 | 48 | 213 | 1191 | 9684 | 48 | 213 | 1210 | 96.84 | 48 | 2.13 | 1210 | 96.84
1515 a6 47 | 217 | 1155 | 99.82 | 47 | 217 | 1155 | 99.82| 47 | 217 | 1203 | 99.82 | 47 | 217 | 11.96 | 99.82 | 47 | 217 | 1197 | 99.82 | 47 | 217 | 1145 | 99.82 | 47 | 217 | 1145 | 99.82
1548 45 46 | 222 | 1192 | 89.82 | 46 | 2.22 | 11.92 | 89.82| 46 | 222 | 1285 | 89.82 | 46 | 222 | 11.45 | 89.82 | 46 | 222 | 1228 | 89.82 | 46 | 222 | 1222 | 89.82 | 46 | 2.22 | 12.22 | 89.82
1584 44 45 | 227 | 11.63 | 8889 | 45 | 2.27 11.63 | 8889 45 | 227 | 1155 | 88.89 | 45 | 227 | 1222 | 8889 | 45 | 2.27 | 11.97 | 88.89 | 45 227 | 1230 | 88.89 | 45 | 227 | 1230 | 88.89
1620 43 44 | 233 | 1191 | 9275 | 44 | 233 | 1191 | 9275| 44 | 233 | 1192 | 9275 | 44 | 233 | 1230 | 9275 | 44 | 233 | 1228 | 9275 | 44 | 233 | 1210 | 9275 | 44 | 233 | 1210 | 9275
1659 42 43 | 238 | 1197 | 99.99 | 43 | 238 | 11.97 | 99.99| 43 | 238 | 11.63 | 99.99 | 43 | 238 | 1210 | 99.99 | 43 | 238 | 11.08 | 99.99 | 43 | 238 | 1255 | 99.99 | 43 | 2.38 | 1255 | 99.99
1699 41 42 | 244 | 1228 | 9481 | 42 | 244 1228 | 9481 42 | 244 | 1191 | 9481 | 42 | 244 | 1145 | 9481 | 42 | 244 | 1196 | 9481 | 42 | 244 | 1230 | 9481 | 42 | 244 | 1230 | 94.81
1742 40 41 | 250 | 11.08 | 100.00| 41 | 2.50 | 11.08 [100.00] 41 | 250 | 11.97 | 100.00| 41 | 250 | 12.22 | 100.00| 41 | 250 | 11.45 | 100.00| 41 | 250 | 11.97 | 100.00| 41 | 2.50 | 11.97 | 100.00
1787 39 40 | 256 | 11.96 | 79.01 [ 40 | 2.56 11.96 | 79.01| 40 | 256 | 1228 [ 79.01 | 40 | 256 | 1230 | 79.01 [ 40 | 2.56 | 1222 | 79.01 | 40 | 256 | 1228 | 79.01 | 40 | 2.56 | 12.28 | 79.01
1834 38 39 | 263 1145 | 99.81 | 39 | 263 | 11.55 | 99.81| 39 | 2.63 | 11.97 | 99.81 | 39 | 263 | 1210 | 99.81 | 39 | 263 | 1230 | 99.81 | 39 | 263 | 12.08 | 99.81 | 39 | 2.63 | 12.08 | 99.81

zs_::‘:slt 297 | 1883 37 38 | 270 | 1222 9257 | 38 | 270 | 1230 | 9257 38 | 270 | 12.28 | 9257 | 38 | 270 | 11.55 | 9257 | 38 | 270 | 1210 | 9257 | 38 | 270 | 11.96 | 9257 | 38 | 2.70 | 11.96 | 92.57
1935 36 37 | 277 | 1230 | 9231 | 37 | 277 | 1210 | 9231 37 | 277 | 11.08 | 9231 | 37 | 277 | 1230 | 9231 | 37 | 277 | 1210 | 9231 | 37 | 277 | 1145 | 9231 | 37 | 277 | 1145 | 9231
1991 35 36 | 286 | 1210 | 9818 | 36 | 2.86 | 11.55 | 98.18| 36 | 2.86 | 11.96 | 98.18 | 36 | 2.86 | 11.97 | 98.18 | 36 | 286 | 11.96 | 98.18 | 36 | 286 | 13.97 | 98.18 | 36 | 2.86 | 1397 | 98.18
2049 34 35 | 294 | 11.55| 9818 | 35 | 294 12.03 | 98.18| 35 | 294 | 1145 | 9818 | 35 | 294 | 1228 | 98.18 [ 35 | 294 | 1155 | 98.18 | 35 294 | 1228 | 98.18 | 35 | 294 | 12.28 | 98.18
2111 33 34 | 3.03| 1230 | 90.00 | 34 | 3.03 | 1285 | 90.00| 34 | 3.03 | 1222 | 90.00 | 34 | 3.03 | 11.08 | 90.00 | 34 | 303 | 1230 | 90.00 | 34 | 3.03 | 11.08 | 90.00 | 34 | 3.03 | 11.08 | 90.00
2177 32 33 313 | 1210 [ 98.78 | 33 | 3.13 11.55 | 9878 | 33 | 3.13 | 1230 [ 98.78 | 33 | 313 | 11.96 | 98.78 [ 33 | 3.13 | 1210 | 98.78 | 33 | 3.13 [ 11.96 | 98.78 | 33 313 | 11.96 | 98.78
2247 31 32 3.23 | 1155 [ 100.00| 32 | 3.23 11.92 [100.00[ 32 | 3.23 | 12.10 [ 100.00| 32 | 323 | 11.45| 100.00( 32 | 3.23 | 11.55 [ 100.00| 32 | 3.23 | 13.45 | 100.00( 32 | 3.23 | 13.45 | 100.00
2322 30 31 | 333 | 1203 | 8684 | 31 | 333 | 1163 | 86.84| 31 | 333 | 1210 | 86.84 | 31 | 333 | 12.22 | 86.84 | 31 | 333 | 1203 | 8684 | 31 | 333 | 1222 | 86.84 | 31 | 3.33 | 1222 | 86.84
2402 29 30 345 | 1285 | 96.84 | 30 | 3.45 1191 | 9684 30 | 345 | 1155 | 96.84 | 30 | 345 | 1230 | 96.84 [ 30 | 345 | 1285 | 9684 | 30 | 345 [ 1230 | 96.84 [ 30 | 3.45 | 1230 [ 96.84
2488 28 29 | 357 | 1284 | 9982 | 29 | 3.57 | 11.97 | 99.82| 29 | 357 | 1230 | 99.82 | 29 | 357 | 1210 | 99.82 | 29 | 357 | 1191 9982 | 29 | 357 | 1155 | 99.82 | 29 | 3.57 | 11.55 | 99.82
2580 27 28 | 370 | 1281 | 9257 | 28 | 37 | 1228 | 9257| 28 | 37 | 1210 | 9257 | 28 | 37 | 1197 | 9257 | 28 | 37 | 1197 | 9257 | 28 | 3.7 | 1392 | 9257 | 28 | 3.7 | 1392 | 9257
2680 26 27 385 | 1177 | 9231 | 27 | 3.85 11.08 | 9231 27 | 385 | 1155 | 9231 | 27 | 385 | 1228 | 9231 | 27 | 385 | 1228 | 9231 | 27 | 385 | 11.63 | 9231 | 27 | 3.85 | 11.63 | 92.31
2787 25 26 | 4.00 | 1263 | 9818 | 26 | 4.00 | 11.99 | 98.18| 26 | 4.00 | 12.03 | 98.18 | 26 | 4.00 | 11.08 | 98.18 | 26 | 4.00 | 11.08 | 98.18 | 26 | 4.00 | 11.91 | 9818 | 26 | 4.00 | 11.91 | 98.18

Total optimal solution 35 | 1.49| 572 | 9461 | 36 | 2.81 11.83 | 94.61| 36 | 2.81 | 11.96 | 94.61 | 36 | 2.81 | 11.92 | 94.61 | 36 | 2.81 | 11.95| 94.61 | 36 | 2.81 | 1222 | 94.61 | 36 | 2.81 | 12.22 | 94.61

found from 62 instances problem /inst.| /inst. | /inst. /inst. | /inst. | /inst. /inst. | /inst. | /inst. /inst. | /inst. | /inst. /inst. | /inst. | /inst. /inst. | /inst. | /inst. /inst. | /inst. | /inst.

"' m* is the optimal solution ¢ DE4 = DE/rand to to Exponential 1 position

2 MMAS (no local search) , researched by Nuchsara et al (2007b,2007¢) "DE5 = DE/rand-to-best to Exponential Binomial

® DE1 = DE/best/2 to Exponential 1 position ®DE6 = DE/rand/1 to Binomial

“DE2 = DE/best/2 to Exponential 2 position fnualiie F = 0.9 Ronkkonen et al (2005), CR = 0.8, N = 30, Round = 30

®DE3 = DE/rand to Exponential 2 position m is the number of station, % is the average relative deviation from the best know solution, E = Efficiency of Balance

44}
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1. Problem Mitchell Size 21
1.1 Problem Mitchell Size 21 (Cycle Time = 14)

Result

1> Time 14.0 Idle Time 0.0: 1 21 20

2> Time 14.0 Idle Time 0.0: 4 3

3> Time 14.0 Idle Time 0.0: 19 5 2

4> Time 13.0 Idle Time 1.0: 18 15 11

5> Time 14.0 Idle Time 0.0: 16 12 13 9
6> Time 11.0 Idle Time 3.0: 8 10 14

7> Time 12.0 Idle Time 20: 7 6

8> Time 13.0 Idle Time 1.0 : 17

Idle Time All : 7.0 E=93.75 %

1.2 Problem Mitchell Size 21 (Cycle Time = 15)

Result

1> Time 14.0Idle Time 1.0: 1 21 20

2> Time 15.0 Idle Time 0.0: 17 19

3> Time 14.0 Idle Time 1.0: 18 16 15 12
4> Time 13.0 Idle Time 20: 10 11 3

5> Time 13.0 Idle Time 2.0: 14 9 13

6> Time 15.0 Idle Time 0.0: 7

7> Time 13.0 Idle Time 2.0: 6

8> Time 8.0 Idle Time 7.0: 4 2

Idle Time All : 15.0 E=87.5%

1.3 Problem Mitchell Size 21 (Cycle Time = 21)

Result

1> Time 21.0 Idle Time 0.0: 1 2 19 21 18
2> Time 21.0Idle Time 0.0: 15 3 14 12 16
3> Time 21.0 Idle Time 0.0: 11 7 10 5

4> Time 21.0 Idle Time 0.0: 8 6 4 9

5> Time 21.0 Idle Time 0.0: 17 13 20

Idle Time All: 0.0 E=100.0 %

2. Problem Heskiaoff Size 28

2.1 Problem Heskiaoff Size 28 (Cycle Time = 114)
Result

1> Time 1100 1dle Timed4.0: 1 21 4 5 26 23 22 27
2> Time 114.0 Idle Time 0.0: 28 24 16 18 15

3> Time 114.0 Idle Time 0.0: 8 14
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4> Time 108.0 Idle Time 6.0 : 13

5> Time 101.0 Idle Time 13.0: 9 10 7

6> Time 100.0 Idle Time 14.0: 6 12 11 3 17
7> Time 107.0 Idle Time 7.0 : 25

8> Time 106.0 Idle Time 80: 2 19

9> Time 67.0 Idle Time 47.0 : 20

Idle Time All : 99.0 E=84.82 %

2.2 Problem Heskiaoff Size 28 (Cycle Time = 128)
Result

1> Time 126.0 Idle Time 2.0: 1 19 26 23 5 27
2> Time 123.0 Idle Time 5.0: 20 3 21 4 2

3> Time 117.0 Idle Time 11.0: 28 18 22 24 16
4> Time 74.0 Idle Time 54.0: 14 15 7 10

5> Time 110.0 Idle Time 18.0: 11 6 8

6> Time 128.0 Idle Time 0.0: 9 17

7> Time 108.0 Idle Time 20.0: 13

8> Time 126.0 Idle Time 2.0: 12 25

Idle Time All : 112.0 E=88.89 %

2.3 Problem Heskiaoff Size 28 (Cycle Time = 138)

Result

1> Time 136.0 Idle Time 2.0: 1 2 5 23 26

2> Time 137.0 Idle Time 1.0: 6 28 21 27 18 15 4
3> Time 133.0 Idle Time 50: 20 16 3 7 22

4> Time 118.0 Idle Time 20.0: 17 11

5> Time 130.0 Idle Time 80: 8 19 24

6> Time 136.0 Idle Time 2.0: 9 10 14

7> Time 126.0 Idle Time 12.0: 12 25

2.4 Problem Heskiaoff Size 28 (Cycle Time = 138) (#19)

Result
8> Time 108.0 Idle Time 30.0 : 13
Idle Time All : 80.0 E=92.75 %

2.5 Problem Heskiaoff Size 28 (Cycle Time = 205)

Result

1> Time 2050 Idle Time 0.0: 1 3 22 28 24 5

2> Time 205.0 Idle Time 0.0: 25 4 8 27 21 26 15 23
3> Time 205.0 Idle Time 0.0: 14 19 2 18 9 16

4> Time 204.0 Idle Time 1.0: 7 10 12 6 11 20
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5> Time 205.0 Idle Time 0.0 : 13 17
Idle Time All: 1.0 E=99.9 %

2.6 Problem Heskiaoff Size 28 (Cycle Time = 216)

Result

1> Time 211.0 Idle Time 5.0: 1 3 22 26 23 19 4 5 24 21 27
2> Time 193.0 Idle Time 23.0: 25 2 6

3> Time 202.0 Idle Time 14.0: 17 7 28 16 18

4> Time 205.0 Idle Time 11.0: 14 15 13 12 11

5> Time 213.0 Idle Time 3.0: 10 20 9 8

Idle Time All : 56.0 E=94.81 %

2.7 Problem Heskiaoff Size 28 (Cycle Time = 256)
Result

1> Time 256.0 Idle Time 0.0: 1 28 21 15 2 3

2> Time 256.0 Idle Time 0.0: 11 25 8 14 27 16 23 5
3> Time 256.0 Idle Time 0.0: 19 13 9 26 10 22 4

4> Time 256.0 Idle Time 0.0: 12 18 17 6 20 24 7

Idle Time All: 0.0 E=100.0 %

2.8 Problem Heskiaoff Size 28 (Cycle Time = 324)

Result

1> Time 3220 1dle Time2.0: 1 5 19 3 22 28 24 2 4 27 26
2> Time 316.0 Idle Time 8.0: 17 25 20 18 15 11 23 16

3> Time 247.0 Idle Time 77.0: 7 10 6 14 8 12 21

4> Time 139.0 Idle Time 185.0: 13 9

Idle Time All : 272.0 E=79.01 %

2.9 Problem Heskiaoff Size 28 (Cycle Time = 342)

Result

1> Time 341.01dle Time 1.0: 1 26 28 24 19 16 22 17 23 4 5 15
2> Time 342.0 Idle Time 0.0: 11 8 10 2 9 13 18

3> Time 341.0 Idle Time 1.0: 12 7 6 14 21 20 25 27 3

Idle Time All : 2.0 E=99.81 %

3. Problem Sawyer Size 30
3.1 Problem Sawyer Size 30 (Cycle Time = 25)
Result

1> Time 25.0 Idle Time 0.0: 1 5 6 30 2
2> Time 240 Idle Time 1.0: 7 4



3> Time 25.0 Idle Time 0.0 :
4> Time 22.0 Idle Time 3.0 :
5> Time 24.0 Idle Time 1.0 :
6> Time 25.0 Idle Time 0.0 :
7> Time 25.0 Idle Time 0.0 :
8> Time 25.0 Idle Time 0.0 :
9> Time 24.0 Idle Time 1.0 :
10> Time 23.0 Idle Time 2.0 :
11> Time 25.0 Idle Time 0.0 :
12> Time 21.0 Idle Time 4.0 :
13> Time 17.0 Idle Time 8.0 :

29
19
18
27
23
22
14
20
16
21
25

14> Time 19.0 Idle Time 6.0: 3
Idle Time All : 26.0 E=92.57 %

3.2 Problem Sawyer Size 30 (Cycle Time = 27)

Result

1> Time 27.0 Idle Time 0.0 :
2> Time 26.0 Idle Time 1.0 :
3> Time 27.0 Idle Time 0.0 :
4> Time 26.0 Idle Time 1.0 :
5> Time 26.0 Idle Time 1.0 :
6> Time 25.0 Idle Time 2.0 :
7> Time 26.0 Idle Time 1.0 :
8> Time 23.0 Idle Time 4.0 :
9> Time 27.0 Idle Time 0.0 :
10> Time 26.0 Idle Time 1.0 :
11> Time 26.0 Idle Time 1.0 :
12> Time 21.0 Idle Time 6.0 :
13> Time 18.0 Idle Time 9.0 :

8 9
10
11

26
15 17
13 24
28
12

1 2 4 30
7 6 10 5

12
20
29
27
23
22
25
3
17
21
19

Idle Time All : 27.0 E=92.31 %

3.3 Problem Sawyer Size 30 (Cycle Time = 30)

Result

1> Time 30.0 Idle Time 0.0 :
2> Time 30.0 Idle Time 0.0 :
3> Time 29.0 Idle Time 1.0 :
4> Time 30.0 Idle Time 0.0 :
5> Time 30.0 Idle Time 0.0 :
6> Time 27.0 Idle Time 3.0 :
7> Time 28.0 Idle Time 2.0 :
8> Time 30.0 Idle Time 0.0 :

1

13 24
16
14

26 9
15
8
28
18 11

19 30 5

6 2 4 28

3

11
14
25
22
23

16

20

24 15 17
18

7

8 10

127



128

9> Time 30.0 Idle Time 0.0: 9 12 29
10> Time 30.0 Idle Time 0.0: 21 26
11> Time 30.0 Idle Time 0.0 : 13 27
Idle Time All : 6.0 E=98.18 %

3.4 Problem Sawyer Size 30 (Cycle Time = 33)

Result

1> Time 33.0 Idle Time 0.0: 1 11 2 30 5
2> Time 33.0 Idle Time 0.0: 29 3

3> Time 33.0 Idle Time 0.0: 6 12 16 17
4> Time 33.0 Idle Time 0.0: 20 18 28

5> Time 33.0 Idle Time 0.0: 19 4 13

6> Time 29.0 Idle Time 4.0: 27 10

7> Time 33.0Idle Time 0.0: 23 26 9 24
8> Time 33.0 Idle Time 0.0: 8 22 15

9> Time 33.0 Idle Time 0.0: 21 14

10> Time 31.0 Idle Time 2.0: 7 25

Idle Time All : 6.0 E=98.18 %

3.5 Problem Sawyer Size 30 (Cycle Time = 36)

Result

1> Time 35.0 Idle Time 1.0: 1 30 10 2 28 24
2> Time 35.0 Idle Time 1.0: 20 3

3> Time 35.0 Idle Time 1.0: 21 14 5

4> Time 36.0 Idle Time 0.0: 15 29 6 17 13
5> Time 34.0 Idle Time 20: 7 8 18

6> Time 32.0 Idle Time 4.0: 9 25 22

7> Time 35.0 Idle Time 1.0: 23 26 4

8> Time 35.0 Idle Time 1.0: 27 16

9> Time 32.0 Idle Time 4.0: 19 11

10> Time 15.0 Idle Time 21.0: 12

Idle Time All : 36.0 E=90.0 %

3.6 Problem Sawyer Size 30 (Cycle Time = 41)

Result

1> Time 41.0Idle Time 0.0: 1 5 19 30 28 10
2> Time 41.0 Idle Time 0.0: 24 25 18 2

3> Time 40.0 Idle Time 1.0: 26 9 29 20

4> Time 41.0 Idle Time 0.0: 16 21 8

5> Time 40.0 Idle Time 1.0: 7 22 4 17



3.6 Problem Sawyer Size 30 (Cycle Time = 41) (#9)

Result

6> Time 41.0 Idle Time 0.0 :
7> Time 41.0 Idle Time 0.0 :
8> Time 39.0 Idle Time 2.0 :
Idle Time All : 4.0 E=98.78 %

23 3 6
12 14 11
13 15 27

3.7 Problem Sawyer Size 30 (Cycle Time = 54)

Result

1> Time 54.0 Idle Time 0.0 :
2> Time 54.0 Idle Time 0.0 :
3> Time 54.0 Idle Time 0.0 :
4> Time 54.0 Idle Time 0.0 :
5> Time 54.0 Idle Time 0.0 :
6> Time 54.0 Idle Time 0.0 :

1 4 10 7 28 2 5 30
29 6 27 26

25 9 23 12 13

22 8 14 19

20 18 21 24

16 17 15 3 11

Idle Time All: 0.0 E=100.0 %

3.8 Problem Sawyer Size 30 (Cycle Time = 75)

Result

1> Time 75.0 Idle Time 0.0 :

2> Time 75.0 Idle Time 0.0

3> Time 74.0 Idle Time 1.0 :
4> Time 73.0 Idle Time 2.0 :

1 11 3 5 2 10 17 28 16 30

271 29 18 6 12 13
7 14 8 20 21 9
15 23 22 19 24 26

5> Time 27.0 Idle Time 48.0: 25 4
Idle Time All : 51.0 E=86.4 %

4. Problem Kilbridge&Wester Size 45

4.1 Problem Kilbridge&Wester Size 45 (Cycle Time = 57)

Result

1> Time 55.0 Idle Time 2.0 :
2> Time 55.0 Idle Time 2.0 :
3> Time 54.0 Idle Time 3.0 :
4> Time 57.0 Idle Time 0.0 :
5> Time 54.0 Idle Time 3.0 :

4.1 Problem Kilbridge&Wester Size 45 (Cycle Time = 57)

Result

6> Time 56.0 Idle Time 1.0 :
7> Time 56.0 Idle Time 1.0 :
8> Time 55.0 Idle Time 2.0 :
9> Time 55.0 Idle Time 2.0 :

1 11 39 2 45 13 12
37 41 4 9

29 5 8 10

30 6 7 42 43 32
14 31 3 40 15

23 25 18

16 19 38 20 17 35
271 28 22 34 36
24 26 33 44

129



10> Time 55.0 Idle Time 2.0: 21
Idle Time All : 18.0 E=96.84 %

4.2 Problem Kilbridge&Wester Size 45 (Cycle Time = 79)
Result

1> Time 79.0 Idle Time 0.0: 1 3 5 11 13 45 42 43 37
2> Time 79.0 Idle Time 0.0: 15 24 41 18 12 32

3> Time 78.0 Idle Time 1.0: 31 33 29 40 35 38 9 39 2
4> Time 79.0 Idle Time 0.0: 8 23 4 14 19

5> Time 79.0 Idle Time 0.0: 17 25 20 36 6 30 26

6> Time 79.0 Idle Time 0.0 : 21 22 44 27

7> Time 79.0 Idle Time 0.0: 7 10 28 34 16

Idle Time All : 1.0 E=99.82 %

4.3 Problem Kilbridge&Wester Size 45 (Cycle Time = 92)
Result

1> Time 920 Idle Time 0.0: 1 12 3 44 45 43 13 7 11 5
2> Time 92.0 Idle Time 0.0: 14 30 42 8 31 41 29 32 40
3> Time 92.0 Idle Time 0.0: 38 9 25 35 17 26 36 39

4> Time 92.0 Idle Time 0.0: 28 33 24 2 37 15

5> Time 92.0 Idle Time 0.0: 4 22 21 19 18 34

6> Time 92.0 Idle Time 0.0: 20 23 6 16 10 27

Idle Time All : 0.0 E=100.0 %

4.4 Problem Kilbridge&Wester Size 45 (Cycle Time = 110)
Result

1> Time 108.0 Idle Time 2.0: 1 44 43 39 2 11 42 3 8 7 12 45
2> Time 108.0 Idle Time 2.0: 41 13 4 29 10 30 5 40 6 37
3> Time 107.0 Idle Time 3.0: 9 31 14 35 17 25 38 26

4.4 Problem Kilbridge&Wester Size 45 (Cycle Time = 110) (si0)
Result

4> Time 110.0 Idle Time 0.0: 28 27 22 21 34 36

5> Time 71.0 Idle Time 39.0: 20 19 18 33 23 15 32

6> Time 48.0 Idle Time 62.0: 16 24

Idle Time All : 108.0 E=83.64 %

4.5 Problem Kilbridge&Wester Size 45 (Cycle Time = 138)

Result
1> Time 138.0 Idle Time 0.0: 1 7 9 41 40 10 31 3 8 30 29 35 45

2> Time 138.0 Idle Time 0.0: 38 2 42 28 34 5 43 44 33 6 39 36 27 32

130
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3> Time 138.0 Idle Time 0.0: 23 4 15 26 37 19 22 24 25 20
4> Time 138.0 Idle Time 0.0: 18 21 16 13 17 11 14 12
Idle Time All : 0.0 E=100.0 %

4.6 Problem Kilbridge&Wester Size 45 (Cycle Time = 184)

Result
1> Time 1840 Idle Time 0.0: 1 44 11 13 45 42 43 2 39 3 14 29 32 37 25 30
12 31 7 15

2> Time 184.0 Idle Time 0.0: 5 17 4 41 27 24 33 18 26 16 9 23
3> Time 184.0 Idle Time 0.0: 10 40 19 36 34 6 20 21 28 35 8 22 38
Idle Time All : 0.0 E=100.0 %

5. Problem Arcus 1 83
5.1 Problem Arcus 1 83 (Cycle Time = 3786)

Result

1> Time 3631.0 Idle Time 155.0: 1 2 4

2> Time 3691.0 Idle Time 95.0 : 83

3> Time 3716.0 Idle Time 70.0: 5 81 79 82

4> Time 3659.0 Idle Time 127.0: 8 78 43 40

5> Time 3748.0 Idle Time 38.0: 37 35 16 33 77
6> Time 3767.0 Idle Time 19.0: 80 39 76

7> Time 3785.0 Idle Time 1.0: 36 31 75 44 12

8> Time 3412.0 Idle Time 374.0: 46 68 48 50 73
9> Time 3426.0 Idle Time 360.0: 51 72 52 71 67
10> Time 3526.0 Idle Time 260.0: 66 69 65 27 15 64
11> Time 3634.0 Idle Time 152.0: 20 49 22 26 63 13
12> Time 3664.0 Idle Time 122.0: 62 10 3

13> Time 3589.0 Idle Time 197.0: 25 7 61

14> Time 3765.0 Idle Time 21.0: 60 59 17 70 32
15> Time 3706.0 Idle Time 80.0: 58 28 18 53

16> Time 3527.0 Idle Time 259.0: 57 56 54 9

17> Time 3527.0 Idle Time 259.0: 55 74 21

18> Time 3335.0 Idle Time 451.0: 23 30 24 29

19> Time 3561.0 Idle Time 225.0: 19 38 41 45 47
20> Time 3581.0 Idle Time 205.0: 6 11

21> Time 3655.0 Idle Time 131.0: 34 42 14

Idle Time All : 3601.0 E=95.47 %

5.2 Problem Arcus 1 83 (Cycle Time = 3985)
Result



1> Time 3631.0 Idle Time 354.0 :
2> Time 3691.0 Idle Time 294.0 :
3> Time 3331.0 Idle Time 654.0 :
4> Time 3809.0 Idle Time 176.0 :
5> Time 3900.0 Idle Time 85.0 :

132

1 2 4

83

6 81

9 10 13 79
14 80 18

6> Time 3983.0 Idle Time 2.0: 23 25 3 19
7> Time 3917.0 Idle Time 68.0: 77 24 16 28

8> Time 3820.0 Idle Time 165.0 :

29 43 39 30

9> Time 3904.0 Idle Time 81.0: 40 35 15 42 20

10> Time 3938.0 Idle Time 47.0 :
11> Time 3821.0 Idle Time 164.0
12> Time 3883.0 Idle Time 102.0

37 33 36 38
11 74 44
68 75 73 67 T1 69

13> Time 3977.0 Idle Time 8.0: 46 70 49 47 27 66

14> Time 3961.0 Idle Time 24.0: 65 21 22 45 64 12 41
15> Time 3791.0 Idle Time 194.0: 63 62 5 61 76

16> Time 3880.0 Idle Time 105.0: 60 72 78 32

17> Time 3690.0 Idle Time 295.0: 59 58 34 82

18> Time 3789.0 Idle Time 196.0: 57 8 31 17 48

19> Time 3965.0 Idle Time 20.0 :
20> Time 3224.0 Idle Time 761.0

Idle Time All : 3795.0 E=95.24 %

56 50 51 7
: 55 52 54 53 26

5.3 Problem Arcus 1 83 (Cycle Time = 4206)

Result
1> Time 3631.0 Idle Time 575.0 :

1 2 4

2> Time 4141.0 Idle Time 65.0: 83 81

3> Time 4007.0 Idle Time 199.0 :
4> Time 3821.0 Idle Time 385.0 :
5> Time 4037.0 Idle Time 169.0 :
6> Time 4023.0 Idle Time 183.0 :
7> Time 3955.0 Idle Time 251.0 :

7 11 79 15 20
80 77 40 76

43 35 37 39

31 30 36 8

29 38 13 26 44

8> Time 4206.0 Idle Time 0.0: 46 10 14 18 48

9> Time 4088.0 Idle Time 118.0 :
10> Time 4178.0 Idle Time 28.0 :

11> Time 3841.0 Idle Time 365.0 :
12> Time 4079.0 Idle Time 127.0 :
13> Time 4019.0 Idle Time 187.0 :

14> Time 4159.0 Idle Time 47.0 :

15> Time 4006.0 Idle Time 200.0 :
16> Time 4028.0 Idle Time 178.0 :
17> Time 3740.0 Idle Time 466.0 :

19 23
51 21
271 9 82
3 75 33 24
73 68 72 69 52
53 71 70 67 49 54 66
55 65 47 64 56 63 41
45 62 57 5 58
59 61 60 78 32

50 17 25
22 28 12

16
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18> Time 3831.0 Idle Time 375.0: 74 42
19> Time 4115.0 Idle Time 91.0: 6 34
Idle Time All : 4009.0 E=94.98 %

5.4 Problem Arcus 1 83 (Cycle Time = 4454)

Result

1> Time 4358.0 Idle Time 96.0: 1 2 5

2> Time 4141.0 Idle Time 313.0: 83 81

3> Time 3994.0 Idle Time 460.0: 79 78 34 4 76

4> Time 4015.0 Idle Time 439.0: 35 32 75 36

5> Time 4290.0 Idle Time 164.0: 33 25 6

6> Time 4444.0 Idle Time 10.0: 37 43 10 16 40 12

7> Time 3964.0 Idle Time 490.0: 14 19 7

8> Time 4357.0 Idle Time 97.0: 24 73 71 39 77

9> Time 4379.0 Idle Time 75.0: 69 70 44 46 48 29 15
10> Time 4394.0 Idle Time 60.0: 50 30 31 42 20 51
11> Time 4323.0 Idle Time 131.0: 52 26 9 8

12> Time 4339.0 Idle Time 115.0: 82 53 28 54

13> Time 4349.0 Idle Time 105.0: 17 22 55 27 72

14> Time 4162.0 Idle Time 292.0: 21 56 80 68 13

15> Time 4257.0 Idle Time 197.0: 57 58 59 67 60 18 11
16> Time 4221.0 Idle Time 233.0: 61 23 66 62 63 64 49
17> Time 4287.0 Idle Time 167.0: 65 47 3 38

18> Time 3631.0 Idle Time 823.0: 45 41 74

Idle Time All : 4267.0 E=94.68 %

5.5 Problem Arcus 1 83 (Cycle Time = 4732)

Result

1> Time 4494.0 Idle Time 238.0: 1 2 3

2> Time 4664.0 Idle Time 68.0: 4 83

3> Time 4116.0 Idle Time 616.0: 82 80 79 81

4> Time 4397.0 Idle Time 335.0: 77 34 16 76 32 25

5> Time 4445.0 Idle Time 287.0: 10 35 42 75

6> Time 4693.0 Idle Time 39.0: 73 14 72 78

7> Time 4599.0 Idle Time 133.0: 19 71 69 33 36 40 68
8> Time 4427.0 Idle Time 305.0: 38 67 27 37 49 41

9> Time 4666.0 Idle Time 66.0: 45 66 21 47 39 65 44
10> Time 4369.0 Idle Time 363.0: 64 46 63 17 31 62 12
11> Time 4667.0 Idle Time 65.0: 61 30 29 9 60

12> Time 4240.0 Idle Time 492.0: 59 58 24 22 70 13
13> Time 4440.0 Idle Time 292.0: 18 20 23 8 15 48 57
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5.5 Problem Arcus 1 83 (Cycle Time = 4732) (519)
Result

14> Time 4138.0 Idle Time 594.0: 50 11 26 56 51 43
15> Time 4615.0 Idle Time 117.0: 52 55 53 6

16> Time 4692.0 Idle Time 40.0: 54 7 28

17> Time 4243.0 Idle Time 489.0: 74 5

Idle Time All : 4539.0 E=94.36 %

5.6 Problem Arcus 1 83 (Cycle Time = 5048)

Result

1> Time 4358.0 Idle Time 690.0: 1 2 5

2> Time 4731.0 Idle Time 317.0: 8 83

3> Time 5030.0 Idle Time 18.0: 81 77 82 78 43 76 79

4> Time 4960.0 Idle Time 88.0: 35 80 34 16

5> Time 4829.0 Idle Time 219.0: 42 32 40 12 25 37

6> Time 5029.0 Idle Time 19.0: 36 38 28 33

7> Time 4881.0 Idle Time 167.0: 41 17 13 22 24 39

8> Time 4666.0 Idle Time 382.0: 20 44 46 21 18 26 29 48
9> Time 4613.0 Idle Time 435.0: 23 50 51 52 19 27 75

10> Time 4685.0 Idle Time 363.0: 53 73 54 14 72

11> Time 4757.0 Idle Time 291.0: 55 71 56 57 58 69 30 68
12> Time 4606.0 Idle Time 442.0: 49 67 47 59 66 4 31

13> Time 4615.0 Idle Time 433.0: 65 64 6 60

14> Time 4852.0 Idle Time 196.0: 63 7 62 61 70

15> Time 4493.0 Idle Time 555.0: 11 74 10

16> Time 4800.0 Idle Time 248.0: 9 45 3 15

Idle Time All : 4863.0 E=93.98 %

5.7 Problem Arcus 1 83 (Cycle Time = 5408)

Result

1> Time 5364.0 Idle Time 44.0: 1 83

2> Time 4774.0 Idle Time 634.0: 81 79 2 4 80

3> Time 5156.0 Idle Time 252.0: 78 40 37 77 3

4> Time 5219.0 Idle Time 189.0: 5 7 42

5> Time 5176.0 Idle Time 232.0: 11 39 15 33 76 44 20 43
6> Time 5397.0 Idle Time 11.0: 46 36 32 25 13 75 18

7> Time 5300.0 Idle Time 108.0: 10 73 72 70 23

8> Time 5323.0 Idle Time 85.0: 14 74 71 38

9> Time 5131.0 Idle Time 277.0: 41 6 48 68 19

10> Time 5363.0 Idle Time 45.0: 24 67 66 29 30 45 50 69
11> Time 5302.0 Idle Time 106.0: 51 47 27 52 17 21 65 26



12> Time 5092.0 Idle Time 316.0: 53 22 64 34 54 31 49
13> Time 5315.0 Idle Time 93.0: 55 63 9 28 16

14> Time 4959.0 Idle Time 449.0: 62 61 60 12 35 8 56
15> Time 3034.0 Idle Time 2374.0: 59 58 57 82

Idle Time All : 5215.0 E=93.57 %

5.8 Problem Arcus 1 83 (Cycle Time = 5824)

Result

1> Time 5814.0 Idle Time 10.0: 1 83 81

2> Time 5439.0 Idle Time 385.0: 82 79 77 40 34 37 16
3> Time 5687.0 Idle Time 137.0: 42 78 76 43 32 12 25
4> Time 5729.0 Idle Time 95.0: 75 9 74 33

5> Time 5671.0 Idle Time 153.0: 35 26 8 36 39

6> Time 5648.0 Idle Time 176.0: 38 31 30 15 29 44 68
7> Time 5561.0 Idle Time 263.0: 24 19 46 11 14 5

8> Time 5516.0 Idle Time 308.0: 48 50 51 7 4 67

9> Time 5345.0 Idle Time 479.0: 52 53 23 66 10 41 73
10> Time 5732.0 Idle Time 92.0: 45 65 54 55 71 56 18
11> Time 5730.0 Idle Time 94.0 : 47 27 70 21 22 64 49
12> Time 4755.0 Idle Time 1069.0: 58 59 17 60 61 63 2
13> Time 5295.0 Idle Time 529.0: 62 3 6

14> Time 3983.0 Idle Time 1841.0: 80 28

Idle Time All : 5631.0 E=93.09 %

5.9 Problem Arcus 1 83 (Cycle Time = 5853)

Result

1> Time 5814.0 Idle Time 39.0: 1 83 81

2> Time 5360.0 Idle Time 493.0: 2 4 3 79 82

3> Time 5495.0 Idle Time 358.0: 80 7 78

4> Time 5593.0 Idle Time 260.0: 40 42 37 76 75 73 33
5> Time 5538.0 Idle Time 315.0: 74 23 8 43 71

6> Time 5814.0 Idle Time 39.0: 32 28 39 72 16 10

7> Time 5746.0 Idle Time 107.0: 12 44 31 30 36 35 68
8> Time 5753.0 Idle Time 100.0: 46 29 70 26 48 34 24

9> Time 5742.0 Idle Time 111.0: 19 50 20 67 17 51 38 15 69 77

10> Time 5415.0 Idle Time 438.0: 13 41 22 21 52 27 66
11> Time 5815.0 Idle Time 38.0: 65 47 64 63 62 6 57
12> Time 5363.0 Idle Time 490.0: 61 25 53 45 5 14 56
13> Time 5350.0 Idle Time 503.0: 60 54 55 59 58 9 18
Idle Time All : 4037.0 E=95.63 %

20

69 72
57 13

49 11

135
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5.10 Problem Arcus 1 83 (Cycle Time = 6309)

Result

1> Time 6080.0 Idle Time 229.0: 1 83 81 79

2> Time 6177.0 Idle Time 132.0: 82 80 77 34 32

3> Time 6285.0 Idle Time 24.0: 43 40 8 5 39 25

4> Time 6237.0 Idle Time 72.0: 44 15 10 14 46 42 19 20
5> Time 6218.0 Idle Time 91.0: 48 26 31 28 16 76 13 37
6> Time 5838.0 Idle Time 471.0: 18 12 30 9 23 35

7> Time 5868.0 Idle Time 441.0: 6 17 29 75 33

8> Time 6113.0 Idle Time 196.0: 68 21 67 3 4 66 78

9> Time 6101.0 Idle Time 208.0: 65 64 7 11 36 27

10> Time 6025.0 Idle Time 284.0: 63 69 49 50 51 22 24 2 62
11> Time 5468.0 Idle Time 841.0: 71 52 70 47 53 61 54 38
12> Time 5796.0 Idle Time 513.0: 45 72 60 55 41 56 57 73
13> Time 3699.0 Idle Time 2610.0: 59 58 74

Idle Time All : 6112.0 E=92.55 %

5.11 Problem Arcus 1 83 (Cycle Time = 6842)

Result

1> Time 6799.0 Idle Time 43.0: 1 2 83 81

2> Time 6577.0 Idle Time 265.0: 3 82 5 8 77

3> Time 6836.0 Idle Time 6.0: 40 78 6 76 42 16

4> Time 6777.0 Idle Time 65.0: 39 75 12 9 68 31 15 44

5> Time 6764.0 Idle Time 78.0: 67 74 66 10 30 46 20

6> Time 6787.0 Idle Time 55.0: 29 48 24 25 13 18 50 65 32 11
7> Time 6747.0 Idle Time 95.0: 17 21 51 33 64 27 63 28 69
8> Time 6808.0 Idle Time 34.0: 70 52 62 53 54 22 36 73 71
9> Time 6815.0 Idle Time 27.0: 55 14 43 7 49 38 79

10> Time 6827.0 Idle Time 15.0: 56 41 45 72 37 80 4

11> Time 6434.0 Idle Time 408.0: 35 34 26 61 23 57 47 19
12> Time 1734.0 Idle Time 5108.0: 58 59 60

Idle Time All : 6199.0 E=92.45 %

5.12 Problem Arcus 1 83 (Cycle Time = 6883)

Result

1> Time 6664.0 Idle Time 219.0: 1 83 82

2> Time 3535.0 Idle Time 3348.0: 2 81 80

3> Time 5815.0 Idle Time 1068.0: 5 4 3 79 8

4> Time 6844.0 Idle Time 39.0: 77 34 35 76 32 33 40 16 43
5> Time 6567.0 Idle Time 316.0: 25 36 37 75 10 38 12
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6> Time 6574.0 Idle Time 309.0: 68 41 13 20 67 6 39

7> Time 6414.0 Idle Time 469.0: 15 44 31 45 46 26 66 17 30

8> Time 6473.0 Idle Time 410.0: 21 29 47 24 19 65 64 22 11 48
9> Time 6807.0 Idle Time 76.0: 63 50 51 62 7 73 78

10> Time 6722.0 Idle Time 161.0: 52 61 72 71 74 49 23

11> Time 6764.0 Idle Time 119.0: 70 60 59 69 28 9 53

12> Time 6726.0 Idle Time 157.0: 58 54 57 56 14 18 27 55 42
Idle Time All : 6691.0 E=91.9 %

5.13 Problem Arcus 1 83 (Cycle Time = 7571)

Result

1> Time 6799.0 Idle Time 772.0: 1 2 83 81

2> Time 7294.0 Idle Time 277.0: 82 79 77 40 80 35 76 75

3> Time 7437.0 Idle Time 134.0: 16 73 68 34 78 3 67 12

4> Time 7522.0 Idle Time 49.0: 9 66 6 65 72 71

5> Time 7382.0 Idle Time 189.0: 70 64 63 4 74 69 43 49

6> Time 7285.0 Idle Time 286.0: 27 62 7 39 44 23 18 21

7> Time 7419.0 Idle Time 152.0: 36 61 15 46 5 38 47 22

8> Time 7259.0 Idle Time 312.0: 41 20 45 42 48 11 26 60 8 32
9> Time 7489.0 Idle Time 82.0: 59 50 33 25 28 58 13 10 31
10> Time 6893.0 Idle Time 678.0: 30 24 29 51 14 57 52 53 17
11> Time 3126.0 Idle Time 4445.0: 56 19 55 54 37

Idle Time All : 7376.0 E=91.14 %

5.14 Problem Arcus 1 83 (Cycle Time = 8412)

Result

1> Time 7322.0 Idle Time 1090.0: 1 2 4 83

2> Time 8167.0 Idle Time 245.0: 82 6 81 5 3

3> Time 8192.0 Idle Time 220.0: 8 9 78 76 42 39 15 40

4> Time 8401.0 Idle Time 11.0: 75 77 12 11 20 35 37 16 74 68

5> Time 8242.0 Idle Time 170.0: 67 32 33 26 31 73 36 25 44 79 66
6> Time 8399.0 Idle Time 13.0: 28 65 38 24 72 71 64 19 69 13

7> Time 8036.0 Idle Time 376.0: 27 63 18 30 62 70 17 29 14 22
8> Time 8014.0 Idle Time 398.0: 61 60 59 58 46 7 21 57 48 23 49
9> Time 8012.0 Idle Time 400.0: 50 47 56 55 51 34 10 80 41

10> Time 3120.0 Idle Time 5292.0: 52 45 53 54 43

Idle Time All : 8215.0 E=90.23 %

5.15 Problem Arcus 1 83 (Cycle Time = 8898)
Result
1> Time 7649.0 Idle Time 1249.0: 1 2 83 82
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2> Time 8867.0 Idle Tme 31.0: 4 3 7 80 11 81 15
3> Time 8838.0 Idle Time 60.0: 39 79 77 16 43 76 5 75 31 42 12
4> Time 8752.0 Idle Time 146.0: 8 34 74 68 26 73 23 67

5.15 Problem Arcus 1 83 (Cycle Time = 8898)

Result

5> Time 8698.0 Idle Time 200.0: 71 18 72 66 30 9 44 20 70 36

6> Time 8812.0 Idle Time 86.0: 13 10 69 38 65 17 64 22 46 28

7> Time 8387.0 Idle Time 511.0: 27 48 21 63 62 61 41 29 24 50 40 32 25
8> Time 8386.0 Idle Time 512.0: 60 37 33 45 19 51 59 6 52 53

9> Time 7516.0 Idle Time 1382.0: 54 55 47 58 56 57 14 35 49 78

Idle Time All : 4177.0 E=94.78 %

5.16 Problem Arcus 1 83 (Cycle Time = 10816)

Result

1> Time 9022.0 Idle Time 1794.0: 1 2 83 5 4

2> Time 10792.0 Idle Time 24.0: 82 3 81 79 77 35 78 80 8 43

3> Time 10726.0 Idle Time 90.0: 39 36 40 16 38 42 37 76 12 75 15 11 68 20
4> Time 10611.0 Idle Time 205.0: 44 46 13 33 73 48 67 66 50 74 65 9

5> Time 10703.0 Idle Time 113.0: 17 28 64 24 63 62 21 23 61 51 29 71 18 10
6> Time 10785.0 Idle Time 31.0: 27 60 69 30 14 59 25 26 7 72 41 49

7> Time 10354.0 Idle Time 462.0: 58 70 57 47 45 56 6 32 31 22 34

8> Time 2912.0 Idle Time 7904.0: 55 54 53 19 52

Idle Time All : 10623.0 E=87.72 %

6. Problem Scholl 297
6.1 Problem Scholl 297 (Cycle Time = 1394)

Result

1> Time 1317.0 Idle Time 77.0: 1 294 286 284 279

2> Time 1388.0 Idle Time 6.0 : 296 289 249 283 278

3> Time 1391.0 Idle Time 3.0: 297 239 261 254 247

4> Time 1362.0 Idle Time 32.0: 30 94 4 83 111

5> Time 1385.0 Idle Time 9.0: 285 255 101 96 95 22 5

6> Time 1388.0 Idle Time 6.0 : 295 181 262 25

7> Time 1377.0 Idle Time 17.0: 240 176 177 188 184

8> Time 1334.0 Idle Time 60.0 : 237 243 241 245 242 179 195 91
9> Time 1341.0 Idle Time 53.0: 190 196 268 109 116

10> Time 1393.0 Idle Time 1.0 : 187 152 253 260 142 136 139
11> Time 1381.0 Idle Time 13.0: 244 165 267
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6.1 Problem Scholl 297 (Cycle Time = 1394) (si9)

Result

12> Time 1354.0 Idle Time 40.0 :
13> Time 1361.0 Idle Time 33.0 :
14> Time 1328.0 Idle Time 66.0 :
15> Time 1370.0 Idle Time 24.0 :

16> Time 1392.0 Idle Time 2.0 :
17> Time 1393.0 Idle Time 1.0 :

18> Time 1366.0 Idle Time 28.0 :
19> Time 1358.0 Idle Time 36.0 :
20> Time 1371.0 Idle Time 23.0 :

21> Time 1392.0 Idle Time 2.0 :
22> Time 1385.0 Idle Time 9.0 :
23> Time 1387.0 Idle Time 7.0 :
24> Time 1389.0 Idle Time 5.0 :
25> Time 1386.0 Idle Time 8.0 :
26> Time 1387.0 Idle Time 7.0 :

27> Time 1373.0 Idle Time 21.0 :
28> Time 1384.0 Idle Time 10.0 :

29> Time 1387.0 Idle Time 7.0 :
30> Time 1391.0 Idle Time 3.0 :

31> Time 1327.0 Idle Time 67.0 :
32> Time 1377.0 Idle Time 17.0 :
33> Time 1342.0 Idle Time 52.0 :

34> Time 1394.0 Idle Time 0.0 :

35> Time 1377.0 Idle Time 17.0 :

36> Time 1388.0 Idle Time 6.0 :

37> Time 1335.0 Idle Time 59.0 :
38> Time 1346.0 Idle Time 48.0 :
39> Time 1373.0 Idle Time 21.0 :
40> Time 1334.0 Idle Time 60.0 :

41> Time 1389.0 Idle Time 5.0 :

42> Time 1350.0 Idle Time 44.0 :
43> Time 1347.0 Idle Time 47.0 :
44> Time 1350.0 Idle Time 44.0 :
45> Time 1374.0 Idle Time 20.0 :
46> Time 1334.0 Idle Time 60.0 :
47> Time 1333.0 Idle Time 61.0 :
48> Time 1376.0 Idle Time 18.0 :
49> Time 1347.0 Idle Time 47.0 :
50> Time 1326.0 Idle Time 68.0 :

168 183 153 180 194 84 31 203 134
178 193 77 199 76 71
174 208 73 74 206 172
238 171 202 68 69 182
207 256 250 259 234 204 201 192 66
266 214 119 229 78
130 127 131 110
135 128 129 132
123 141 124 144 121 162
215 145 158 147 157 163 159 148 151 126
155 166 65 62
246 160 156 161 150
248 56
293
205 269 2 282 61
197 230 117 167 213 120 90 75 290 79
189 257 252 29 114 280
287 258 265 100 104 108 103 275
210 51 81 87 89 112 133 99
138 46 271 55 42 40 173 169
140 191 277 85 125 35
200 88 97 185
105 115 26 273 175 6 143
236 212 216 9 3
263 251 211 44 233 92 198
53 270 209 49 98 11
58 164 48 27 16
64 52 23 17 10 186
47 19 15 82 272 221
33 43 154 72 18
39 36 170 291 13
93 60 122 227 20 292
34 216 24 12 288 28
137 59 149 106 102 118 281
38 107 113 8 7
146 41 32 21 223 225 45
54 50 217 57
264 218 37 63 70 219 220 222
235 274 67 231 86 80 14 224
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51> Time 1325.0 Idle Time 69.0 : 232 226 228
Idle Time All : 1439.0 E=97.98 %

6.2 Problem Scholl 297 (Cycle Time = 1452)

Result

1> Time 1384.0 Idle Time 68.0: 1 297 2 30

2> Time 1430.0 Idle Time 22.0: 34 31 82 838 99 26 100 4

3> Time 1435.0 Idle Time 17.0: 111 89 87 94 104 83 105

4> Time 1429.0 Idle Time 23.0: 101 81 106 112 259 22 266 134
5> Time 1444.0 Idle Time 8.0: 271 25 116 247

6> Time 1431.0 Idle Time 21.0 : 122 139 117 123 274 142

7> Time 1442.0 Idle Time 10.0: 277 130 128 148 283

8> Time 1404.0 Idle Time 48.0 : 144 159 126 146 24 230 86

9> Time 1406.0 Idle Time 46.0 : 289 158 232 227 40 118

10> Time 1393.0 Idle Time 59.0: 113 84 236 44 225

11> Time 1398.0 Idle Time 54.0 : 49 131 73 68 53 239

12> Time 1435.0 Idle Time 17.0: 240 132 243 125 78

13> Time 1441.0 Idle Time 11.0: 135 133 72 170 174 192 178

14> Time 1444.0 Idle Time 8.0: 288 169 171 137 140 143 181 237
15> Time 1452.0 Idle Time 0.0 : 233 196 231 200 202 197 204 191 251 184 188
256

16> Time 1431.0 Idle Time 21.0 : 189 245 199 287 279

17> Time 1430.0 Idle Time 22.0 : 244 185

18> Time 1433.0 Idle Time 19.0: 255 77 121 182 286 177 79

19> Time 1424.0 Idle Time 28.0: 85 97 95 27 257 241

20> Time 1435.0 Idle Time 17.0: 183 229 270 110 235

21> Time 1446.0 Idle Time 6.0 : 193 120 152 156 64 149 164 201
22> Time 1427.0 Idle Time 25.0 : 119 127 160 59 221 109

23> Time 1403.0 Idle Time 49.0 : 157 55 180 253 108 93 147 242
24> Time 1449.0 Idle Time 3.0 : 252 258 265 98 292 272 175 91
25> Time 1451.0 Idle Time 1.0: 275 260 280 186 80 74 261 136
26> Time 1424.0 Idle Time 28.0: 267 254 268 58 249 60 75 190 150
27> Time 1410.0 Idle Time 42.0: 273 70 54 161 284 167 138 71
28> Time 1435.0 Idle Time 17.0: 46 166 69 223 207

29> Time 1435.0 Idle Time 17.0: 66 163 62 42 210 65 151 154
30> Time 1417.0 Idle Time 35.0: 61 208 213 214 107 176 250 290
31> Time 1424.0 Idle Time 28.0: 215 165 234 162 168 48 50 205
32> Time 1397.0 Idle Time 55.0: 216 52 45 47 217 262

33> Time 1431.0 Idle Time 21.0: 41 43 38 39 155 67

34> Time 1404.0 Idle Time 48.0 : 33 295 238

35> Time 1415.0 Idle Time 37.0: 218 276 51 195 35



36> Time 1434.0 Idle Time 18.0 :
37> Time 1416.0 Idle Time 36.0 :
38> Time 1419.0 Idle Time 33.0 :
39> Time 1438.0 Idle Time 14.0 :

40> Time 1450.0 Idle Time 2.0 :

41> Time 1432.0 Idle Time 20.0 :
42> Time 1422.0 Idle Time 30.0 :
43> Time 1424.0 Idle Time 28.0 :
44> Time 1390.0 Idle Time 62.0 :
45> Time 1412.0 Idle Time 40.0 :
46> Time 1358.0 Idle Time 94.0 :
47> Time 1418.0 Idle Time 34.0 :
48> Time 1367.0 Idle Time 85.0 :
49> Time 1386.0 Idle Time 66.0 :

Idle Time All : 1493.0 E=97.9 %

219 281 291 220 102 285 203 145
222 248 153

296 187 5

6 246 124 76
7 8 9 12 198 212

17 13 15 21 18 173

11 10 14 20 23 172

16 28 37 19 103 63

32 206 263 141 282

57 114 179 264 115 224
226 294 36 194 29 56
278 90 228 211

209 92 96 129 3 269
293

6.3 Problem Scholl 297 (Cycle Time = 1483)

Result

1> Time 1407.0 Idle Time 76.0 :
2> Time 1461.0 Idle Time 22.0 :
3> Time 1479.0 Idle Time 4.0 :

1 294 2 3 286
235 229 195 279 237 203 190 198

186 187 208 189 181 197 233 182

4> Time 1483.0 Idle Time 0.0 : 210 196 178 184 231 179 202 207

5> Time 1464.0 Idle Time 19.0 :

200 174 191 251 295 31 177

6> Time 1483.0 Idle Time 0.0 : 256 172 175 171 170 34 287 188 173

7> Time 1471.0 Idle Time 12.0 :
8> Time 1473.0 Idle Time 10.0 :
9> Time 1480.0 Idle Time 3.0 :

10> Time 1450.0 Idle Time 33.0 :
11> Time 1435.0 Idle Time 48.0 :
12> Time 1472.0 Idle Time 11.0 :
13> Time 1441.0 Idle Time 42.0 :
14> Time 1448.0 Idle Time 35.0 :
15> Time 1473.0 Idle Time 10.0 :
16> Time 1451.0 Idle Time 32.0 :
17> Time 1454.0 Idle Time 29.0 :

18> Time 1478.0 Idle Time 5.0 :

19> Time 1469.0 Idle Time 14.0 :

20> Time 1478.0 Idle Time 5.0 :

21> Time 1451.0 Idle Time 32.0 :
22> Time 1467.0 Idle Time 16.0 :
23> Time 1460.0 Idle Time 23.0 :

263 30 166 168
163 159 165 270 26 156 167 162

148 146 110 120 164 193 4 22 206 123

117 152 24 109 5 56 94 115 130 112 149
127 131 60 119
114 106 101 40 147 204
96 44 84 97 86
77 71 111
128 6 29 125
78 192 79 144 73 142 10 145
194 154 236 93 183 48

52 98 102 107 274 92 68 161
277 283 271 269 230 37

227 264 225 261 254 268 289 266
57 28 25 201 153 205 129 249
143 63 32 141 160 67 39 247
248 70

141



24> Time 1461.0 Idle Time 22.0
25> Time 1469.0 Idle Time 14.0 :
26> Time 1476.0 Idle Time 7.0 :
27> Time 1472.0 Idle Time 11.0
28> Time 1482.0 Idle Time 1.0 :
29> Time 1465.0 Idle Time 18.0 :
30> Time 1447.0 Idle Time 36.0 :
31> Time 1419.0 Idle Time 64.0 :
32> Time 1440.0 Idle Time 43.0 :
33> Time 1428.0 Idle Time 55.0 :
34> Time 1456.0 Idle Time 27.0 :
35> Time 1476.0 Idle Time 7.0 :

36> Time 1447.0 Idle Time 36.0 :
37> Time 1461.0 Idle Time 22.0 :
38> Time 1478.0 Idle Time 5.0 :
39> Time 1404.0 Idle Time 79.0
40> Time 1477.0 Idle Time 6.0 :
41> Time 1469.0 Idle Time 14.0 :

43> Time 1430.0 Idle Time 53.0 :
44> Time 1439.0 Idle Time 44.0 :
45> Time 1376.0 Idle Time 107.0

: 246 43 259 213 80

211 257 47 133 169 72
293 221

: 290 292 136 284 253 151

214 83 132 157 155 199
90 234 38 288 15
21 41 116 138

134

121
33 278

a6 42 82 126 140 12 255

118 88 99 17 89 8 176
103 100 81 104 244
232 122 124 7 209

51 291 139 49 280

87 212

281 276 76 53 74 275 242

69 65 66 273 241
19 267 297 13 180

14 23

2252 18 27 36 243

258 228 75 55

265 226 59 224 222 215 285 11 23
42> Time 1483.0 Idle Time 0.0: 220 16 219 216 113 45 272 158 135

217 50 54 64 58
240 218
1239 282 91 9

8 105

46> Time 1461.0 Idle Time 22.0: 260 108 137 250 61 95 85

47> Time 1262.0 Idle Time 221.0
48> Time 1349.0 Idle Time 134.0
Idle Time All : 1529.0 E=97.85 %

6.4 Problem Scholl 297 (Cycl

Result

1> Time 1498.0 Idle Time 17.0 :
2> Time 1493.0 Idle Time 22.0 :
3> Time 1502.0 Idle Time 13.0 :
4> Time 1475.0 Idle Time 40.0 :
5> Time 1467.0 Idle Time 48.0 :
6> Time 1496.0 Idle Time 19.0 :
7> Time 1491.0 Idle Time 24.0 :
8> Time 1513.0 Idle Time 2.0: 2
9> Time 1505.0 Idle Time 10.0 :
10> Time 1482.0 Idle Time 33.0 :
11> Time 1461.0 Idle Time 54.0 :
12> Time 1512.0 Idle Time 3.0 :

1 62 223 35 185
1 245 296

e Time = 1515)

1 295 181
165 153 183
140 200 296
138 191 294
171 175 278
50 293 249
277 164 292 45 290 254
80 152 108 115 275 291
120 127 281 276 87

176 177

197
180 174 288

182

46 54 167 169 284 283

184
104 190 41

157 119 150 297 130 126 161
123 147 128 124 125 78
79 158 118 85 131 144 148 146

150 20 262

188 168 143 173 187 186 178

100

142
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13> Time 1512.0 Idle Time 3.0: 133 159 121 154 92

14> Time 1512.0 Idle Time 3.0: 98 192 202 282 51

15> Time 1489.0 Idle Time 26.0: 55 201 204 199 207 103 72 2 59
16> Time 1507.0 Idle Time 8.0: 210 3 213 109 30 88 110 212

17> Time 1507.0 Idle Time 8.0: 208 105 82 26 179 289 81

18> Time 1494.0 Idle Time 21.0: 230 31 271 266 287 264 142 172
19> Time 1472.0 Idle Time 43.0: 268 257 139 136 38 132 117 162
20> Time 1510.0 Idle Time 5.0 : 253 112 134 33 93 185 42 114
21> Time 1501.0 Idle Time 14.0: 86 35 272 156 80 193 129

22> Time 1491.0 Idle Time 24.0: 265 198 258 203 195 211 64 102 4
23> Time 1515.0 Idle Time 0.0 : 94 56 206 83 221 40 223 84 22 48 149
24> Time 1490.0 Idle Time 25.0: 60 44 52 76 25 24

25> Time 1440.0 Idle Time 75.0: 47 75 101 90 57

26> Time 1506.0 Idle Time 9.0: 63 95 71 62 66 77

27> Time 1515.0 Idle Time 0.0: 69 65 70 107 97 225 74

28> Time 1512.0 Idle Time 3.0: 49 229 68 259 145

29> Time 1447.0 Idle Time 68.0: 235 53 91 61 274 286 237 205
30> Time 1505.0 Idle Time 10.0: 270 279 106 261 250 194

31> Time 1466.0 Idle Time 49.0 : 255 244 242 245 256 241

32> Time 1512.0 Idle Time 3.0 : 246 34 155 67 233 196

33> Time 1509.0 Idle Time 6.0 : 240 27

34> Time 1498.0 Idle Time 17.0: 238 234 232 239 231 58 262

35> Time 1472.0 Idle Time 43.0: 99 122 252 214 247 285 160

36> Time 1476.0 Idle Time 39.0: 215 189 73 227 5

37> Time 1498.0 Idle Time 17.0: 6 216 9 8 141 151 163

38> Time 1460.0 Idle Time 55.0: 7 13 12 20 15 170

39> Time 1512.0 Idle Time 3.0: 21 23 11 14 17 10

40> Time 1457.0 Idle Time 58.0: 28 16 37 39 36 89

41> Time 1451.0 Idle Time 64.0: 32 18 228 226

42> Time 1500.0 Idle Time 15.0: 224 116 43 96

43> Time 1477.0 Idle Time 38.0: 222 166 273 29 243 251

44> Time 1442.0 Idle Time 73.0: 267 220 248

45> Time 1407.0 Idle Time 108.0: 219 218 269 263 113

46> Time 1396.0 Idle Time 119.0: 260 217 236 137

47> Time 1302.0 Idle Time 213.0: 111 209 135 19

6.4 Problem Scholl 297 (Cycle Time = 1515) (si9)

Result
Idle Time All : 1550.0 E=97.82 %



6.5 Problem Scholl 297 (Cycle Time = 1548)

Result

1> Time 1457.0 Idle Time 91.0 :
2> Time 1537.0 Idle Time 11.0:
3> Time 1473.0 Idle Time 75.0 :
4> Time 1498.0 Idle Time 50.0 :
5> Time 1479.0 Idle Time 69.0 :
6> Time 1543.0 Idle Time 5.0 :
7> Time 1529.0 Idle Time 19.0 :
8> Time 1464.0 Idle Time 84.0 :
9> Time 1480.0 Idle Time 68.0 :
10> Time 1539.0 Idle Time 9.0 :
11> Time 1547.0 Idle Time 1.0 :
12> Time 1539.0 Idle Time 9.0 :

13> Time 1538.0 Idle Time 10.0 :
14> Time 1460.0 Idle Time 88.0 :
15> Time 1526.0 Idle Time 22.0 :
16> Time 1526.0 Idle Time 22.0 :
17> Time 1508.0 Idle Time 40.0 :
18> Time 1508.0 Idle Time 40.0 :
19> Time 1524.0 Idle Time 24.0 :
20> Time 1526.0 Idle Time 22.0 :
21> Time 1529.0 Idle Time 19.0 :
22> Time 1518.0 Idle Time 30.0 :

23> Time 1540.0 Idle Time 8.0 :

24> Time 1520.0 Idle Time 28.0 :

25> Time 1541.0 Idle Time 7.0 :

26> Time 1521.0 Idle Time 27.0 :
27> Time 1521.0 Idle Time 27.0 :

28> Time 1546.0 Idle Time 2.0 :

29> Time 1520.0 Idle Time 28.0 :
30> Time 1529.0 Idle Time 19.0 :

31> Time 1546.0 Idle Time 2.0 :

32> Time 1529.0 Idle Time 19.0 :
33> Time 1516.0 Idle Time 32.0 :
34> Time 1480.0 Idle Time 68.0 :
35> Time 1529.0 Idle Time 19.0 :
36> Time 1494.0 Idle Time 54.0 :

37> Time 1548.0 Idle Time 0.0 :

38> Time 1526.0 Idle Time 22.0 :
39> Time 1522.0 Idle Time 26.0 :

1 294 278 283 2 284 249

296 54 50 3

254 4 221 48 110 45 83 105

86 27 94 22 101 120 261

56 52 106 115 25 268 112 150 90
57 108 62 114 76 255 161

66 244 262 154
242 248 241
277 5 259 119 117 97
6 10 292 13 266 264 162 257 123 73
15 21 7 271 148 149 146 145 160
9 159 155 95 230 158 23
285 77 37 28 32
18 238 232 39 36
24 239 234 236 256 130 43
156 263 250 131 126 129
174 170 133 270 204 41 141 135
171 178 169 140 137 207 38 33
143 181 191 188 196 183 212 205 153 165
177 180 189 252 197 186 46
269 200 258 185 58
286 182 144 49 53 64
240 237 235 190 72
233 231 51 243 128 173
87 81 99 228 226 224 75
104 100 89 88 222 220 82 297
109 30 219 166
218 217 168 157 163 34
210 251 246 216 35
208 29 44 61 17 122
265 203 198 14 65 55 229
272 60 68 151 116
247 275 111 16 206 118
103 127 215 113
26 223 102 187
289 202 225 98
199 201 192 136
67 293
142 147 69 280

107 245 59
176 71 134
63 287 139

227

195 184

253

290 31 282 288

144

138



40> Time 1512.0 Idle Time 36.0: 152 172 213 20 47 12 279 124
41> Time 1547.0 Idle Time 1.0: 164 211 42 295

42> Time 1546.0 Idle Time 2.0: 194 193 78 209 19 291 125

43> Time 1516.0 Idle Time 32.0: 79 85 74 260 40 132 93

44> Time 1449.0 Idle Time 99.0: 8 274 80 273 267 214

45> Time 1464.0 Idle Time 84.0: 84 96 70 175 92 11 276

46> Time 1445.0 Idle Time 103.0: 167 179 91 121 281

Idle Time All : 1553.0 E=97.82 %

6.6 Problem Scholl 297 (Cycle Time = 1584)

Result

1> Time 1508.0 Idle Time 76.0 :
2> Time 1521.0 Idle Time 63.0 :
3> Time 1549.0 Idle Time 35.0 :

1 2 295
181 187 177 173 294 185

179 186 195 184 284 286 279 249 289 205

4> Time 1582.0 Idle Time 2.0 : 248 207 212 188 168
5> Time 1577.0 Idle Time 7.0 : 204 245 246 254 182

6> Time 1583.0 Idle Time 1.0 : 202 201

165 261 214 251 256

7> Time 1535.0 Idle Time 49.0: 215 234 263 268 285 270 194

8> Time 1584.0 Idle Time 0.0 :

192 296 278 203

9> Time 1578.0 Idle Time 6.0: 247 4 40 48 198 134 208 193 136 94

10> Time 1545.0 Idle Time 39.0
11> Time 1580.0 Idle Time 4.0 :
12> Time 1577.0 Idle Time 7.0 :
13> Time 1575.0 Idle Time 9.0 :

14> Time 1536.0 Idle Time 48.0 :

15> Time 1580.0 Idle Time 4.0 :
16> Time 1582.0 Idle Time 2.0 :

17> Time 1565.0 Idle Time 19.0 :

18> Time 1577.0 Idle Time 7.0 :

19> Time 1541.0 Idle Time 43.0 :

20> Time 1584.0 Idle Time 0.0 :
21> Time 1576.0 Idle Time 8.0 :

22> Time 1544.0 Idle Time 40.0 :

23> Time 1580.0 Idle Time 4.0 :
24> Time 1582.0 Idle Time 2.0 :

25> Time 1574.0 Idle Time 10.0 :
26> Time 1555.0 Idle Time 29.0 :
27> Time 1507.0 Idle Time 77.0 :

28> Time 1576.0 Idle Time 8.0 :

29> Time 1572.0 Idle Time 12.0 :
30> Time 1537.0 Idle Time 47.0 :

;44

240 277 90 237 241
233 95 231 244 242 199
228 217 235 178
174 288 218 287 171 219
170 133 220 166 3 222
160 155 163 131 151 297
149 130 98 128 102 123
121 144 154 126 107 145
118 293
292 282 290 291 281 159

27 86 83 238 216 283

93 176 243
125 148

190

280 276 30 84 167 54 239 22

162 50 77 236 275 273
272 164 74 45 69 34 76
41 265 258 65 25 75 267

252 38 96 61 70 262 33

91 255
78

260 161 58 72 35 226 213

42 53 64 274 109 80 79
119 59 85 127 55 31

105

99 103 100 172 104 46 269 67 153

63 175 143 138 140 250

183 114

145



31> Time 1562.0 Idle Time 22.0 :
32> Time 1555.0 Idle Time 29.0 :

33> Time 1578.0 Idle Time 6.0 :

34> Time 1538.0 Idle Time 46.0 :
35> Time 1544.0 Idle Time 40.0 :
36> Time 1561.0 Idle Time 23.0 :
37> Time 1513.0 Idle Time 71.0 :
38> Time 1562.0 Idle Time 22.0 :
39> Time 1522.0 Idle Time 62.0 :
40> Time 1507.0 Idle Time 77.0 :
41> Time 1573.0 Idle Time 11.0 :
42> Time 1574.0 Idle Time 10.0 :
43> Time 1550.0 Idle Time 34.0 :

146

191 111 108 120 49 87

115 81 116 57
139 62 232 189 56

60 68 150 101 110 71 82

113 197 271 51 196 180 92 142 200
264 5 157 259 141 266 147 122 146
158 6 257 8 12 10 20 221

23 9 21 19 13

16 18 28 37 39 36

43 15 7 32 230 29

47 106 124 227 129 73

112 225 135 152 137 211 210 223 206 117
229 209 26 52 89

44> Time 1582.0 Idle Time 2.0: 88 11 156 66 24 224 169 253
45> Time 1072.0 Idle Time 512.0: 97 17 14 132

Idle Time All : 1625.0 E=97.72 %

6.7 Problem Scholl 297 (Cycle Time = 1620)

Result

1> Time 1508.0 Idle Time 112.0 :

1 295 2

2> Time 1620.0 Idle Time 0.0: 293 3 292
3> Time 1590.0 Idle Time 30.0: 291 4 283 83 247 111 94

4> Time 1597.0 Idle Time 23.0: 277 90 221

109 223 120 115 40 278

5> Time 1611.0 Idle Time 9.0: 95 225 227 150 290 116

6> Time 1597.0 Idle Time 23.0 : 282
7> Time 1580.0 Idle Time 40.0 : 281
8> Time 1606.0 Idle Time 14.0 :

289

9> Time 1599.0 Idle Time 21.0 :
10> Time 1600.0 Idle Time 20.0 :
11> Time 1572.0 Idle Time 48.0 :

122 170 134

12> Time 1620.0 Idle Time 0.0 :
13> Time 1618.0 Idle Time 2.0 :
14> Time 1614.0 Idle Time 6.0 :
15> Time 1613.0 Idle Time 7.0 :

195 280 139 294
187 203 185 188 190 275 136 198
276 182 256 204 251 202 196 199 193
296 263 250 207

105 127 54 130 288

123 147 146 148 174 178 171 201 158
101 206 149 169 212 249 284 140 143
96 97 74 76 270 161 56
69 75 66 62 70 65 167 68 60
106 67 63 189 142 153 160

16> Time 1590.0 Idle Time 30.0: 274 112 5 229 119
17> Time 1594.0 Idle Time 26.0: 6 7 10 20 236 50



18> Time 1605.0 Idle Time 15.0 :

19> Time 1614.0 Idle Time 6.0 :

20> Time 1558.0 Idle Time 62.0 :

21> Time 1540.0 Idle Time 80.0
22> Time 1619.0 Idle Time 1.0 :

23> Time 1581.0 Idle Time 39.0 :

24> Time 1619.0 Idle Time 1.0 :

25> Time 1595.0 Idle Time 25.0 :
26> Time 1594.0 Idle Time 26.0 :
27> Time 1597.0 Idle Time 23.0 :
28> Time 1537.0 Idle Time 83.0 :
29> Time 1580.0 Idle Time 40.0 :
30> Time 1571.0 Idle Time 49.0 :
31> Time 1591.0 Idle Time 29.0 :
32> Time 1599.0 Idle Time 21.0 :

33> Time 1620.0 Idle Time 0.0 :

34> Time 1607.0 Idle Time 13.0 :
35> Time 1606.0 Idle Time 14.0 :

36> Time 1619.0 Idle Time 1.0 :
37> Time 1527.0 Idle Time 93.0

38> Time 1589.0 Idle Time 31.0 :
39> Time 1526.0 Idle Time 94.0 :

13 11 23 183 285 45 41

205 210 22 235 194 9 28 37

24 253 237 184 25 157 77

260 240 243 71

21 241 246 186 133

267 197 244 255 254

73 154 155 166 163
104 100 138 262 273 32 29

145
191

91 108
214 87
86 234 215
93 297 179
81 30 34 31
261 245 217 152 258 265
114 268 200 218 26 219
125 248 48 220 222

46 42 88 35
216 51 144
180 173 177

85 47 43 228 231

89

181 176

172 175 252 168 61

27

78 80 79 52 18 224 8 226 72 33

92 12 156 126 165 98 19

238 239 131 230 49 113
132 53 124 84 137 151
129 141 38 287 257 264

40> Time 1615.0 Idle Time 5.0: 64 128 286 59 242

41> Time 1595.0 Idle Time 25.0 :
42> Time 1582.0 Idle Time 38.0 :
43> Time 1494.0 Idle Time 126.0 :

17 58 208 213 135 55 2
211
121

192 271 16 82

44> Time 1346.0 Idle Time 274.0: 266 103 15 57 118 259

Idle Time All : 1625.0 E=97.72 %

6.8 Problem Scholl 297 (Cycle Time = 1659)

Result

1> Time 1587.0 Idle Time 72.0 :
2> Time 1620.0 Idle Time 39.0 :
3> Time 1594.0 Idle Time 65.0 :
4> Time 1595.0 Idle Time 64.0 :
5> Time 1635.0 Idle Time 24.0 :

1 29 2
3 293 292
108 115 114 170 174 287 290 283 282
294 133 288 131

137 135 128 130 125

129

269 39 102 107 44 99 162

117 279 14

72 164

110 209 233 232 159 36

147



148

6.8 Problem Scholl 297 (Cycle Time = 1659) (si9)

Result

6> Time 1635.0 Idle Time 24.0 :
7> Time 1658.0 Idle Time 1.0 :
8> Time 1613.0 Idle Time 46.0 :

153 143 103 138 191

285 140 200 124 144 154 123
171 122 148 159 147
4 176 165 88 99 87 46 51 158

9> Time 1657.0 Idle Time 2.0: 94 247 259 56 221 83 27 31 82 168 100

10> Time 1609.0 Idle Time 50.0 :
11> Time 1614.0 Idle Time 45.0 :
12> Time 1659.0 Idle Time 0.0 :

13> Time 1640.0 Idle Time 19.0 :
14> Time 1650.0 Idle Time 9.0 :

15> Time 1612.0 Idle Time 47.0 :
16> Time 1628.0 Idle Time 31.0 :
17> Time 1639.0 Idle Time 20.0 :
18> Time 1653.0 Idle Time 6.0 :

19> Time 1622.0 Idle Time 37.0 :
20> Time 1609.0 Idle Time 50.0 :
21> Time 1655.0 Idle Time 4.0 :

22> Time 1651.0 Idle Time 8.0 :

23> Time 1624.0 Idle Time 35.0 :
24> Time 1655.0 Idle Time 4.0 :

25> Time 1638.0 Idle Time 21.0 :
26> Time 1622.0 Idle Time 37.0 :
27> Time 1642.0 Idle Time 17.0 :
28> Time 1648.0 Idle Time 11.0 :
29> Time 1618.0 Idle Time 41.0 :
30> Time 1616.0 Idle Time 43.0 :
31> Time 1648.0 Idle Time 11.0 :
32> Time 1622.0 Idle Time 37.0 :
33> Time 1643.0 Idle Time 16.0 :
34> Time 1656.0 Idle Time 3.0 :

35> Time 1635.0 Idle Time 24.0 :
36> Time 1604.0 Idle Time 55.0 :
37> Time 1582.0 Idle Time 77.0 :
38> Time 1658.0 Idle Time 1.0 :

39> Time 1604.0 Idle Time 55.0 :
40> Time 1600.0 Idle Time 59.0 :

41> Time 1552.0 Idle Time 107.0 :

42> Time 1582.0 Idle Time 77.0 :

43> Time 1371.0 Idle Time 288.0 :

13¢ 223 5 266 90 179 6
136 271 264 9 14 8 65
22 111 257 177 173 69 66 62
26 24 60 12 74 84 268 76
86 15 97 249 91 261 254
248 245
29 172 202 246
44 175 196 23 251 204 207 212 28 37
49 205 210 199 39 43 208
53 181 197 17 256 213 203 18 101
225 182 189 187 184 188 206 198 183
286 19 263 201 190 96 106 112
235 279 211 25 104 7 126 284 186
237 233 231 121 192 277 118 113
250 295 42 36
55 13 145 119 35 269 109
110 59 155 262 240 241 255
162 185 243 230 229
11 120 239 77 68 242 141
195 116 151 30 163 150
297 146 21 227 48 161
78 58 167 52 166 160
80 79 72 164 152 142 157 253 260
270 267 169 33 132 54 117 40 95
289 193 105 273 238 50 194 214
281 276 81 45 234 215 216
178 75 41 217 218 219
70 67 32 228 222 73 220
209 63 20 280 226 224 127
93 64 47 71 275 57 180
98 102 232 272 265 92 258 252
16 291 236 38
244 278 139 107
156 274 85 89 34

10 61

149

Idle Time All : 1682.0 E=97.64 %



149

6.9 Problem Scholl 297 (Cycle Time = 1699)

Result

1> Time 1630.0 Idle Time 69.0: 1 295 2 181

2> Time 1664.0 Idle Time 35.0: 182 184 3 183 294 189 177 188

3> Time 1672.0 Idle Time 27.0 : 195 293 178 290

4> Time 1657.0 Idle Time 42.0 : 291 283 174 284 187 171 194 4 203 221 249
5> Time 1697.0 Idle Time 2.0: 248 83 134 170

6> Time 1699.0 Idle Time 0.0 : 245 40 44 133 94 243 247

7> Time 1681.0 Idle Time 18.0: 254 90 240 95

8> Time 1695.0 Idle Time 4.0 : 237 238 241 234 256 263 250 239 29 206
9> Time 1682.0 Idle Time 17.0: 37 279 25 242 236 121 251 22

10> Time 1682.0 Idle Time 17.0: 232 28 111 84 280 204

11> Time 1683.0 Idle Time 16.0: 23 76 18 77 91 207 56

12> Time 1672.0 Idle Time 27.0: 61 57 32 71 63 52 65 60

13> Time 1680.0 Idle Time 19.0: 36 229 49 73 275

14> Time 1627.0 Idle Time 72.0: 116 288 97

15> Time 1635.0 Idle Time 64.0 : 139 281 297 74 48

16> Time 1677.0 Idle Time 22.0 : 253 260 166 17 163 212

17> Time 1694.0 Idle Time 5.0 : 155 151 156 161 141 285 62 53 160

18> Time 1667.0 Idle Time 32.0: 145 149 150 58 64 66 59 99 276 123 173
19> Time 1697.0 Idle Time 2.0: 148 87 100 117 124 168 257 128 289
20> Time 1695.0 Idle Time 4.0 : 104 244 193 154 112

21> Time 1638.0 Idle Time 61.0: 144 106 255 262 269 21

22> Time 1677.0 Idle Time 22.0: 136 15 88 274 259 230 261

23> Time 1695.0 Idle Time 4.0: 8 266 9 7 6 14 147

24> Time 1682.0 Idle Time 17.0 : 158 296 270 159 292

25> Time 1685.0 Idle Time 14.0: 202 179 131 33 223 67 268

26> Time 1662.0 Idle Time 37.0: 201 200 225 70 120 47 227 278 286 197 86
27> Time 1699.0 Idle Time 0.0: 93 115 98 92 85 43 110 192 198 176
28> Time 1698.0 Idle Time 1.0: 78 79 80 162 101 19 169 167 96 125
29> Time 1670.0 Idle Time 29.0: 164 152 129 208 105 31 72 273

30> Time 1663.0 Idle Time 36.0: 34 127 130 267 122 233

31> Time 1659.0 Idle Time 40.0: 231 126 228 69 82

32> Time 1695.0 Idle Time 4.0 : 226 142 39 246 186 10 191

33> Time 1680.0 Idle Time 19.0: 287 282 185 146 205 132

34> Time 1667.0 Idle Time 32.0: 89 16 272 11 165 119 264

35> Time 1662.0 Idle Time 37.0: 114 153 265 27 258 30 102 196

36> Time 1643.0 Idle Time 56.0 : 107 252 54 271 224 118 38

37> Time 1662.0 Idle Time 37.0: 113 222 220 41 26 199 35 143 172 68
38> Time 1642.0 Idle Time 57.0: 219 42 45 175 218 217



39> Time 1669.0 Idle Time 30.0: 46 216 51 215 24 157 109 75
40> Time 1654.0 Idle Time 45.0: 180 235 5 12 108 277 190 138
41> Time 1579.0 Idle Time 120.0: 13 135 140 50 214 81 20 55
42> Time 1188.0 Idle Time 511.0 : 213 211 137 209 103 210

Idle Time All : 1703.0 E=97.61 %

6.10 Problem Scholl 297 (Cycle Time = 1742)

Result
1> Time 1726.0 Idle Time 16.0 :

2> Time 1738.0 Idle Time 4.0 : 230 249 181

3> Time 1710.0 Idle Time 32.0 :

1 297 294 289 2

227 248 188

182 183 295 284

4> Time 1725.0 Idle Time 17.0: 243 246 187 180 178 196 184 197
5> Time 1737.0 Idle Time 5.0 : 244 255 175 174 252 194

6> Time 1728.0 Idle Time 14.0 :

240 202 171

7> Time 1741.0 Idle Time 1.0: 238 239 237 233 242 167 251 256 288 199 261

170

8> Time 1736.0 Idle Time 6.0 : 279 241 269 166

9> Time 1723.0 Idle Time 19.0 :
10> Time 1707.0 Idle Time 35.0
250

11> Time 1735.0 Idle Time 7.0 :

12> Time 1727.0 Idle Time 15.0 :

13> Time 1733.0 Idle Time 9.0 :
14> Time 1741.0 Idle Time 1.0 :

15> Time 1727.0 Idle Time 15.0 :
16> Time 1711.0 Idle Time 31.0 :
17> Time 1722.0 Idle Time 20.0 :
18> Time 1729.0 Idle Time 13.0 :
19> Time 1703.0 Idle Time 39.0 :
20> Time 1727.0 Idle Time 15.0 :

21> Time 1736.0 Idle Time 6.0 :

22> Time 1709.0 Idle Time 33.0 :
23> Time 1725.0 Idle Time 17.0 :
24> Time 1665.0 Idle Time 77.0 :
25> Time 1698.0 Idle Time 44.0 :

26> Time 1739.0 Idle Time 3.0 :

27> Time 1711.0 Idle Time 31.0 :

28> Time 1734.0 Idle Time 8.0 :

29> Time 1699.0 Idle Time 43.0 :
30> Time 1726.0 Idle Time 16.0 :
31> Time 1736.0 Idle Time 6.0: 59 74 122 169 264 287 30

163 157
236 156 263 160 151 161

1 231 225 245 146 155 195

228 145 158 203 212 189
208 206 200 214 213 234
179 137 140 143 191 201

154 150

150

190 262 207 204 270

144
138 268 176 198 164

31 130 162 133 132 135 165 120 147 152

128 126 168 186 142 139
27 34 110 131
4 56 22 83 48 5 52 86
247 259 94 90 47 43 39
266 36 32 111 6 76

118 173 119

26 25 177 114
221 57

134 61 28 95 7 8 20 12 125

24 93 9 14 17 78 149 T1

60 98 105 113 79 63 77

19

68 92 13 35 123 107 108 40 253

148 117 257 112 73 100 292 101

159 104 15

106 81 87 89 99 96 91 21

88 102 296 18

232 44 185 42 84

3 11 82 49 109 85 53
286 136 16 51 65 75 23
235 55 103

58

70 129 10 172 124 67



151

32> Time 1709.0 Idle Time 33.0: 254 193 62 72 64 192

33> Time 1660.0 Idle Time 82.0: 115 66 293

34> Time 1729.0 Idle Time 13.0: 283 80 54 226 290 282 280 277 223 224
35> Time 1705.0 Idle Time 37.0: 50 219 220 222 116 69 275 272 265
36> Time 1683.0 Idle Time 59.0 : 45 218 291 210 274

37> Time 1715.0 Idle Time 27.0: 41 216 217 281 260 258

38> Time 1715.0 Idle Time 27.0: 33 38 121 276 273 267

39> Time 1696.0 Idle Time 46.0: 278 29 153 141 215 229

40> Time 1708.0 Idle Time 34.0 : 285 271 205 46 211 37 97

41> Time 931.0 Idle Time 811.0: 127 209

Idle Time All : 1767.0 E=97.53 %

6.11 Problem Scholl 297 (Cycle Time = 1787)

Result

1> Time 1705.0 Idle Time 82.0: 1 294 297 284 283 278

2> Time 1759.0 Idle Time 28.0: 249 254 30 26 247 274 2 289

3> Time 1784.0 Idle Time 3.0: 34 31 4 86 5 3 94 22 27 105 221

4> Time 1692.0 Idle Time 95.0: 56 172 296 223 25

5> Time 1739.0 Idle Time 48.0: 35 175 6 10 83 110 269

6> Time 1726.0 Idle Time 61.0: 14 7 12 17 262 23 19

7> Time 1785.0 Idle Time 2.0: 48 82 18 28 32 16 37 162

8> Time 1785.0 Idle Time 2.0: 88 99 87 52 100 103 42 134 29 89 47

9> Time 1722.0 Idle Time 65.0: 108 46 138 136 44 49 33

10> Time 1774.0 Idle Time 13.0: 9 115 292 90 140 191 200 137 114 51
11> Time 1767.0 Idle Time 20.0 : 204 180 202 196 201 197 143 135 55 181
12> Time 1776.0 Idle Time 11.0: 256 263 207 212 205 188 133 153 178 184 194
177 169 251

13> Time 1720.0 Idle Time 67.0: 238 234 210 213 187 131 214

14> Time 1782.0 Idle Time 5.0: 250 195 240 130 168 173

15> Time 1767.0 Idle Time 20.0: 186 229 237 59 123 146 117 112 158 126
16> Time 1775.0 Idle Time 12.0: 208 233 182 231 228 241 165

17> Time 1736.0 Idle Time 51.0: 189 166 163 252

18> Time 1760.0 Idle Time 27.0: 248 145 151 258

19> Time 1741.0 Idle Time 46.0 : 245 295 170 157 125

20> Time 1777.0 Idle Time 10.0: 104 21 121 64 160 159 58 215

21> Time 1764.0 Idle Time 23.0: 259 243 72 149 150 106 120 15 36

22> Time 1739.0 Idle Time 48.0 : 266 271 190 277 60 225 161 129 124 155
23> Time 1760.0 Idle Time 27.0: 227 264 268 68 73 253 226 78 239 154
24> Time 1772.0 Idle Time 15.0: 279 139 80 79 244 141

25> Time 1776.0 Idle Time 11.0: 282 286 144 260 97

26> Time 1736.0 Idle Time 51.0: 235 261 74 75 81 265 77



6.11 Problem Scholl 297 (Cycle Time = 1787) (si9)

Result

152

27> Time 1754.0 Idle Time 33.0: 53 43 71 76 216 67 70 272 20 95
28> Time 1781.0 Idle Time 6.0 : 255 63 257 280 275 224 101 217 142

29> Time 1739.0 Idle Time 48.0 :
30> Time 1772.0 Idle Time 15.0 :
31> Time 1717.0 Idle Time 70.0 :
32> Time 1786.0 Idle Time 1.0 :

33> Time 1754.0 Idle Time 33.0 :
34> Time 1768.0 Idle Time 19.0 :
35> Time 1748.0 Idle Time 39.0 :
36> Time 1786.0 Idle Time 1.0 :

37> Time 1767.0 Idle Time 20.0 :
38> Time 1765.0 Idle Time 22.0 :
39> Time 1757.0 Idle Time 30.0 :
40> Time 1142.0 Idle Time 645.0
Idle Time All : 1825.0 E=97.45 %

122 69 290
203 66 293
206 198 62
193 281 236
230 54 232
285 93
179 98
209 38 85 127 183

242 116 61 176 39 273
128 246 65

109 199 119 185 111

: 192 148 156 8 287

167

6.12 Problem Scholl 297 (Cycle Time = 1834)

Result

1> Time 1514.0 Idle Time 320.0 :
2> Time 1745.0 Idle Time 89.0 :
3> Time 1775.0 Idle Time 59.0 :
4> Time 1796.0 Idle Time 38.0 :
5> Time 1793.0 Idle Time 41.0 :
6> Time 1820.0 Idle Time 14.0 :
7> Time 1799.0 Idle Time 35.0 :
8> Time 1745.0 Idle Time 89.0 :
9> Time 1833.0 Idle Time 1.0: 1
10> Time 1820.0 Idle Time 14.0 :
11> Time 1815.0 Idle Time 19.0 :
65

12> Time 1813.0 Idle Time 21.0 :
13> Time 1829.0 Idle Time 5.0 :
14> Time 1824.0 Idle Time 10.0 :
146 24

15> Time 1790.0 Idle Time 44.0 :
16> Time 1830.0 Idle Time 4.0 :
17> Time 1798.0 Idle Time 36.0 :
18> Time 1828.0 Idle Time 6.0
19> Time 1809.0 Idle Time 25.0 :

1 297 2 3 30

34 31 82 296

4 48 26 89 27 35 88

40 105 111 22 56 61 259

222 220 218 91

11 96

291 288 164 219
24 152 171 84
276 40 147 270
50 132 13 57 267 174 118
211 45 41 92 102 113 107

100 99 104 87

5 60 68 44 266 271 264 108 81

6 94 29 86 230 268 9 292 51

115

8 10 227 37 12 225 223 261 289

14 232 39 255 262 269 36

95 116 254 13 83 249
186 187 181 185 177 122
188 203 178 183 184 194

206 207 210 174 287 288
212 170 166 159 167 202
182 157 162 160 201 155

18 90 95
208 173 139 142 253
171 198 136 42

192 200 78 204 156

149 191 79 140 85 138 137 161 229

150 250 260 256 25
205 221 263 147 133 119

2270 213 66 74 62 46 251

158 127

103 92 69
154

33 49 190 257 211 209 274 148 134



20> Time 1827.0 Idle Time 7.0 :
21> Time 1831.0 Idle Time 3.0 :
22> Time 1809.0 Idle Time 25.0 :
23> Time 1787.0 Idle Time 47.0 :
24> Time 1823.0 Idle Time 11.0:
25> Time 1830.0 Idle Time 4.0 :
26> Time 1787.0 Idle Time 47.0 :
27> Time 1777.0 Idle Time 57.0 :
28> Time 1800.0 Idle Time 34.0 :
29> Time 1834.0 Idle Time 0.0 :
30> Time 1816.0 Idle Time 18.0 :
31> Time 1819.0 Idle Time 15.0 :
32> Time 1803.0 Idle Time 31.0:
33> Time 1828.0 Idle Time 6.0 :
34> Time 1794.0 Idle Time 40.0 :
35> Time 1792.0 Idle Time 42.0 :
36> Time 1823.0 Idle Time 11.0 :
37> Time 1825.0 Idle Time 9.0 :
38> Time 1766.0 Idle Time 68.0 :

39> Time 1308.0 Idle Time 526.0: 43 109 176 54 71 80 172

Idle Time All : 1871.0 E=97.38 %

145 38 41 278 277 283 282 98

45 72 102 121 32 180 52
64 107 113 128 175 47

58 7 118 126 131 59 236

97 123 132 241 239 240

28 76 77 130 242 19 237 279 286

143 124 248

153 196 197 245 246 193 199

23 165 144 101 135 84

163 21 73 252 106 112 96 91

151 141 244 258 110 120

57 265 238 284 75 17 152 53
243 63 285 234 189 15 16

67 50 293 290 55

168 291 280 11 70 93 214 247 125
275 281 276 20 215 114 233 117 216
273 294 231 169 267 217 235

164 228 226 224 218 219
295 129 222 179 272 220

6.13 Problem Scholl 297 (Cycle Time = 1883)

Result
1> Time 1844.0 Idle Time 39.0 :
2> Time 1799.0 Idle Time 84.0 :

3> Time 1878.0 Idle Time 5.0 : 174 178 50 249 230 196 197 179 181
88 169 202 297 170 204 271 266

4> Time 1882.0 Idle Time 1.0: 2
5> Time 1873.0 Idle Time 10.0 :
6> Time 1849.0 Idle Time 34.0 :
7> Time 1878.0 Idle Time 5.0: 2
8> Time 1864.0 Idle Time 19.0 :
9> Time 1838.0 Idle Time 45.0 :
10> Time 1850.0 Idle Time 33.0 :
11> Time 1878.0 Idle Time 5.0 :
12> Time 1879.0 Idle Time 4.0 :
13> Time 1846.0 Idle Time 37.0 :
14> Time 1879.0 Idle Time 4.0 :
15> Time 1877.0 Idle Time 6.0 :
16> Time 1868.0 Idle Time 15.0 :
17> Time 1858.0 Idle Time 25.0 :

1 296 294
54 2 289 284 295

180 232

207 200 191 30 177 166 163 155 151 26
212 34 257 264 156 4 134 83 221 90 223 247 22

86 140 146 159 268 5 86 27 157 56

279 137 40 111 61 189
240 241 237 44 195 239

233 231 121 29 242 229 33

41 228 38 183 37

244 255 238 160 193 39 94
246 245 149 198 253 101 262

128 105 269 97

130 129 124 144 110 120 77
167 162 164 125 122 143 93 150 126 187 145

152 250 192 78 79 154 36 153 115 28

153



18> Time 1877.0 Idle Time 6.0 :
19> Time 1831.0 Idle Time 52.0 :
20> Time 1871.0 Idle Time 12.0 :
21> Time 1878.0 Idle Time 5.0 :
22> Time 1880.0 Idle Time 3.0 :
23> Time 1883.0 Idle Time 0.0 :
24> Time 1861.0 Idle Time 22.0 :
25> Time 1880.0 Idle Time 3.0 :
26> Time 1882.0 Idle Time 1.0 :
27> Time 1851.0 Idle Time 32.0 :
28> Time 1882.0 Idle Time 1.0 :
29> Time 1812.0 Idle Time 71.0 :
30> Time 1837.0 Idle Time 46.0 :
31> Time 1868.0 Idle Time 15.0 :
32> Time 1832.0 Idle Time 51.0 :
33> Time 1847.0 Idle Time 36.0 :
34> Time 1881.0 Idle Time 2.0 :
35> Time 1871.0 Idle Time 12.0 :
36> Time 1880.0 Idle Time 3.0 :
37> Time 1841.0 Idle Time 42.0 :
38> Time 770.0 Idle Time 1113.0

Idle Time All : 1899.0 E=97.35 %

154

243 256 214 205 72 64 32 48 173 31 80

254 213 215 201 52 168

172 57

45 211 123 117 47 69 74 66 62
293 209 206 112
290 292 283 282 277 147

248 99 100 55 88

59 203 43 25 190

234 89 104 103 87 81 49 236

138 224 85 3 133 176 175 109 71 95

171 227 226 225 53 127 60
216

46 42 222 217 165 6 259 278
220 219 218 7 9 12 10

8 20 11

141 252 184 68 73 280

96 16 275 82 119 142 261 287

91 136 272 274 114 194
263 260 270 161 265 98
210 21 267 208 132 235
251 13 23 273 70 58 84
17 19 182 276
92 106 118 76 186 116
148 188 113 107 258 65
: 185 108

6.14 Problem Scholl 297 (Cycle Time = 1935)

Result

1> Time 1855.0 Idle Time 98.0 :
2> Time 1855.0 Idle Time 98.0 :
3> Time 1884.0 Idle Time 69.0 :
4> Time 1887.0 Idle Time 66.0 :
5> Time 1877.0 Idle Time 76.0 :
6> Time 1932.0 Idle Time 21.0 :
7> Time 1936.0 Idle Time 17.0 :
8> Time 1927.0 Idle Time 26.0 :
9> Time 1915.0 Idle Time 38.0 :
10> Time 1940.0 Idle Time 13.0 :
11> Time 1919.0 Idle Time 34.0 :
12> Time 1934.0 Idle Time 19.0 :
13> Time 1952.0 Idle Time 1.0 :
14> Time 1949.0 Idle Time 4.0 :
15> Time 1947.0 Idle Time 6.0 :
16> Time 1950.0 Idle Time 3.0 :

1 296 297
293 30 292 290 283
108 295 291 34
103 99 35 281

89 119 81

104 115

158 139

131 199 15
51 75 35
24 135

18 67 281 285

102 14 63 291

100 282 120 87
150 277 294 42 276

278 285 127 88 181 26 130 177

4 176 5 125 144 124 131 238 221

196

6 10 12 7 17 132 117 135 223

202 200 191 201 133 234

8 173 182 178

168 256 250 214 179 189 126 225 123
149 160 212 253 180 154 40 192 260 147
207 252 267 44 157 20 199 286 138 145
279 49 239 287 263 155 114 56 247 195 188
203 236 60 61 229 206 48 78
65 72 69 52 57 4r 79 43 170 204
74 66 71 97 63 101 95 235



17> Time 1945.0 Idle Time 8.0 :
18> Time 1937.0 Idle Time 16.0 :
19> Time 1952.0 Idle Time 1.0 :
20> Time 1915.0 Idle Time 38.0 :
184 187

21> Time 1952.0 Idle Time 1.0 :
22> Time 1946.0 Idle Time 7.0 :
23> Time 1946.0 Idle Time 7.0 :
24> Time 1946.0 Idle Time 7.0 :
25> Time 1903.0 Idle Time 50.0 :
26> Time 1947.0 Idle Time 6.0 :
27> Time 1935.0 Idle Time 18.0 :
28> Time 1926.0 Idle Time 27.0 :

67 237 73 90 106 64 232 54 22
59 55 230 50 58 240 243
241 242 244 27 288 257

255 262 264 46

171
226

269
224
220 163 159 151
153 110 161 280

143 272 254 41
249 248 164 284

268
166

231
128

197 146 233

167
222
121 141 190
273 158 210
38 227 3
265 205

228 162 94

14 33 77 31 245 274 251

175 213 271 82

62 39 36 172 266

6.14 Problem Scholl 297 (Cycle Time = 1935) (#9)

Result

29> Time 1945.0 Idle Time 8.0 :
30> Time 1884.0 Idle Time 69.0 :
31> Time 1895.0 Idle Time 58.0 :
32> Time 1947.0 Idle Time 6.0 :
33> Time 1919.0 Idle Time 34.0 :
34> Time 1937.0 Idle Time 16.0 :
35> Time 1883.0 Idle Time 70.0 :
36> Time 1914.0 Idle Time 39.0 :
37> Time 422.0 Idle Time 1531.0
Idle Time All : 2606.0 E=96.39 %

139 13 19 51

169 134 259 15

183 112

18 193 136 21 246 194
152 186 113 137 76 53 70 29 142 25 24

37 107 28 185

140 23 129 86

102 93 16 98 122 9 198 109 219
218 116 32 84 83

91 217 216 96

111

270 211 85 92 258 11 215 156

0 209 75

6.15 Problem Scholl 297 (Cycle Time = 2049)

Result
1> Time 1987.0 Idle Time 62.0 :

1 2 54 29 3

2> Time 2040.0 Idle Time 9.0: 27 4 94 86 56 22 221 247 101 259 58 50
3> Time 1964.0 Idle Time 85.0: 83 25 40 24 120 84 48 266 90 109 5

4> Time 2047.0 Idle Time 2.0: 1

50 75 271

106 76 112 95 64 74 115

5> Time 2046.0 Idle Time 3.0: 70 230 67 123 117 72 57 100 114 108 104

6> Time 2045.0 Idle Time 4.0 :

7> Time 2020.0 Idle Time 29.0 :
8> Time 2032.0 Idle Time 17.0 :
9> Time 1987.0 Idle Time 62.0 :
10> Time 2010.0 Idle Time 39.0 :
11> Time 1993.0 Idle Time 56.0 :
12> Time 2029.0 Idle Time 20.0
13> Time 1989.0 Idle Time 60.0 :

144 160 129 122
166 159 141 227
170 163 274 270
174 282 239 47
178 43 240 241

: 288 39 238 243

78 246 244 255

149 130 289 257 127 99 157 103 88

232
253
147

89 148 82

260 87

236 225 52 139

256 263 251 152 142 133
237 171 164 135

53 242 137 167 269 233
262 162

208 105 174 68

2 165 118 289
80 275 261 45 148

155



14> Time 2029.0 Idle Time 20.0 :
15> Time 2042.0 Idle Time 7.0 :
16> Time 2044.0 Idle Time 5.0 :
17> Time 2012.0 Idle Time 37.0 :
18> Time 2019.0 Idle Time 30.0 :
19> Time 2003.0 Idle Time 46.0 :
20> Time 2024.0 Idle Time 25.0 :
21> Time 2021.0 Idle Time 28.0 :
22> Time 2029.0 Idle Time 20.0 :
23> Time 2005.0 Idle Time 44.0 :
24> Time 2017.0 Idle Time 32.0 :
25> Time 1997.0 Idle Time 52.0 :
26> Time 2004.0 Idle Time 45.0 :
27> Time 2014.0 Idle Time 35.0 :
28> Time 2035.0 Idle Time 14.0 :
29> Time 2013.0 Idle Time 36.0 :
30> Time 1986.0 Idle Time 63.0 :
31> Time 2014.0 Idle Time 35.0 :
32> Time 1927.0 Idle Time 122.0
196

33> Time 2032.0 Idle Time 17.0 :
34> Time 2037.0 Idle Time 12.0 :

151

161
212
198
197
154
179
252
193

156

140 124 79 192 285 80 261 279 49

46 138 191 201 254 85 229 110 268

181 31 35 42 93 249 284 92 145 292 267 6 51
185 177 189 188 176 182 186 34 190 98 55
183 165 172 168 8 10 273 30 102 173
175 23 11
7 248 17 200
297 125 245 68 116
295 278 128
61 97 283 28 44 119 45 91 134

65 37 21 59 81 105 126 107 202

207
214
184
155
180
217
258

204
205
223
131
234
218
219

0187 132 12

210
208
294
195
216
281
293
265

13 19 14 60 18 153

77 41 118 113 194 213 199
203 33 206 211 38

15 169 209 277 73

235 71 250 215 20

287 146 276 286

291

220 222 9 26 272 290 231 158

16 36 69 63 224 275 228 280
143 66 111 32 62 156 226

35> Time 1162.0 Idle Time 887.0: 29 121

Idle Time All : 2060.0 E=97.13 %

136 96 264

6.16 Problem Scholl 297 (Cycle Time = 2111)

Result

1> Time 1855.0 Idle Time 256.0 :
2> Time 2071.0 Idle Time 40.0 :
3> Time 2057.0 Idle Time 54.0 :
34

4> Time 2084.0 Idle Time 27.0 :
196 195

5> Time 2080.0 Idle Time 31.0 :
6> Time 2101.0 Idle Time 10.0 :

8> Time 2094.0 Idle Time 17.0 :
9> Time 2101.0 Idle Time 10.0 :
10> Time 2080.0 Idle Time 31.0 :
11> Time 2100.0 Idle Time 11.0 :

1 29 297
54 30
285 235

294
284

233

234
254

247
101
97
73

295
286

238

228
214

231

178

202 200
256 201
7> Time 2107.0 Idle Time 4.0 : 27 263 205 236 232 206 208

279 4 48 105 134 86 111 94 83 90 137
165 109 168 132 135 49 212 136 5

76 96 153 119 114 130 74 131

84 126 125

237 249 181 180 176 58 50 53

197 182 186 177 188 189 179

199 194
140 138 229 203 31

123 69 128 129



157

6.16 Problem Scholl 297 (Cycle Time = 2111) (si9)

Result

12> Time 2077.0 Idle Time 34.0: 108 78 65 118 117 148 79 257 146 124 77 198
13> Time 2087.0 Idle Time 24.0: 175 187 104 80 85 66 141 113 107 193 72

14> Time 2092.0 Idle Time 19.0: 248 100 87 81 82 151 163 145

15> Time 2111.0 Idle Time 0.0 : 110 147 51 245 56 57 246

16> Time 2076.0 Idle Time 35.0: 162 213 251 174 127 190 22 243 156 45 184
17> Time 2096.0 Idle Time 15.0: 167 164 173 207 170 288 287 25 24 41 29

18> Time 2100.0 Idle Time 11.0: 210 92 171 62 121 46 33 37 270

19> Time 2110.0 Idle Time 1.0: 289 95 99 191 144 75 149 42 116

20> Time 2086.0 Idle Time 25.0 : 230 64 252 154 155 70 67 139 142

21> Time 2076.0 Idle Time 35.0: 271 266 227 103 35 38 59 250

22> Time 2103.0 Idle Time 8.0: 143 183 93 292 52 160 102 158 61 211 68 88
23> Time 2081.0 Idle Time 30.0: 89 122 226 221 47 71 239 261 26 209 159 60
24> Time 2097.0 Idle Time 14.0: 224 222 220 223 43 268 269 255 240

25> Time 2109.0 Idle Time 2.0 : 219 218 217 216 28 3 241 253 262 63 120 112
26> Time 2098.0 Idle Time 13.0: 44 40 32 106 242 115 150 274

27> Time 2069.0 Idle Time 42.0: 283 277 36 55 157 161 282 152 6

28> Time 2098.0 Idle Time 13.0: 21 20 15 7 12 9 13

29> Time 2103.0 Idle Time 8.0: 166 16 18 11 14 172

30> Time 2106.0 Idle Time 5.0 : 204 98 23 258 133 2 19 8 17

31> Time 2093.0 Idle Time 18.0: 259 39 265 272 293

32> Time 2083.0 Idle Time 28.0: 278 281 291 275 290 280 244

33> Time 2001.0 Idle Time 110.0: 185 225 276 264 10 169 192 215

34> Time 973.0 Idle Time 1138.0: 91 260 267 273

Idle Time All : 2119.0 E=97.05 %

6.17 Problem Scholl 297 (Cycle Time = 2177)

Result

1> Time 2014.0 Idle Time 163.0: 1 297 294 30 285 289

2> Time 2157.0 Idle Time 20.0: 26 34 31 179 4 3 230 238 234 259 256 22
3> Time 2149.0 Idle Time 28.0 : 24 232 27 83 247 105 29 33 109 94

4> Time 2146.0 Idle Time 31.0: 110 240 214 44 120 241

5> Time 2172.0 Idle Time 5.0 : 237 233 25 263 38 121 40 49 266

6> Time 2138.0 Idle Time 39.0 : 270 119 90 128 84 213 95 41

7> Time 2156.0 Idle Time 21.0 : 130 125 210 215 216 45 114 150 239 227 181 78
231

8> Time 2177.0 Idle Time 0.0 : 123 131 207 188 225 177 180 187 186 108 132
161 72 149 178

9> Time 2169.0 Idle Time 8.0: 204 173 174 217 192 147 228 160 79



10> Time 2171.0 Idle Time 6.0 : 218 219 220 175

196 279 222

11> Time 2152.0 Idle Time 25.0 :
12> Time 2159.0 Idle Time 18.0 :
13> Time 2147.0 Idle Time 30.0 :
197 195 85

14> Time 2123.0 Idle Time 54.0 :
15> Time 2165.0 Idle Time 12.0 :
199 56

16> Time 2140.0 Idle Time 37.0 :
17> Time 2120.0 Idle Time 57.0 :
60

18> Time 2137.0 Idle Time 40.0 :
19> Time 2139.0 Idle Time 38.0 :
20> Time 2167.0 Idle Time 10.0 :
21> Time 2164.0 Idle Time 13.0 :
22> Time 2158.0 Idle Time 19.0 :
23> Time 2156.0 Idle Time 21.0 :
24> Time 2176.0 Idle Time 1.0 :
25> Time 2164.0 Idle Time 13.0 :
26> Time 2149.0 Idle Time 28.0 :
27> Time 2158.0 Idle Time 19.0 :
28> Time 2164.0 Idle Time 13.0 :
29> Time 2148.0 Idle Time 29.0 :
30> Time 2153.0 Idle Time 24.0 :
31> Time 2165.0 Idle Time 12.0 :

257 224 112 58 264 106 101 74 242 253

268 69

65 61 283 261 254 267 255 155 249 291 290

293 260 170 145

117 50 115 205 53 2 223 80

158

269 262 280 190 203 198 127 212 148 146 278

156 275 193 159 226 202 200 287 182 191

194 165 138 46 153 51

143 81

185 158 251

168

167 55 87 59 164 152 135 250 183 92

142 100 88 77 37 111 176

116 71
122 57
245 62
a4t 248
23 144

19 20 141 8 12 17 14 151 6 163

28 32 68 91 140

36 139 39 282 243

136 43 63 246 208

133 52

162 288 277 157 124 221

11 10 7 15 9 18 16 201
13 82 64 274 48 271 236 169

96 137

103 295 97 98

129

102 93 252 99 5 76 272 281 284 104 86 134 42
258 107 265 276 244 286 211
113 209 118 235 229 172 273 184 67

70 296

189 54 126

32> Time 2055.0 Idle Time 122.0: 89 206 292 166 21 154
33> Time 947.0 Idle Time 1230.0: 35 66 73 75

Idle Time All : 2186.0 E=96.96 %

6.18 Problem Scholl 297 (Cycle Time = 2247)

Result

1> Time 2125.0 Idle Time 122.0 :
2> Time 2234.0 Idle Time 13.0 :
3> Time 2192.0 Idle Time 55.0 :
4> Time 2226.0 Idle Time 21.0 :
5> Time 2244.0 Idle Time 3.0: 2
6> Time 2233.0 Idle Time 14.0 :

1 2% 297 2

54 50 294 4 3 247 295

58 26 285 289 111 94 221 22 27
53 293 283 162 110 286 105

90 287 292 291 288 49 167 235 279 239 31
281 108 104 100 174 171 277 170 229

7> Time 2244.0 Idle Time 3.0: 87 89 178 64 24 86 274 109 103 101

8> Time 2224.0 Idle Time 23.0 :
9> Time 2229.0 Idle Time 18.0 :

114 88 238 271 59 29
186 185 189 203 205 233 231 70 73 75 188

195 237 95 97 164



10> Time 2239.0 Idle Time 8.0 :

11> Time 2212.0 Idle Time 35.0 :
12> Time 2215.0 Idle Time 32.0 :
13> Time 2232.0 Idle Time 15.0 :
14> Time 2214.0 Idle Time 33.0 :

15> Time 2245.0 Idle Time 2.0 :
16> Time 2242.0 Idle Time 5.0 :

17> Time 2234.0 Idle Time 13.0 :

18> Time 2245.0 Idle Time 2.0 :
149 263 251 155

19> Time 2213.0 Idle Time 34.0 :
20> Time 2202.0 Idle Time 45.0 :
21> Time 2229.0 Idle Time 18.0 :
22> Time 2232.0 Idle Time 15.0 :

23> Time 2244.0 Idle Time 3.0 :

24> Time 2220.0 Idle Time 27.0 :
25> Time 2217.0 Idle Time 30.0 :
26> Time 2211.0 Idle Time 36.0 :

99 124 184

27> Time 2172.0 Idle Time 75.0 :
28> Time 2165.0 Idle Time 82.0 :

190
29> Time 2224.0 Idle Time 23.0
30> Time 2241.0 Idle Time 6.0 :

31> Time 2098.0 Idle Time 149.0: 38 211 209 193 69

159

206 207 212 228 67 90 74 68 60 56
34 72 214 208 83 63 61 115 169 234 5
266 35 78 79 80 143 85 215 140 125 65 256 6
92 98 216 217 130 123 145 147 250 9 8
129 144 154 131 146 148 126 12 14
42 122 141 118 159 156 23 17 10 11
46 218 128 152 55 187 16
82 219 117 166 133 113 163
257 48 157 220 158 222 112 106 160 40 135 107

127 52 253 179 471 119 224 278 132
139 260 267 43 284 240

276 151 134 249 248 243 241 273
255 245 246 244 242 204

116 51 39 45 261 262 226 15

30 25 138 136 36 32 44 84 172

230 181 180 175 252 191 81 258 265 91 96 223
196 177 232 183 173 227 225 272 176 197 182

168 165
153 120

57 121 76 275 93 268 194 270
200 192 161 71 62 137 280 282 199

: 264 150 142 201 77 66 210 18 236
33 202 213 37 254 259 102 19 13
198 269 21

32> Time 958.0 Idle Time 1289.0: 41 28 20 7
Idle Time All : 2249.0 E=96.87 %

6.19 Problem Scholl 297 (Cycle Time = 2322)

Result

1> Time 2259.0 Idle Time 63.0 :
2> Time 2304.0 Idle Time 18.0 :
3> Time 2320.0 Idle Time 2.0 :
4> Time 2261.0 Idle Time 61.0 :
5> Time 2300.0 Idle Time 22.0 :
6> Time 2319.0 Idle Time 3.0 :
199 262 233

7> Time 2308.0 Idle Time 14.0 :
8> Time 2297.0 Idle Time 25.0 :
9> Time 2306.0 Idle Time 16.0 :

10> Time 2321.0 Idle Time 1.0 :

1 294 2 286 278 3 297 289
285 284 283 247 4 249 48 293 221

27 105 248 287 290

235 134 237 22 246 245 291 174 30
229 195 188 190 178 244 34
186 24 181 196 202 197 183 177 184 200 281 255

238 94 191 240 261 292 268 269 231

236 234 40 109 101 96 214 170

83 84 97 212 95 106 44 280 91

256 74 241 75 49 73 171 86 65 70 67 69 66



160

11> Time 2301.0 Idle Time 21.0: 120 53 250 187 167 93 35 98 58 61 63 62

12> Time 2300.0 Idle Time 22.0: 127 115 130 129 126 124 150 203 259 42 64

13> Time 2299.0 Idle Time 23.0: 128 131 121 207 208 118 141 266

14> Time 2318.0 Idle Time 4.0 : 77 125 132 182 210 213 198 113 206 230 92 173
15> Time 2320.0 Idle Time 2.0: 279 205 193 71 180 211 54 85 79 76 90 168 29
112

16> Time 2314.0 Idle Time 8.0 : 239 175 135 172 242 209 201 50 102 46 263 161

33 37 123
17> Time 2318.0 Idle Time 4.0 : 192 119 270 51 154 146 149 155 145 158 147 81
39

18> Time 2277.0 Idle Time 45.0 : 114 100 87 72 156 160 228 32 36

19> Time 2289.0 Idle Time 33.0: 104 162 80 189 148 253 144 89 226 164 277
20> Time 2318.0 Idle Time 4.0 : 232 273 267 260 159 82 139 68 224 152 222
21> Time 2301.0 Idle Time 21.0: 185 108 31 26 227 25 60 142 220 169 28
22> Time 2310.0 Idle Time 12.0: 204 225 103 7 20 19 18 23 78 143 153

23> Time 23150 Idle Time 7.0: 6 12 10 14 11 17 21 8 176 15

24> Time 2316.0 Idle Time 6.0: 166 136 52 110 59 88 165 251

25> Time 2289.0 Idle Time 33.0: 271 276 163 99 111 107 38 117 219

26> Time 2320.0 Idle Time 2.0 : 264 257 218 275 116 41 157 45

27> Time 2291.0 Idle Time 31.0 : 217 272 265 258 57 252 133

28> Time 2292.0 Idle Time 30.0 : 215 216 194 223 56 151 179 5 13 137 282
29> Time 2296.0 Idle Time 26.0 : 254 274 295 140 288

30> Time 2286.0 Idle Time 36.0: 243 296 138 122 9 43

31> Time 590.0 Idle Time 1732.0: 16 47 55

Idle Time All : 2327.0 E=96.77 %

6.20 Problem Scholl 297 (Cycle Time = 2402)

Result

1> Time 2394.0 Idle Tme 8.0: 1 297 2 3 295 181 196

2> Time 2361.0 Idle Time 41.0: 4 195 188 189 187 186 175 180 252 178 183 177
197 182

3> Time 2383.0 Idle Time 19.0: 83 109 101 203 190 205 172 94 174 287 40 258
176

4> Time 2381.0 Idle Time 21.0: 259 90 31 91 207 212 171 84 198 153 22 165
168 97

5> Time 2350.0 Idle Time 52.0: 204 250 256 214 213 266 215 185 106 143

6> Time 2397.0 Idle Time 5.0 : 138 293 140 75 200 24 251

7> Time 2367.0 Idle Time 35.0: 283 46 282 291 290 281 276 280 292 29 37

8> Time 2354.0 Idle Time 48.0: 42 191 273 277 108 119 121 33 38 275

9> Time 2346.0 Idle Time 56.0: 35 267 104 103 44 41 128

10> Time 2366.0 Idle Time 36.0: 294 5 95 230 130 100 110 170 271 216 88 51
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11> Time 2381.0 Idle Time 21.0: 289 278 284 286 249 135 133 162 264 123 147
55 81 144

12> Time 2362.0 Idle Time 40.0: 279 232 227 132 131 117 257 125 158 154 59
13> Time 2389.0 Idle Time 13.0: 239 240 85 80 169 268 64 72 78

14> Time 2401.0 Idle Time 1.0 : 237 238 243 241 92 242 233 211 254 73 255 269
231 261

15> Time 2368.0 Idle Time 34.0: 98 102 107 79 112 285 217 209 126 6 10 272
16> Time 2396.0 Idle Time 6.0 : 93 137 9 221 296 45 113

17> Time 2400.0 Idle Time 2.0: 26 247 115 25 15 14 20 229 50 263

18> Time 2372.0 Idle Time 30.0 : 260 288 245 167 21 19 8 235 270 99 120

19> Time 2396.0 Idle Time 6.0 : 74 218 146 262 208 129 236 184 48 164 149
20> Time 2374.0 Idle Time 28.0: 34 52 69 219 122 194 253 152 70 202 148 160
21> Time 2385.0 Idle Time 17.0: 71 57 62 47 67 220 222 139 136 199 66 201
192

22> Time 2400.0 Idle Time 2.0: 248 63 224 127 226

23> Time 2388.0 Idle Time 14.0: 86 77 114 105 193 87 159 206 89 39 157

24> Time 2368.0 Idle Time 34.0: 244 23 145 28 36 274 141

25> Time 2374.0 Idle Tme 28.0: 76 68 7 17 16 18 134 56 265 151 156 124
26> Time 2386.0 Idle Time 16.0: 30 61 60 223 246 111 210

27> Time 2363.0 Idle Time 39.0: 118 53 49 27 150 225 163 166

28> Time 2321.0 Idle Time 81.0: 179 82 96 65 173 12 13 58 155 43

29> Time 2297.0 Idle Time 105.0: 11 54 234 161 116 142 32

30> Time 835.0 Idle Time 1567.0 : 228

Idle Time All : 2405.0 E=96.66 %

6.21 Problem Scholl 297 (Cycle Time = 2488)

Result

1> Time 2480.0 Idle Time 8.0: 1 297 293 290 292 280

2> Time 2421.0 Idle Time 67.0 : 283 277 282 108 291 287 275 30 34

3> Time 2483.0 Idle Time 5.0 : 114 281 115 174 26 171 169 170 178 181 100 35
4 221 143 104

4> Time 2485.0 Idle Time 3.0: 197 187 188 179 88 177 183 176 22 42 56 61 140
200 182 48 52

5> Time 2460.0 Idle Time 28.0: 186 190 82 25 24 133 184 65 180 252 47

6> Time 2467.0 Idle Time 21.0: 166 156 195 29 33 44 69 175

7> Time 2440.0 Idle Time 48.0: 160 155 146 158 229 203 163 49 37 131 132

8> Time 2452.0 Idle Time 36.0: 130 128 149 236 206 151 232 28 94

9> Time 2457.0 Idle Time 31.0: 125 144 230 78 129 80 227 72 225 101 289

10> Time 2485.0 Idle Time 3.0: 271 266 154 79 85 92 192 95 96 106 91 191
11> Time 2464.0 Idle Time 24.0 : 264 124 257 201 202 185 46 90 23 84

12> Time 2488.0 Idle Time 0.0 : 268 117 261 121 51 15 21 20 87 77



13> Time 2486.0 Idle Time 2.0 :
14> Time 2477.0 Idle Time 11.0 :
15> Time 2478.0 Idle Time 10.0 :
16> Time 2488.0 Idle Time 0.0 :
17> Time 2488.0 Idle Time 0.0 :
18> Time 2439.0 Idle Time 49.0 :
19> Time 2443.0 Idle Time 45.0 :
20> Time 2480.0 Idle Time 8.0 :
272 253

21> Time 2482.0 Idle Time 6.0 :
212

22> Time 2459.0 Idle Time 29.0 :
23> Time 2412.0 Idle Time 76.0 :
24> Time 2456.0 Idle Time 32.0 :
25> Time 2473.0 Idle Time 15.0 :
218 223

26> Time 2447.0 Idle Time 41.0 :
27> Time 2468.0 Idle Time 20.0 :
172

28> Time 2270.0 Idle Time 218.0
29> Time 827.0 Idle Time 1661.0

162

255 147 64 27 83 81 7 13 14 12 76 112
262 244 242 58 54 193 122 75 235
246 243 241 237 50 196 116 70 245 204
240 233 250 207 239 173 231 139 67 63
256 136 66 11 10 19 168 248
263 126 161 208 109 62 8 17 32 249 210 18
150 270 118 189 5 142 198 59 214 73 213 55
238 113 107 194 89 138 152 123 16 215 211 99
102 164 260 157 165 148 199 265 71 209 285 45
127 105 111 273 267 36 41
274 110 6 9 296
276 278 86 145 228 295
103 2 134 93 234 141 259 226 224 222 220 219

269 120 98 217 119 294 153 167 288
3 286 159 74 137 247 216 97 43 251 53 162

: 205 31 279 258 39 68 284 60 40 135 57
: 38 254

Idle Time All : 2497.0 E=96.54 %

6.22 Problem Scholl 297 (Cycle Time = 2580)

Result
1> Time 2255.0 Idle Time 325.0 :

1 2 297 3 296

2> Time 2579.0 Idle Time 1.0: 30 4 86 247 27 54 278 22 83 93 98 26 221 58

3> Time 2542.0 Idle Time 38.0 :
4> Time 2532.0 Idle Time 48.0 :
5> Time 2535.0 Idle Time 45.0 :
6> Time 2560.0 Idle Time 20.0 :
7> Time 2549.0 Idle Time 31.0 :
94

8> Time 2554.0 Idle Time 26.0 :
9> Time 2523.0 Idle Time 57.0 :
10> Time 2543.0 Idle Time 37.0 :
11> Time 2556.0 Idle Time 24.0 :
198 206 136

12> Time 2576.0 Idle Time 4.0 :
193 146 188 149 131

34 56 283
44 29 100

109 50 49 274 25 59 53
37 55 282 39 270 95 85
271 46 51 33 277 81 87 99 89 104 36 43 263

266 42 82 38 32 47 103 138 61 72 251 250 256
121 140 200 191 52 65 24 45 28 230 66 204 69

90 64 92
79 80

76 74 71 57 62 23 17 16 11 207 212

84 75 97 67 73 68 7 8 10 13 63

77 70 91 137 14 227 9 210 134

96 143 135 133 132 187 195 203 225 186 208

153 169 174 178 123 124 130 126 170 185 190
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13> Time 2536.0 Idle Time 44.0: 117 165 147 118 129 141 151 113 145 122 144
158 257
14> Time 2575.0 Idle Time 5.0 : 41 108 112 107 181 182 163 160 155 148 6 202
12 21 78
15> Time 2546.0 Idle Time 34.0: 106 114 196 177 184 197 180 159 253 179 201
192 252

16> Time 2563.0 Idle Time 17.0 :
17> Time 2523.0 Idle Time 57.0 :
18> Time 2573.0 Idle Time 7.0 :
15 176

19> Time 2570.0 Idle Time 10.0 :
20> Time 2558.0 Idle Time 22.0 :
21> Time 2523.0 Idle Time 57.0 :
22> Time 2547.0 Idle Time 33.0 :
23> Time 2496.0 Idle Time 84.0 :
24> Time 2572.0 Idle Time 8.0 :
233 231

25> Time 2542.0 Idle Time 38.0: 249 254 243 268 246 241
26> Time 2532.0 Idle Time 48.0: 294 284 248 245 264 220
27> Time 2573.0 Idle Time 7.0 : 166 125 19 205 289 240
28> Time 1122.0 Idle Time 1458.0: 183 119 276 286 48 219
Idle Time All : 2585.0 E=96.42 %

6.23 Problem Scholl 297 (Cycle Time = 2680)

Result

60 260 139 267 293 258
35 88 142 152 273 291 111 292 290
5 259 101 194 162 164 120 281 280 275 272 167

232 223 150 161 214 116 154 213 168

40 236 199 18 215 216 234 211 189

128 238 217 218 209 175 265

285 229 1271 287 288 172

102 157 20 295 235 239 269 173 31
171 156 110 279 261 244 255 262 115 242 237

105 228 226 224 222

1> Time 2634.0 Idle Time 46.0 :
2> Time 2652.0 Idle Time 28.0 :
3> Time 2658.0 Idle Time 22.0 :

4> Time 2679.0 Idle Time 1.0 :
231

5> Time 2647.0 Idle Time 33.0
88 99 40 94 87 257

6> Time 2652.0 Idle Time 28.0 :
7> Time 2649.0 Idle Time 31.0 :
8> Time 2628.0 Idle Time 52.0 :
9> Time 2628.0 Idle Time 52.0 :

93 61

10> Time 2618.0 Idle Time 62.0 :
11> Time 2656.0 Idle Time 24.0: 9 111
12> Time 2640.0 Idle Time 40.0: 295 141

13> Time 2676.0 Idle Time 4.0

14> Time 2629.0 Idle Time 51.0 :

1 294 296 285 297

284 286 279 293 288 290 249 289 292 237 235
283 239 108 240 241 233 229 287

277 230 291 271 227 104 100 242 2 264 280 114

4 56 3 109 120 150 161 5 83 90 266 225 119

247 22 26 105 221 27 24 154 6 95 44 86
8 10 13 18 144 11 29 243 14 25 49
248 130 16 127 53
20 123 148 145 155 129 146 37 82 101 157 174
110 159 156 98 102 171 65 39 69 36 28 97 149
166 96 167 75

116 163 43 275 70
1122 254 261 246 23 121 74
12 269 255 21 47 66 89 236 7 139



164

15> Time 2638.0 Idle Time 42.0: 259 260 178 19 117 62 57 76 272 58 253 52
16> Time 2678.0 Idle Time 2.0 : 278 273 267 64 164 223 262 71 63 59 158 48
142 54 124

17> Time 2671.0 Idle Time 9.0: 125 17 276 81 50 73 134 103 282 15 84 152 160
18> Time 2679.0 Idle Time 1.0: 78 79 80 85 192 162 68 228 115 181 32 30 182
19> Time 2629.0 Idle Time 51.0: 179 175 180 202 153 165 196 176 252 201 183
177 184

20> Time 2658.0 Idle Time 22.0 : 172 251 143 204 197 200 250 191 207 258 210
199 213 205 168 193 173 194

21> Time 2647.0 Idle Time 33.0: 281 256 208 211 214 138 232 209 147 265 106
188 186

22> Time 2613.0 Idle Time 67.0: 151 72 46 42 215 234 203 206 238 189 190 187
23> Time 2674.0 Idle Time 6.0 : 268 169 34 216 217 218 212 219 244

24> Time 2637.0 Idle Time 43.0: 128 263 51 55 140 91 35 220 245

25> Time 2669.0 Idle Time 11.0: 126 92 274 31 170 270 33 137 135 112 67 198
131 222 224 226 195

26> Time 2647.0 Idle Time 33.0: 133 38 41 132 118 113 107 136 77 60

27> Time 769.0 Idle Time 1911.0: 185 45

Idle Time All : 2705.0 E=96.26 %

6.24 Problem Scholl 297 (Cycle Time = 2787)

Result

1> Time 2782.0 Idle Time 5.0: 1 2 296 297 294 3

2> Time 2765.0 Idle Time 22.0: 289 285 30 286 295 4 105 86 34 54

3> Time 2777.0 Idle Time 10.0: 230 26 279 235 237 181 184 188 233 194 48 5
27 110 239 195 31

4> Time 2769.0 Idle Time 18.0: 232 180 182 186 190 189 197 199 205 150 56
109 183 94 50 120 221

5> Time 2774.0 Idle Time 13.0: 252 202 200 204 207 161 210 60 58 101 95 22
90 119 178

6> Time 2777.0 Idle Time 10.0: 191 177 74 97 75 84 77 76 106 258

7> Time 2729.0 Idle Time 58.0: 138 140 250 64 59 53 173 71 70 25 24 46 115
137 175

8> Time 2780.0 Idle Time 7.0: 271 125 166 78 256 79 72 80 55 100 104 67 108
227

9> Time 2754.0 Idle Time 33.0: 264 257 117 274 277 130 159 270 85 148 103
155 156

10> Time 2764.0 Idle Time 23.0: 123 126 124 146 269 129 283 149 118 141 261
147 89 87 122 292 255

11> Time 2767.0 Idle Time 20.0: 266 128 282 151 99 29 116 170



12> Time 2783.0 Idle Time 4.0: 145 160 213
265

13> Time 2780.0 Idle Time 7.0 :
14> Time 2776.0 Idle Time 11.0 :
15> Time 2753.0 Idle Time 34.0 :
16> Time 2779.0 Idle Time 8.0 :
17> Time 2767.0 Idle Time 20.0 :
18> Time 2742.0 Idle Time 45.0 :
19> Time 2765.0 Idle Time 22.0 :
20> Time 2781.0 Idle Time 6.0 :
21> Time 2757.0 Idle Time 30.0 :
22> Time 2780.0 Idle Time 7.0 :
23> Time 2787.0 Idle Time 0.0 :
24> Time 2737.0 Idle Time 50.0 :
224 280 43 251 73 83
25> Time 2749.0 Idle Time 38.0: 222 229 47
26> Time 481.0 Idle Time 2306.0 :
Idle Time All : 2807.0 E=96.13 %

214 211 82
240 68 98

92 216 268
61 113 69
65 66 260
143 62 37

153 165 273
276 281 57

291 293 287

193 198 288
254 10 16

165

134 51 96 91 133 33 127 196 163

136 234 93 247 244 272
102 246 162 131 172

243 215 241 208 242 248 249 167 132 164 171

187 114 45 157 44 6 192 231 81 144
217 253 38 41 9 201 218
14 20 11 15 19 12 23 18 112
154 236 267 40 121 176 28 152
185 49 17 63 32 36 142
21 284 209 T 35 223 39
206 263 135 203
238 158 111 228 219 275

220 226 42 52 212 174 169 225 290

278 259 88 107 8 13 139 245

179 262 168
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